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От составителей
В пособии даны краткие сведения по основным разделам английской грамматики в рамках программы кандидатского минимума. Акцент делается на способы адекватного перевода тех грамматических конструкций, которые специфичны для языка и стиля научных  и технических текстов и являются причиной ошибок при переводе с английского языка на русский. 

Пособие включает следующие темы: система видо-временных форм глагола в действительном залоге, страдательный залог, неличные формы глагола (причастие, герундий, инфинитив), условные предложения, сослагательное наклонение, модальные глаголы и эмфатические конструкции.
 Каждая тема снабжена упражнениями для перевода, которые делятся на две части. Первая часть основана на общенаучной лексике,  вторая – на специальной, причем первый блок второй части предназначен для физических специальностей, второй – для химических и биохимических специальностей, а третий – для математических. 
Материал для упражнений частично взят из учебников Михельсон Т.Н., Успенская Н.В. Практический курс грамматики английского  языка. − СПб.: «Специальная литература», 1995; Н.И. Шахова. Learn to read Science. Курс английского языка для аспирантов − М.: «Наука», 1980;  Мальчевская Т.Н. Сборник упражнений по переводу гуманитарных текстов с английского на русский. Практическое пособие. − Л.: Наука, 1970., а также из аутентичной английской и американской специальной литературы.
            В приложении даны общепринятые сокращения, множественное число слов латинского и греческого происхождения, приводится список слов, перевод которых может вызывать затруднения, а также формы неправильных глаголов.
Адресовано аспирантам для подготовки к сдаче кандидатского минимума. 
СИСТЕМА ВИДО-ВРЕМЕННЫХ ФОРМ ГЛАГОЛА 

В ДЕЙСТВИТЕЛЬНОМ ЗАЛОГЕ

	
	Indefinite

(Simple)
V
	Continuous

Be + Ving
	Perfect

Have + 3V
	Perfect Continuous

Have + Been + Ving

	Present
	I write
	I am writing
	I have written
	I have been writing

	Past
	I wrote
	I was writing
	I had written
	I had been writing

	Future


	I shall/will 
write
	I shall/will
 be writing
	I shall/will 
have written
	I shall/will
 have been writing

	Future

in the Past
	I should/would
 write
	I should/would be writing
	I should/would have written
	I should/would
 have been writing


Значение группы Simple

Времена группы Indefinite (Simple) употребляются для констатации факта в настоящем, прошлом или будущем или выражают то или иное повторяющееся действие.

Указатели времени 

	every day 
	yesterday
	tomorrow

	usually
	last week/month/year
	next week/month/year

	often
	in 1990
	in 20 years

	always
	ago
	

	never
	
	

	sometimes
	
	



The plant produces cars.


Этот завод производит машины.


My daughter usually gets up early.


Моя дочь обычно встает рано.


I studied English yesterday.


Вчера я занимался английским.


I will perhaps go to the theater tomorrow.

Я, возможно, пойду в театр вечером.


She said she would go to Italy.


Она сказала, что поедет в Италию.

Значение группы Continuous


Времена группы Continuous употребляются для выражения действия, которое происходит в определенный ограниченный момент в настоящем, прошлом или будущем.


Указателями времени могут быть предлоги at, from...to, придаточные предложения, косвенно указывающие на время; слово now.


I am waiting for you (now).


Я жду тебя (сейчас).


I was waiting for you from two to three yesterday.


Я ждал тебя с двух до трех вчера.


When he came I was writing my paper.


Когда он пришел, я писала статью.


I will be waiting for you at 12 o’clock tomorrow.

Я буду ждать тебя завтра в 12 часов.


She said she would be waiting for me at 12 o’clock.


Она сказала, что будет ждать меня в 12 часов.

           Кроме того, Present Continuous может выражать запланированное действие в недалеком будущем.

My parents are coming tomorrow.
Мои родители приезжают (приедут) завтра.
Значение группы Perfect


Времена группы Perfect выражают действие, которое завершилось к определенному моменту в настоящем, прошлом или будущем.


Указателями времени могут служить слова already, just, ever, never, yet, recently, lately, today, this week, this month, this year, предлоги by,  before и т.д.

I have already written my paper.


Я уже написал статью.


I have not seen him recently.


Я не видел его в последнее время.


Have you ever been to the Crimea?


Вы когда-нибудь были в Крыму?

           She had written a letter before I came.


Она написала письмо до того, как я пришел.


He will have written his paper by 2 o’clock tomorrow.


Он напишет статью завтра к двум часам.

Значение группы Perfect Continuous

Времена группы Perfect Continuous выражают действие, начавшееся до определенного момента в настоящем, прошлом или будущем и продолжающееся в этот момент.


Указатели времени ─ предлоги for, since, придаточные предложения.


I have been translating the paper since 10 o’clock.


Я перевожу эту статью с 10 часов.


I had been translating the paper for an hour when you came.


Я переводил статью уже час, когда вы пришли.


I will have been translating the paper for two hours by the time you come.

Я буду переводить статью уже два часа, когда вы придете.

Упражнения

Упр. 1. Переведите на английский язык.
1. Он едет на работу на своей машине.

2. Он ездит на работу на своей машине.

3. Дождь больше не идет.

4. Дождь все еще идет.

5. Он говорит на трех языках.

6. Послушай, на каком языке он говорит?

7. Вода кипит при 100 градусах.

8. Чайник кипит!

9. Не шуми. Я пытаюсь сосредоточиться.

10. Автобус придет через 5 минут (в соответствии с расписанием).

11. Эта квартира принадлежит ему.

12. Моя дочь учится в университете.

13. Мы уезжаем завтра.

14. Он приезжает в воскресенье.

15. Она вечно теряет ключи.

16. Она вечно болтает по телефону.

17. Мы познакомились в прошлом году.

18. Я смотрел этот фильм очень давно.

19. Я пришел домой, открыл дверь, включил свет.

20. Тебе понравилась вчерашняя выставка? 

21. Тебе нравится выставка?

22. Шекспир написал 37 пьес.

23. Мой руководитель написал 2 монографии.

24. Ты когда-нибудь был во Франции?

25. Я был в Лондоне 4 раза.

26. Я никогда не был в Париже.

27. Мы знаем друг друга с 2000 года.

28. Я видел его на этой неделе.

29. Я видел его на прошлой неделе.

30. Он всю жизнь прожил в Новосибирске (и сейчас живет).

31. Я забыл, как его зовут (это важно).

32. Почему ты не позвонил мне во вторник?

33. Мы дружим всю жизнь.

34. Я учусь водить машину уже в течение месяца.

35. Как давно ты изучаешь английский?

36. Я работаю здесь 5 лет.

37. В это время в прошлом году я жил в Бразилии.

38. – Что ты делал вчера в 10 часов? Я тебя искал.
– Я работал. И завтра в 10 тоже буду работать.

39. Он сказал, что пишет новый роман.

40. – Почему у тебя ботинки такие грязные? – Я играл в футбол.

41. Когда я зашел в кухню, там стоял необыкновенный аромат. Мама варила варенье.

42. Они закончили эксперимент вчера к 5 часам.

43. Они сдадут экзамен к 1 июня.

44. Когда я пришел, она спала.

45. Когда я пришел домой, я был ужасно уставшим. Я работал весь день.

46. Она сказала, что живет в Москве.

47. Она сказала, что раньше жила в Москве.

48. Она сказала, что поедет в Москву.

49. У тебя проблемы? Я помогу тебе.

50. Что ты делаешь завтра вечером? 

51. Я иду в театр.

52. Думаю, я посижу дома.

53. Ты слышал новость? Наш президент посетил ОАЭ. Он обсудил многие проблемы и осмотрел достопримечательности.

54. Наконец-то он нашел ключи, которые искал с утра.

55. Он строит новый дом.

56. Когда я в последний раз был в Москве, они все еще ремонтировали Собор Василия Блаженного.

57. Когда я в последний раз был в Москве, они уже отремонтировали Собор Василия Блаженного.

58. Хотя она пыталась закрыть свое лицо, я видел, что Клара плакала (в тот момент).

59. Хотя она пыталась закрыть свое лицо, я видел, что Клара только что плакала.

60. Во время полета я читал твою статью (но не закончил).

61. Во время полета я прочитал твою статью.

62. Пока я готовила обед, моя дочь писала статью.

63. Я вспомнил, что встречался с ним раньше.

64. Дождь кончился, и засветило солнышко.

65. Они ехали всю ночь, пока не увидели огни города.

66. Я пытался найти его много лет, но безрезультатно.

67. Он не болел в этом году.

68. Ребенок не болел в прошлом году.

69. Наука совершила много открытий в этом столетии.

70. Ученые сделали несколько фундаментальных открытий в прошлом веке.

71. Он создал 10 фильмов и последний − самый лучший.

72. Он создал 10 фильмов до того, как трагически погиб в автомобильной катастрофе.

73. Я познакомился с ним, когда мы оба работали в Риме.

74. Космический корабль возвратился на Землю. Он приземлился сегодня утром.

75. Я вымыл руки и готов помочь тебе готовить ужин.

76. Я нашел письмо, которое ты искал. Вот оно.

77. Ты видел новую выставку? (она еще идет)

78. Ты видел новую выставку? (она уже закрылась)

Упр. 2. Переведите  на русский язык, обращая внимание на вид и время глагола.

1. This science is very young, but it is making rapid progress and involves more and more people from adjacent fields.

2. This is the evidence the experiments have provided.
3. We knew that the author had not succeeded in bearing out the assumption.

4. Science stimulates the development of technology.

5. They were discussing advantages and disadvantages of the new technique at the seminar.  

6. In recent years historical studies have been very intensive.

7. He asked me if I could state quite definitely whether or not our results supported the earlier conclusion.

8. The above problems obviously call for further studies. 

9. I’ll be preparing for my examinations. I’ve got too little time. 

10. The new method will come into use when suitable appliances and devices are provided. 

11. Yesterday I began a new series of experiments. 

12. Everyone expected that the professor would make a brilliant speech.

13. The speaker emphasized that most of the workers in the above field had expressed views concerning the hypothesis. 

14. She will probably be attending a lecture on recent developments in the world. She has never missed a chance to go to such lectures.

15. The above considerations lead us to conclusion that the changes are largely due to the influence of weather.

16. At the time this new science was beginning to take shape, there was no general theory to support experimental work.

17. It was quite clear that the author had given a comprehensive account of the processes. 

18. I said I had no idea if he knew what decision the Committee was going to take.

19.  I hadn't done even half of my measurements by the time they came.

20.  I’ll be working at my thesis next month. 

21. We are sure we shall get all the things ready for the experiment before the seminar is over. 

22. Moreover, in the last years these aspects have been improved by the adaptation of a new technology: the teleoperation.
23. The Internet is a tool of communication, a place for people as well as for extensive information.
Упр. 3. Переведите на русский язык, обращая внимание на вид и время глагола.

1. As a matter of fact the atoms have an irregular to-and-fro motion similar to that of the electron.

2. The outcome is even harder to predict because the planets will influence the sun's evolution during this epoch. 

3. The annual mean temperature of the Northern Hemisphere apparently reached a peak in 1940 and has been dropping rapidly ever since.

4. That the plates are moving is now beyond dispute. Africa and South America are receding from each other.

5. Later observations of Uranus have revealed so far the presence of nine rings in its atmosphere. 

6. Human nature, in which the laws of politics have their roots, has not changed since the classical philosophies of China, India, and Greece endeavored to discover these laws.
7. In his magisterial “Cambridge Encyclopedia of the English Language”, David Crystal argues that broadcasting has already created some novel language forms.

8. Since that time on Adam and Eve’s descendants and the subsequent generations have been living in constant pains and hard labour.

9. For the first time, astronomers have discovered a planet outside our solar system that is potentially habitable with Earth-like temperatures.

10. Leonid Keldysh predicted the effect in 1964, and experiments have already proved that such unusual ionization can occur.

11. Before the Exhibition closes 80 to 90.000 people will have attended it.

12. Until the reaction is over no definite evidence can be obtained.

13. Usually, we can’t see the effect because of the brightness of the sun, but in this photo, the darker cloud is helpfully blocking the glare (блик) and revealing the spectrum of the light behind.
14. Typically electron microscopes use beams of hot electrons.
15. New conceptual problems have emerged from the mass of experimental data.
16. After a careful study we came to the conclusion that the formula appeared much more complicated than the one we had been using before.
17. The team will have tested the new device before the head of the laboratory comes.
18. The prefix “sub” means always “under” or “beneath”: subway, subterranean, submarine.
19. Advocates of the alternative model are searching for support in computer simulations.
20. In 1969, Brian May, lead guitarist of the legendary rock band Queen, gave up a career in astrophysics. Now, almost four decades later, the two strands of his life, music and astronomy, are coming back together. He is currently finishing the PhD he started at Imperial College London.
Упр. 4. Переведите на английский язык.

1. Он работает в банке.

2. Солнце заходит на западе.

3. Самолёт из Парижа прибывает в 8:30.

4. Она сейчас купает ребёнка.

5. Он ищет новую работу.

6. Ты постоянно перебиваешь меня, когда я разговариваю.

7. На следующей неделе мы переезжаем на новую квартиру.

8. У нас  уже 2 года есть собака.

9. Я только что сварила кофе.

10. Я написал 5 писем сегодня. Я написал 5 писем сегодня утром.

11. Полиция наконец-то арестовала вора. Они схватили его, когда он пытался покинуть город.

12. Моя дочь болтает по телефону уже 2 часа.

13. У неё болят ноги. Она ходила всё утро.

14. Я живу здесь уже 30 лет.

15. Я читаю эту статью со вчера, а прочитал всего несколько страниц.

16. Он заплатил водителю, вышел из такси и медленно пошёл к дому.

17. Она разговаривала по мобильному, когда ехала на работу.

18. Они подыскивали квартиру в течение полугода, пока нашли то, что хотели.

19. Она преподаёт математику в течение 20 лет.

20. Она преподавала математику. Сейчас она на пенсии.

21. Посмотри! Алис покрасила волосы.

22. Мы ездим в отпуск 2 раза в год.

23. Я никогда не ел устриц.

24. Я вёл машину всю ночь, поэтому чувствовал себя усталым.

25. Где ты был? Я ищу тебя уже целый час.

СТРАДАТЕЛЬНЫЙ ЗАЛОГ
Страдательный залог показывает, что действие сказуемого направлено на подлежащее.

Формы страдательного залога
	
	Indefinite

(Simple)

Be + 3V
	Continuous 
Be + Being+ 3V
	Perfect
Have + Been + 3V

	Perfect Continuous

	Present
	I am invited
	I am being invited
	I have been invited
	-

	Past
	I was invited
	I was being invited


	I had been invited
	-

	Future
	I shall/will
 be invited
	-
	I shall/will
 have been invited
	-

	Future

in the Past
	I should/would 
be invited
	-
	I should/would
 have been invited
	-


Глагол в страдательном залоге можно переводить тремя способами.


The conference was held two years ago.


Конференция (была) проведена два года назад.


Конференция проводилась два года назад.


Конференцию проводили два года назад.


Если после глагола-сказуемого стоит предлог, то перевод обычно начинается с предлога.


The changes were insisted on.


На этих изменениях настаивали.


This paper is often referred to.


На эту статью часто ссылаются.


Глагол refer to в предложениях, начинающихся с предлога for, переводится глаголом  “находить”.

For a more detailed explanation the reader is referred to the next chapter.


Более детальное объяснение читатель найдет в следующей главе.

Глагол refer to as переводится глаголом “называться”.

These substances are referred to as acids.


Эти вещества называются кислотами.

Наиболее часто употребляемые глаголы с предлогами

	account for
	− объяснять

	agree on (upon)
	− договориться, условиться

	arrive at
	− приходить к (заключению, решению)

	bring about
	− вызывать

	comment on (upon)
	− комментировать

	deal with
	− рассматривать, заниматься, касаться

	insist on (upon)
	− настаивать на

	listen to
	− слушать

	refer to
	− ссылаться на, упоминать о; отсылать, находить

	rely on
	− полагаться на

	speak about
	− говорить о

	subject to
	− подвергать (действию)

	substitute by
	− заменять первое вторым

	substitute for
	− заменять второе первым

	touch on (upon)
	− затрагивать, касаться



Следует обратить внимание на глаголы substitute by и substitute for, так как их часто путают.


Substance I can be substituted by substance II.


Вещество I можно заменить веществом II.


Summation is substituted for integration.


Интегрирование заменили суммированием.


Если за глаголом в страдательном залоге следует дополнение с предлогом, то при переводе предлог ставится перед английским подлежащим.


The lecture was followed by the experiment.


За лекцией последовал эксперимент.

The rate of a reaction is influenced by many factors.


На скорость реакции влияют многие факторы.

Употребление сочетаний глагола с существительным 
в страдательном залоге
Наиболее употребительные словосочетания

	give (pay) attention to
	− уделять внимание

	make attempt
	− делать попытку

	make (an) effort
	− делать усилие, стараться

	make mention of 
	− упоминать о

	make reference to
	− упоминать, ссылаться на

	make use of
	− использовать

	place emphasis on
	− подчеркивать

	show preference to
	− оказывать предпочтение

	take account of
	− учитывать

	take advantage of
	− учитывать, использовать

   (преимущества чего-либо)


	take care of
	− заботиться, стараться, учитывать

	take steps
	− принимать меры, предпринимать шаги



Такие фразеологические сочетания могут выступать в конструкциях двух типов.

1. Подлежащим является существительное, входящее в данное фразеологическое сочетание.


Use was made of our method.


Использовался наш метод.

2.  Данное фразеологическое сочетание является сказуемым.


Our method was made use of.


Использовался наш метод.

Упражнения

ЧАСТЬ 1

Упр. 1. Переведите на английский язык.
1. Комнату убирают каждый день.

2. Комнату сейчас убирают.

3. Комнату убрали вчера.

4. Когда я пришел, комнату уже убрали.

5. Когда я пришел, комнату убирали.

6. Комнату только что убрали.

7. Комнату уберут завтра к 10 часам.

8. Он сказал, что комнату уберут завтра к 10 часам.

9. Комнату будут убирать регулярно.

10. Он сказал, что комнату будут убирать регулярно.

Упр. 2. Переведите на английский язык, обращая внимание на порядок слов. 

1. В последние годы был сделан большой прогресс в этой области.

2. Был разработан новый метод.

3. Было найдено новое объяснение.

4. Было сделано новое открытие.

5. Была выдвинута новая теория.

6. Была выдвинута новая гипотеза.

7. Были найдены другие галактики.

8. Были раскрыты тайны генетического кода.

9. Была разработана новая методика.

10. Было зарегистрировано новое явление.

Упр. 3. Переведите на английский язык.

1. «Унесённые ветром» снимал Виктор Флеминг. (direct)

2. Кларк Гейбл и Вивьен Ли исполняли главные роли.

3. Автор романа – Маргарет Митчел.

4. Фильм был выпущен в 1939 г. (release)

5. Впервые он был показан в Атланте.

6. Фильм имел большой успех сразу же после выхода. (become a success)

7. В 1940 г. фильм получил 9 Оскаров.

Упр. 4. Переведите на русский язык.
1. This condition is frequently referred to as the Weierstrass M effect.

2. Activity was also influenced by temperature.

3. Much use is made now of influence lines in the theory of structures.

4. Attempts have been made to determine the order needed to make the error less than a prescribed quantity E.

5. Hamilton's discovery was followed by other new algebras, such as the theory of matrices.

6. Substance I can be substituted by Substance II.

7. The conditions that permit this chain of events are briefly referred to in this section.

8. For additional details the interested reader is referred to the previous volume in this series.

9. This device can be safely relied upon.
10. It is well known that the development of mathematical logic and of set theory during the second half of the nineteenth century was followed with great interest by a great many mathematicians of that time.

11. Many compounds are decomposed, when they are heated or acted upon by other forms of energy.

12. The properties of metals are often strongly influenced by even small admixtures of other metals or nonmetals.

13. The electrons were pictured as very small charged bodies.

14. Care must be taken in handling radioactive materials.

15. There is no doubt that in the course of further development of all sciences extensive use will be made of modern computers.

16. Much attention is given to chemical methods of purifying water. 

17. Efforts were made to elucidate the problem.

18. The lecture has been postponed.

19. Care was taken not to overburden the text with too many quotations.

20. Your advice has not been followed.

21. Both men followed each other in silence.

22. This glacial period was followed by a warmer interval, which is known as the First Interglacial Stage.

23. Each poem of this kind is almost always followed by a short maxim.

24. The first question is readily answered.

25. This dialect is spoken only in the mountainous part of the country.

26. The exceptions are not easily accounted for.

27. These lines will be commented upon in this following paragraph.

28. Tell him he is being waited for.

29. The details will be dealt with later.

30. Great changes were brought about by historical factors.

31. This rule is not applied here.

32. Some urgent problems of our work have been touched upon here.
Упр. 5. Переведите на английский язык.

1. На эту статью часто ссылаются.

2. Эта проблема будет рассматриваться на конференции.

3. Это определение называют классическим.

4. Вместо Past Simple поставили Present Perfect.

5. На вопрос ответили.

6. От этой теории отказались (discard).

7. Читатель отсылается к таблице 5.

8. Список соединений читатель найдет в Приложении.

9. За докладом последовала дискуссия.

10. Ему задали много вопросов.

11. Сейчас строится новая линия метро.

12. Эта теория была выдвинута в прошлом веке.

13. Была разработана новая методика.

14. Его статьи регулярно публикуются в этом журнале.

15. Новая линия метро уже построена.

Упр. 6. Переведите на английский язык.
1. Большое внимание уделялось этому явлению.

2. Была сделана ссылка на его книгу.

3. Было сделано несколько попыток объяснить природу этого явления.

4. Подчеркивалась важность этого вопроса.

5. Используется наша теория.

6. Оказывается предпочтение этому методу.

7. Упоминалась его статья.

8. Предпринимаются шаги, чтобы понизить температуру.

9. Особое внимание уделяется сравнению данных.

10. В этом году было сделано интересное исследование.

11. Интересное исследование было сделано в прошлом году.

12. В последнее время было опубликовано несколько статей по этой проблеме.

13. На этой неделе был проведен новый эксперимент.

14. Новые экспериментальные данные представлены здесь.

15. Получены многочисленные данные.

16. Результаты сейчас анализируются.

17. Была выдвинута новая идея.

18. За анализом следует сравнение данных.

19. Более детальную информацию читатель найдет в конце главы.

Упр. 7. Переведите на английский язык, обращая внимание на глаголы, имеющие предложное дополнение.

1. Этому явлению уделялось большое внимание.

2. Упоминалось это событие.

3. Была сделана ссылка на эту книгу.

4. Подчеркивалась важность этого вопроса.

5. Учитывались наши данные.

6. Особое внимание уделялось этим эффектам.

7. Оказывается предпочтение нашему методу.

8. Используется современное оборудование.

9. Принимаются меры, чтобы избежать нежелательных эффектов.

10. Оказывается предпочтение этой простой модели.

Упр. 8. Переведите на английский язык, учитывая  видо-временные формы, которые используются  при написании аннотации.

1. В настоящей статье представлены новые экспериментальные наблюдения.

2. Были получены новые данные.

3. Автором была предложена новая модель механизма.

4. Измерения проводились на традиционной аппаратуре.

5. Все возможные источники ошибок были приняты во внимание.

6. Преимущества и недостатки настоящего подхода рассматриваются.

7. Результаты были проанализированы.

8. За анализом следует сравнение данных.

Упр. 9. Переведите на английский язык.

1. В последние годы были сделаны попытки классифицировать эти элементы. 

2. В последние десятилетия были проанализированы данные на основе квантовой теории. 

3. В последние годы были собраны ценные статистические данные.

4. В ряде лабораторий были получены результаты, которые находятся в согласии с нашей гипотезой.

5. В последние два десятилетия значительные успехи были достигнуты в этой области науки.

6. В последние годы были приложены большие усилия для выяснения природы старения.

7. В этом столетии был сделан ряд фундаментальных открытий, которые помогли понять некоторые важные вопросы строения живой материи.

8. Было сделано немало попыток изучить механизм этих изменений.

9. Подобные исследования проводятся уже в течение ряда лет.

10. Данные, которые я собираюсь здесь представить, еще нигде не опубликованы.

11. До сих пор в этом вопросе была довольно большая путаница, поэтому новые исследования представляют значительный научный интерес.

12. В последнее время в литературе появилась критика такой интерпретации этих результатов.

13. В течение последних нескольких лет появился ряд статей, в которых обсуждались различные способы усовершенствования этой методики.

14. В данной работе сделана попытка применить новую модель и проанализировать результаты ее предварительной проверки.

15. В данном сообщении основное внимание будет уделено теоретическому рассмотрению вопроса. 

ТЕСТ

Выберите нужную форму глагола.
1. The day before yesterday we (invite) to the restaurant by Tom Jenkins.

	a) are invited

	b) were invited

	c) invited


2. Look! The bridge (repair).

	a) is being repaired

	b) is been repaired

	c) has being repaired


3. The letter and the parcel (post) tomorrow.

	a) will be post

	b) will have been posted

	c) will be posted


4. In Greece the Olympic Games (hold) once in four years.

	a) were held

	b) are being held

	c) are held


5. The problem (study) for three years, but they haven’t got any results.

	a) has been studied

	b) has being studied

	c) was studied


6. This book (republish) by the end of September.

	a) would been republished

	b) will have been republished

	c) will been republished


7. The doctor said that Tommy’s leg (X-rayed) the following day.

	a) will be X-rayed

	b) would be X-rayed

	c) will have been X-rayed


8. A police car came when the injured man (carry off) the road.

	a) was being carried off

	b) was been carried off

	c) has been carried off


9. I (bear) in a small Russian town not far from Samara.

	a) was borne

	b) am born

	c) was born


10. Dad phoned us and asked if our luggage (already/pack).

	a) was already being packed

	b) had already been packed

	c) was packed


ЧАСТЬ 2

Переведите на русский язык.
1. The only physical connection comes along through the vertex interaction which is determined uniquely by the gauge symmetry.
2. Other approaches are now being developed, such as using Lie algebraic techniques to carry out perturbation expansion.
3. It has been mentioned above that formulae and algorithms that implement such formulae are two different things.
4. Care was taken in tuning the AGS ejection system to minimize background from any extraneous proton beam extracted during the muon storage time.
5. Emphasis was also placed on minimizing the cost and number of components while keeping in mind the high stability requirements of the system.
6. This is followed by a very short survey of population genetics.
7. Copper plating is followed by solder plating.
8. For technical details the reader is referred to earlier reports in this lecture series.
9. For further definitions and more extensive discussions on these topics the reader is referred to publication of the International Commission on Radiation Units and Measurements.
10. This case is referred to as the regenerative beam breakup instability.
11. The self-generation of current and magnetic field is referred to as the dynamo effect.
12. The final two sets of events are then referred to as Mc (Monte Carlo) and data.
13. The time t is referred to as the time constant of the RC circuit 
14. This is referred to as the field-current identity.
15. Tools are being provided to measure machine optics parameters automatically as part of routine procedures.

16. No detectable by-products were found when the TIO2/UV/H2O2 system was used.

17. These results were derived from experiments using the catalyst substrate = 20.

18. Special attention is given to the problem of diesel fuel manufacturing.

19. It was indicated that the overall reaction selectivity is adversely affected by the amount of nitrite ions.

20. Similar behaviour with respect to minimum nitrite accumulation was reported also for Pd-Cu bimetallic catalysts.

21. No significant catalyst deactivation was observed under these conditions.

22. When the initial photoexcitation occurs in an adsorbate molecule which then interacts with the ground state catalyst substrate, the process is referred to as a catalyzed photoreaction.
23. In order to get a statistically significant size distribution of particles, many specimens were prepared and investigated by TEM.

24. An attempt was made to determine whether these substances might sometimes react as dienophiles. 
25. In this regard, attention has been directed to the role of anti-idiotypic antibodies.
26. Since proflavine does not absorb appreciably between 310 and 400 nm, it was concluded that the radicals were produced by a biphotonic process.
27. No yield data or biological effects were reported.
28. No ligand-ligand interaction could be detected in experiments with oligo (dT) in the absence of a complimentary lattice.
29. These authors noted, however, that the slight preferential binding to TA and CG is strongly affected by sequences, and that predictions of binding that are based only upon the local environment are not valid.
30. The positively charged carbonium ion cannot be stabilized by general base catalysis as it does not ionize.
31. It is especially noteworthy that the doublet at the upper (5’) edge of the target site is eliminated in the presence of both (1) and T5C5.
32. It should be noted that in a previous study the VGTTR peptide was localized in fractions coming out before the total column void volume of Sefadex 6-50.  
33. Primer extension using DNA polymerase is followed by a cloning step.
34. Base substitution fidelity during DNA synthesis in vitro has been monitored in assays that use single-stranded circular DNA templates.
35. This is followed by a description of how the structurally dynamic properties of DNA can lead to errors resulting from template-primer misalignments.
36. Diverse approaches are being taken to understand the molecular basis of nucleotide discrimination during polymerization.
37. Thus Rees reported that N-acyl-dG could be sulfonated in the presence of arene sulfonyl chlorides and substituted by nitrotriazole during the coupling reactions.
38. Therefore, the possibility that regulatory rather than structural genes are responsible for Ig-linked idiotype expression must still be entertained.
39. This method, as it could be expected, lacked sterical specificity and thus led to the formation of the   (- and ( - nucleosides.
40. Activity was also influenced by temperature.
41. For additional details of PAGE techniques the interested reader is referred to a previous volume in this series and some other excellent current texts.
42. Since care was taken in these experiments to exclude the transfer of contaminating M.tuberculosis, this result strongly suggests that clinical effects of the disease are a consequence of an autoimmune reaction in which the auto antigen is shared with M.tuberculosis.
43. I have always been puzzled by the widespread acceptance of the idea that deoxyinosine is precocious in base pairing because inosine behaves in a precocious manner in tRNA duplex interactions.
44. As for other classes of polymerase errors, the frequency and specificity of deletion errors are influenced by the DNA sequence.
45. Thus, by this early date both of the major components of chromatin had been isolated in reasonably pure form.
46. If these sites are situated on the same polynucleotide chain of a DNA duplex, the reaction product is referred to as an intrastrand cross-link.
47. For details, the historically minded reader is referred to a   number of excellent books and reviews.
48. The total amount of component I removed from bulk solution is referred to as the total uptake.
49. Care must be taken to insure that amplified DNA is not brought into this area.
50. Reagents and supplies should be taken directly from storage cabinets and must never be taken from an area where PCR analyses are being performed.
                                                      III
1. This question was first raised by Erdos and Rado and subsequently was studied by Specker.

2. This domain is not a field as is shown by simple examples.

3. A multitude of strategies have been devised to obtain numerical results for the discrete problem.
4. This condition is frequently referred to as the Weierstrass M test.
5. An illustration of the behaviour of G is shown in Figure 3.15.
6. It should be noted that the run-time tests are very simple and efficient.
7. Problems with constraints of the form c(x) = 0 can be written in terms of optimal control as we have already shown in Section 1.5.
8. As far as the theorems of this book are concerned the definition (1) could equally well be replaced by the definition (7).
9. By this mechanism, the global topology of a supermanifold can be used to impose physically interesting constraints on superfields.
10. As early as about 1900, it was recognized that most mathematical methods consisted of a mixture, in variable proportions, of algebraic theorems and topological theorems.
11. Much use is made now of influence lines in the theory of structures.
12. Great care must be taken to eliminate initial curvature of the rod and bad centering of the loads.
13. Attempts have been made also to determine the order needed to make the error less than a prescribed quantity E.
14. Hamilton’s discovery was quickly followed by other new algebras, such as the theory of matrices.
15. It should be remarked that Theorem 4.6 can be phrased in terms of parallel complexity.
16. This set will be referred to as the core of A.
17. The members of this subcollection are referred to as open assumptions of the node.
18. Account was taken of potential savings of primary resources through increased recycling.
19. That this is the case is suggested by the form in which the principle is frequently applied in elementary mathematical treatises. 
ПРИЧАСТИЕ
Формы причастия
	
	Active
	Passive

	Participle I Indefinite
	writing
	being written

	Participle I Perfect
	having written
	having been written

	Participle II 
	-
	written


Функции причастия

1. Определение.  Употребляются только формы Indefinite Active и Passive и  Participle II. 

В функции определения причастие отвечает на вопрос какой? и может стоять до или после определяемого существительного. Переводится соответствующей формой русских причастий.


He watched the rising temperature.


Он наблюдал за повышающейся температурой.


The method being used will be analysed in detail.


Метод, применяемый сейчас, будет подробно проанализирован.

           The data obtained contained some important information.


Полученные данные содержали важную информацию.


Причастия от глаголов involve, concern переводятся “данный”, “рассматриваемый”.


The data involved (concerned) are very important.


Рассматриваемые данные очень важны.

2. Обстоятельство.  Употребляются все формы причастия. 

В функции обстоятельства причастие отвечает на вопросы: когда? как? почему? при каких обстоятельствах? Переводится на русский язык:

1) деепричастным оборотом;

2) придаточным предложением;

3) существительным с предлогом при.

Carrying out the experiment he observed an interesting phenomenon.


При проведении эксперимента (проводя эксперимент) он наблюдал интересное явление.


Being asked to take part in this work he agreed at once.


Когда его попросили принять участие в этой работе, он немедленно согласился.


Being packed well the goods arrived in good conditions.


Так как товары были хорошо запакованы, они прибыли в хорошем состоянии.

           Будучи хорошо запакованными, товары прибыли в хорошем состоянии.


Having finished the experiment he began to analyze the data.


Проведя эксперимент, он начал анализировать данные.


Having been developed very well the method was widely used.


Так как метод был хорошо разработан, он широко использовался.

           Будучи хорошо разработанным, этот метод широко использовался.


Considered from this point of view the question is of great importance.


Если рассматривать с этой точки зрения, вопрос представляет большую важность.
Союзы и словосочетания, употребляемые в функции обстоятельства
given 




– если дано, при условии,  при наличии

granted 



– если допустить
seen 




– если рассматривать
stated 




– если сформулировать
as stated above 


– как указано выше
once 




– когда, раз, если
unless otherwise stated

– если не оговорено особо
(indicated, specified) 

except where otherwise (specially) 
– кроме тех случаев, которые оговорены особо

stated (indicated, specified) 
Независимый причастный оборот

В независимом причастном обороте перед причастием стоит существительное или местоимение. Перевод независимого причастного оборота зависит от его места в предложении.

1. Если независимый причастный оборот стоит в начале предложения, то он переводится придаточным предложением с союзами так как, поскольку, когда, если.

Her son being ill, she couldn’t go to the Institute.


Так как ее сын был болен, она не могла пойти в институт.

2. Если независимый причастный оборот стоит в конце предложения, то он переводится с помощью союзов а, и, причем.

He was given two articles, the latter being more helpful.


Ему дали две статьи, причем последняя была более полезной.

Независимый причастный оборот может вводиться предлогом with.

I carried out the experiment with my friend helping me.


Я проводил эксперимент, а мой друг помогал мне.

Предложение с независимым причастным оборотом может начинаться с конструкции There being или It being.

There being little time at our disposal, we couldn’t finish our experiment.


Так как в нашем распоряжении было мало времени, мы не смогли закончить наш эксперимент.

It being very dark, I couldn’t see anything.

Так как было темно, я не мог ничего видеть.

Оборот

"Объектный падеж с причастием"


Этот оборот состоит из существительного или местоимения в объектном падеже и причастия. Часто употребляется после глаголов физического восприятия:  to see, to hear, to watch, to notice, to feel, а также после глаголов, выражающих предположение, мнение, приказание:  to consider, to order etc. Переводится придаточным предложением с союзами как или что.

I saw him going to the Institute.


Я видел, как он шел в институт.


We watched her carrying out the experiment.


Мы наблюдали, как она проводила эксперимент.

Иногда перед причастием может стоять союз as.

We consider this compound as consisting of two substances.


Мы считает, что это соединение состоит из двух веществ.

Оборот

"Именительный падеж с причастием"
Этот оборот употребляется после глаголов to consider, to observe, to find, to show и др., стоящих в страдательном залоге. Переводится неопределенно-личным предложением  с придаточным, вводимым союзами как или что. 

The temperature was observed gradually rising.


Наблюдали, как температура постепенно поднималась.


The work was regarded (having been) completed.


Считали, что работа закончена.

Причастие может вводиться союзом as.

The substance was considered as having admixtures.


Считали, что вещество содержит примеси.

Оборот с причастием, стоящим на первом 

месте в предложении и являющимся частью сказуемого
В этом обороте причастие вынесено на первое место в предложении. Перевод следует начинать с обстоятельства или дополнения, затем переводится сказуемое (роль которого выполняет причастие) и, наконец, подлежащее.


Included in the first part are the following data.


В первую часть включены следующие данные.


Standing on the field was a small plane.


На поле стоял маленький самолет.

Упражнения

ЧАСТЬ 1

Упр. 1. Переведите на русский язык.

1. The books ordered are usually sent by post.

2. Latin was the ancestor of all the languages mentioned.

3. Of the three instances cited, only the last possesses a verbal suffix, which is regularly found in other words.

4. It is known that the language spoken by these tribes was Germanic.

5. All the questions answered by him concerned his work.

6. The book referred to here was published last year.

7. There is only one group of words influenced by this phonetic change.

8. The review is divided into three parts followed by a brief comment.

9. These manuscripts are somewhat newer than those referred to in the preceding paragraph.

10. The language spoken in this small country is of a mixed origin.

11. Cannon entered Harvard University and in 1896 received his bachelor’s degree followed soon by a master’s degree.

12. Dickens’s next work was «Oliver Twist», followed in the next year by «Nickolas Nickleby».

13. The following figures illustrate the extent of losses caused by fire.

Упр. 2. Переведите на английский язык.

1. Поставленная задача является очень трудной.

2. Статья, на которую ссылались, была опубликована в этом журнале.

3. Вот книга, о которой говорят.

4. Смит, а за ним и Браун, рассматривал это явление.

5. Смит вслед за Брауном рассматривал это явление.

6. Данные результаты очень важны для нас.

7. Полученное вещество было проанализировано.

8. Анализируемое вещество содержит примеси.

9. Проводимый эксперимент представляет большую важность.

10. Используется метод, предложенный Смитом.

11. Подчеркивается важность теории, обсужденной выше.

12. Уделялось внимание оборудованию, необходимому  для эксперимента.

Упр. 3. Переведите на английский язык.

1. Проведенный эксперимент убедителен.

2. Проводимый сейчас эксперимент дает интересные результаты.

3. Полученные данные убедительны.

4. Рассматриваемый вопрос представляет большую важность.

5. Заказанные книги уже пришли.

6. Явление, на которое ссылались, было открыто совсем недавно.

7. Лекция, за которой последовала дискуссия, была очень информативной.

8. Мы использовали метод, предложенный доктором Брауном.

9. Полученный ответ не удовлетворил меня.

10. Делали ссылку на статью, опубликованную в прошлом месяце.

11. Полученные результаты можно суммировать следующим образом.

12. В статье дан подробный анализ полученных данных.
Упр. 4. Переведите на английский язык.
1. Он показал список журналов, обычно получаемых библиотекой.

2. Полученные данные содержали полезную информацию.

3. Открытие радиоактивности, за которым последовали другие открытия, обозначило новую эру в науке.

4. Данные результаты очень интересны.

5. Вместо интегрирования подставили суммирование.

6. За лекцией последовала дискуссия.

7. Полученное вещество было исследовано.

8. Данная проблема представляет большую важность.

9. Рассматриваемое явление очень сложное.

10. Используется метод, предложенный Брауном.

11. Оказывалось предпочтение методу, разработанному нашими учеными.

12. Учитываются полученные данные.

13. Доктор Блэк, делавший доклад вчера, представил интересные цифры.

14. Журналы, взятые в библиотеке, необходимо вернуть через 2 недели.

15. Заказанные книги уже получены.

Упр. 5. Переведите на русский язык.
1. Demonstrating his finds an archaeologist usually gives a detailed description of the excavation site.

2. Being demonstrated at the Institute, the new finds produced a great impression.

3. When asked why he had done so, he smiled but did not say a word.

4. If sent two copies of the book, could you send me one?

5. In the 18th century when seeking for gold and silver many Europeans went to the newly discovered continent of America.

6. He painted in black and white not being fond of colours.

7. Many of these questions are fundamental to the problem of the collapse of ancient civilization, yet, having raised them, the author left them unanswered.

Упр. 6. Переведите на английский язык.
· Падающие листья

· Поваленное дерево

· Заходящее солнце

· Любимый и уважаемый всеми

· Приглашающая сторона

· Приглашенный докладчик

· Переходя улицу

· Поиграв в футбол

· Будучи хорошо информированным

· Переходя к следующему вопросу

· Проводимый сейчас эксперимент

· Проведенный эксперимент

· Обсужденная проблема

· Обсуждаемая проблема

· Поставленная задача

· Проведя серию экспериментов
· Рассмотрев проблему

· Переводя статью

· Будучи переведенной

· Прожив там много лет

· Будучи очень консервативным
· Так как эксперимент был закончен

Упр. 7. Переведите на английский язык.
1. Читая статью, я заметил ошибку.

2. Читая текст, я не пользовался словарем.

3. Переведенная на русский язык эта книга пользуется большим спросом.

4. Переводя статьи, он всегда выписывает новые термины.

5. Переведя статью, он решил написать аннотацию.

6. Получив приглашение слишком поздно, он не смог поехать на конференцию.

7. Будучи приглашенным принять участие в эксперименте, он сразу же согласился.

8. Получив данные, мы можем перейти к их интерпретации.

9. Проведя измерения, мы можем перейти к их анализу.

10. Если не оговорено особо, таблицы универсальны.

11. Вычисления следует делать, как указано выше.

12. Если имеются определенные условия, такую работу может выполнить каждый.

13. Предположим, что гипотеза верна (если допустить).

14. Предположим, что вычисления верны.

15. Если сформулировать это правило…

16. Если сформулировать следующим образом…

17. Если рассматривать с этой точки зрения…

18. Переведя статью, он написал конспект.

19. Обращаясь к конференции, он сказал следующее.

20. Обсудив этот вопрос, мы перешли к следующему.

21. Закончив эксперимент, мы начали обрабатывать данные.

22. Пропутешествовав несколько месяцев, он вернулся домой.

23. Проводя эксперимент, он столкнулся со многими трудностями.

24. Когда его попросили помочь, он сразу же согласился.

25. Если сделать такой справочник (будучи сделанным), он будет очень полезен студентам и аспирантам.

Упр. 8. Переведите на русский язык.
1. The preparation being completed we began our work.

2. The first question having been settled we proceeded to another one.

3. The figure represents an animal, its total length being two and a half inches.

4. The territory extends for about 150 miles, with a breadth varying from 50 to 100 miles.

5. There being nobody in the room, he decided to wait.

6. It being very dark, I couldn’t see anything.

7. A University was established at Constantinople in 425, teaching being conducted both in Latin and Greek.

8. Hunting being forbidden there, these little islands are a paradise for geese and ducks.

9. China was then divided into several kingdoms, each trying to gain the upperhand.

10. All the values obtained are considerably higher, their mean being 6.45.

11. A new technique worked out, the yields rose. 

12. We would not come to any conclusions, there being many objections to it.

13. The matter having been settled, no arguments were taken into account.

14. There being many biogenetic hypotheses, the reader is referred to the following references.
Упр. 9. Переведите на русский язык.
1. Working in Northern Italy and France, Leonardo da Vinchi drew many remarkable sketches of aeronautical devices and also made an extensive study of flight of birds.

2. The properties of metal being mined are unknown.

3. I rushed to the yard following him.

4. She entered the hall followed by her pet-dog.

5. Given to the world in 1938 this work was translated into English only twenty years later.

6. If translated into European languages this historical work may be helpful both to historians and ethnographers.

7. When sent to the North he took part in lengthy experiments.
8. If asked for this book can be found easily.

9. When cleaned and dried, this canoe weighed sixty pounds.

10. In those days in Japan, the tea was so much a favourite pastime with the feudal lords that they could not do without it even while occupied with military affairs.

11. I heard your name mentioned.

12. We consider this compound as consisting of two substances.

13. Sometimes we find the simple present and simple past used instead of future and other compound tenses.

14. Later we find Shakespeare using this style in prose dialogue.

15. I consider the experiment completed.

16. We consider the question settled.

17. We watched the temperature gradually rising.

18. I often hear his book discussed.

19. He considers the find as belonging to the 4th century.

20. I saw the car starting.

Упр. 10. Переведите на английский язык.

1. Я видел, как она бежала.

2. Я слышал, как он кричал на всех.

3. Я слышал, как он медленно поднимается по лестнице.

4. Я слышал, как он с кем-то разговаривал.

5. Я наблюдал, как он чинил прибор.

6. Я наблюдал, как она украшала комнату к Новому Году.

7. Я слышала, как она играла на пианино.

8. Я слышал, как она пела.

9. Я слышал, как он делал доклад на конференции.

10. Я наблюдал, как мама готовила обед.

11. Я наблюдал, как она варила кофе.

12. Я наблюдал, как моя маленькая дочка рисовала.

13. Я наблюдал, как он учился водить машину.

14. Мы наблюдали, как вставало солнце.

15. Послушай, как поют птицы.

16. Я чувствовал, что что-то горит.

17. Я считаю, что работа закончена.

18. Я наблюдал, как щенок носится по комнате.

19. Наблюдали, как он проделывал этот фокус.

20. Определено, что вещества имеют неизменный состав.

21. Было видно, как погружалась подводная лодка.

22. Считают, что эта рукопись относится к 9 веку нашей эры.

Упр. 11. Закончите предложения.

1. We watched the children

2. I saw the captain

3. He didn't hear me

4. A few years ago I heard

5. I saw the door

6. I didn't see them

7. We saw the plane

8. Nobody noticed her

9. I often heard her

10. We can watch science

11. One can watch more and more people

12. Nowadays we see many new areas of research

Упр. 12. Переведите на русский язык.

1. Unless otherwise stated, all subsequent operations are carried out at 4(C.

2. These values are divided into three groups, the first one consisting only of two values, the second one of four, and the third one of six.

3. Also shown in Figure I is a proposed secondary structure.

4. Related to this is the matter of probability.

5. They have introduced the concept of "superspace", a space parameterized by eight coordinates with the first four coordinates taking their values in the even part of a  Grassman algebra and the second four in the odd part.

6. Also related to the above is the following apparent paradox.

7. Strictly speaking this is not the case.

8. The equations can be solved by any of the methods mentioned, including that of matrix decomposition.

9. Equation 2 is simply a rearrangement of Equation 1 with summation substituted for integration.

10. When applied twice in the same state this procedure may yield a different natural number.

11. Surrounding the nucleus are electrons, the total number depending upon the atom being considered.

12. The problem is out of the scope of our scientific interests belonging as it does to pure mathematics.

13. Given the value the velocity of a body can easily be evaluated.

14. The first attempts did not quite reach the goal, the chief trouble lying in the theory of intersections.

15. The method applied was very helpful having as it did a lot of advantages. 

Упр. 13. Переведите на русский язык.

1. Stated in a simple form, the hypothesis runs as follows.

2. Unless otherwise stated, all subsequent operations are carried out with the help of the conventional methods.

3. The problem concerned is out of the scope of my scientific interests.

4. Calculations should be made as stated above.

5. Other conditions being equal, the acceleration remains constant.

6. Putting it another way, this law does not work.

7. As already mentioned, the value remains constant.

8. As stated earlier, the data are not accurate.

9. In this paper we survey the possibilities arising from the application of new high-precision instruments.

10. We give a review of papers covering the most overwhelming problems in the field of the genetic code mechanisms.

11. The present work is a survey of the electron transfer mechanisms and underlying phenomena occurring in collisions.

12. I deal with particle interactions taking place in hot plasma.

13. The method of analysis used is the same as that employed in the previous section; for this reason the examples chosen will be not analysed in detail, but the results obtained will be discussed briefly.

14. Having considered the matter they arrived at a definite decision.

15. Its boundaries having been extended, Moscow has become a city with the largest administrative area in the world.

16. Other things being equal, iron will oxidize more rapidly than mercury or silver.

17. All other conditions being equal, the velocity is dependent upon the temperature.

18. The activities involved in the various space programs have created such a revolution in scientific research and technological development, that this has generally come to be referred to as a new age in man's development, the Space Age.

Упр. 14. Переведите на русский язык.
1. He had the sink fixed.

2. He has fixed the sink.

3. He has his sink fixed.

4. Where did you have your hair cut?

5. I want to have my eyes tested.

6. I had my photo taken.

7. She wants to have her coat made.

8. She has made her coat.

9. I’ve had my laundry done.

10. We are having the setup repaired.

11. Charles I had his head cut off.

12. We had our breakfast made.

13. We made our breakfast.

14. She had her mobile stolen.

Упр. 15. Переведите на русский язык.

1. The data were reproduced, thus confirming our conclusions.

2. This effect was not reported as obtained elsewhere.

3. The mixture was observed gradually stirring.

4. The substance is considered having impurities.

5. Popov is known having invented the radio.

6. Hamburgers are said having been brought to America by sailors from Hamburg.

7. Levi Strauss is known having designed jeans.

8. Jeans are known having been designed by Levi Strauss.

9. We consider the work having been completed.

10. As stated earlier the data are not accurate.

11. As already mentioned the substance contains admixtures.

12. As emphasized above these substances are radioactive.

13. Generally speaking, the article is not of great interest.

14. Putting it another way, the theory does not work.

15. Strictly speaking, this is not the case.

Упр. 16. Переведите на русский язык.
1. The new model has a number of advantages over the old one operating as it does under less rigid conditions.

2. Knowing as he did the spectral theory Schroedinger could predict the connection between these two phenomena.

3. Coming as it did so early in the history of kinetic theory, Meyer and Ferri’s experimental result published in 1835, was of great importance in helping to establish the validity of the new interpretation.

4. The majority of atoms have all their electrons shared.

5. All electrons may have their k-values changed systematically by the applied field.

6. Taken together, these effects, occurring as they do in rapid succession, provide a simple interpretation of the production of showers.

7. The theory of this action is too extensive a subject, belonging as it does to theoretical astronomy.

8. Associated with the existence of positive and negative ions is a strong absorption coefficient in the infrared.

9. There exist various kinds of light, each corresponding to some definite “colour”.

10. The work of L. de Broglie soon followed by the “wave-mechanics” of Schroedinger was of great importance.

Упр. 17. Переведите на английский язык.
1. Информация, имеющаяся в литературе, скудна.

2. Представленные данные указывают на существование механизма, лежащего в основе этих изменений.

3. Теоретическое рассмотрение полученных результатов не противоречит основной цели статьи.

4. Пристальное внимание уделялось проблемам, указанным выше.

5. Предложенный метод может быть полезен для современных исследований.

6. Данный метод описывает все особенности системы.

7. Говоря другими словами, это правило не работает.

8. Смесь приготавливают, как указано выше.

9. В статье представлены результаты наших наблюдений.

10. Был выдвинут ряд гипотез о происхождении этих соединений.

11. О других данных не сообщалось.

12. За расширением праймера следует стадия клонирования.

13. На эти условия мы будем ссылаться в следующем разделе.

14. Определенное доказательство этого эффекта в настоящее время отсутствует.

15. Эти интересные соединения еще мало исследованы.

16. Изолированный продукт был осажден.

17. В статье дан подробный анализ полученных данных.

18. Сформулированное в простой форме это правило гласит следующее.

19. Если не оговорено особо, все последующие операции проводятся при 4° С.

20. Строго говоря, это не так.

21. Данная проблема лежит вне пределов моих научных интересов.

22. Вычисления следует делать, как указано выше.

23. Как указывалось выше, эти данные не точны.

24. Эта теория считается вполне убедительной.

25. Я обнаружил, что этот термин используется и в биохимии.
ТЕСТ

Выберите нужную форму глагола.

1. Ему приготовили завтрак.

 He has had his breakfast…

a) making 



c) made 

b) being made



d) having been made

2. Закончив испытание, он записал результаты.

   …the test, he put down the results.

a) finishing



c) having finished

b) being finished 


d) having been finished


3. Делая опыты, мы тщательно записываем результаты.

   …experiments, we carefully put down the results.

a) while making


c) having made

b) being made 


d) having been made
4. Используемые методы увеличивают выпуск машин.

    The methods … increase the production of cars.

a) applying 



c) having applied

b) being applied 


d) having been applied

5. Прочитав книгу, я вернул ее в библиотеку.

    …the book, I returned it to the library.

a) reading 



c) having read

b) being read 



d) having been read

6. После того как словари были принесены из библиотеки, студенты начали переводить статью.

    The dictionaries … from the library, the students began to translate the article.

a) bringing 



c) having brought

b) being brought 


d) having been brought

7. Когда статью перевели, ее отдали специалистам.

    When …, the article was given to the specialists.

a) translated 



c) having been translated

b) translating 



d) having translated
8. Открытые свойства требовали дальнейшего исследования.

    The properties … required further investigation.

a) discovering 


c) having discovered

b) discovered 



d) having been discovered
9. Когда Анну спросили, она сказала, что ничего не знает об этом.

    When …, Ann said that she knew nothing about it.

a) asking 



c) having been asked

b) asked 



d) having asked
10. Я слышала, как моя мама пела в соседней комнате.

I heard my mother … in the next room.

a) sung 



c) being sung

b) singing 



d) having sung
11. Я считаю, что эта проблема обсуждена.

I consider this problem …

a) having discussed 


c) discussed

b) having been discussed 

d) being discussed

12. Видели, как машина спускалась с холма.

The car was seen … down the hill.

a) having gone 


c) gone
b) going



d) being gone

13. Забор, окружающий сад, недавно покрашен.

The fence … the garden is newly painted.

a) being surrounded 


c) surrounded
b) having surrounded 


d) surrounding
14. Он спросил о картине, висевшей здесь раньше.

He asked about the picture … there before.

a) hanging 



c) that had hung

b) having hung 


d) having been hung

15. Он посмотрел на имя, написанное на конверте.

He looked at the name … on the envelope.

a) being written 


c) written

b) having been written 

d) writing

16. Она слышала, как его имя упоминали несколько раз.

She heard his name …several times.

a) mentioned 



c) being mentioned
b) mentioning 



d) having been mentioned
ЧАСТЬ 2

Переведите на русский язык

1. Figure 1 shows the results obtained 5 years ago.

2. The rules mentioned above apply to passive structures.

3. The horizontal arrows shown in the diagram illustrate the results of such catastrophic interactions.

4. The polarization in a ring equipped with a snake is similar to the spin echo phenomenon used in NMR techniques.

5. In addition to the beam steering mechanism described above it was also discovered that Pockels cell itself can cause angular steering.

6. This may account for the solidification morphology observed following electron beam surface melting.

7. Each process will be passed command line arguments consisting of the program name followed by the arguments specified in the arg parameter.

8. "Reset" must be driven following power up for at least 200 milliseconds.

9. This is followed by the second stage track search and track fit.

10. Using this value, we rescale the energy scale and give revised values for the higher states.

11. Taking all this into account one arrives at a 4th -order equation for the shifted synchrotron frequency and the growth rate for which a more general stability criterion can be derived.

12. A process may or may not specify a source rank when receiving a message.

13. Making use of the z subsample in optical diagnostics, we could characterize different populations of active galactic nuclei.

14. Being transparent quartz can be optically selected to near-perfection.

15. Being strongly correlated to this variable, other shape variables were not used.

16. When placed in a ring residual errors in either plane will give rise to a distortion of the closed orbit.

17. Depending on photon energy, the interaction can follow different mechanisms.

18. Unless explicitly stated the following general discussion applies to both B systems.

19. Given the design gradient of all quads, one can calculate the expected response matrix.

20. Given a structural description, either generated from a high level language or specified by the user, each complex structure is replaced with a network of the basic gates that perform that function.

21. Given such a model for the accelerator, one launches a single particle at a starting point in phase space.

22. Given these quantities, the simulation returns the number of Cherenkov photons selected by the photomultipliers and the error of this measurement.

23. Ten measurements were made on each of the samples with the average value being reported.

24. A conventional three-electrode cell was used, the counter-electrode being a platinum sheet.

25. There may be different mechanisms for saturation, each having a different power dependence.

26. Such converters are made up of several stages of conversion, the most important being the mechanism-frequency inverter.

27. A number of measurements were made with Hall probes, the most important being the measurements of the radial component of the magnetic field in the muon storage ring.

28. The fission fragments are medium weight positive ions with a mass distribution illustrated in Fig. l - 4.

29. Auger electrons therefore produce a discrete energy spectrum, with different groups corresponding to different initial and final stages.

30. Another novel aspect of the voltage multiplier is that each "layer" of the device contains four secondary electrodes with each electrode having an angular extent of nearly 90°.

31. The particle motion being constrained to remain in the horizontal plane, the quantum excitation only causes stochastic spin precessions about the vertical axis.

32. The oscillation amplitudes being generally small, the resultant spin precession may be considered as a perturbation of the spin motion on the closed orbit.

33. With 300KV pulse applied to four electrodes in sequence, electrons were accelerated to 1,3MeV.

34. Closely related to the training sample is the covariance matrix.

35. Associated with this new bunch analysis possibility is variety of practical           questions. 

36. Also shown in Table 3 is an experimental multicast facility that exploits the broadcast medium of networks such as Ethernet.

37. Not shown in this principle representation is the outer clamping device.

38. Surrounding the inner tracking system is the core of the ALICE detector - its time projection chamber.

39. Inherent in this design are aspects that assume risk in order to maximize scientific return within the limited resources allocated to the camera.

40. In the nonlinear phases of each rotation case we can clearly see transport barriers forming and growing as the rotation is increased.

41. The method applied was very helpful having as it did a lot of advantages.

42. Strictly speaking, the collisionless electron skin depth should therefore be  zero.

43. In what follows, however, the term in question will be dropped; the system is therefore, strictly speaking, non-Hamiltonian. 

44. Strictly speaking, you do not need the APLAC Editor at all to make sensible APLAC Simulator run if you are willing to enter your simulations directly in the APLAC language with a text editor.

45. Generally speaking, it may be stated that the most cross sections of    neutron reactions increase as the energy decreases down to very low energies.

II
1. The dehydrogenation of hydrocarbon chains in stearic acid occurred in the beginning of the reaction followed by the decarboxylation of such products.

2. Gas flow rates of 5-35 L/min were employed, with the contact time over the catalyst bed being maintained by increasing the flow rate as the system pressure increased.

3. Some idea of the importance of the reactions may be obtained from thermodynamic data, bearing in mind that carbon on catalysts behaves somewhat differently from graphite.

4. In the absence of significant radiation or conduction losses, heat and mass transfer are mechanistically linked, their ratio being a function of the Lewis number.

5. The biodiesel is considered having advantages compared with conventional diesel – it’s free of sulfur and aromatics.

6. Assuming that nitrogen is under reforming conditions, carbon, oxygen and hydrogen are the reactive elements in a reformer system.

7. Reaction conditions can usually be controlled more precisely, with reaction temperatures being maintained below 1600ºC.

8. The gas oils obtained from raw material containing rapeseed oil had significantly worse low-temperature properties than those prepared from rapeseed oil-free feed in all cases.

9. It was found that the accessibility of acidic protons as studied by adsorption of pyridine was similar for dehydrated H3PW12O40 and ALP12WO40.

10. The constant was observed gradually rising with the temperature.

11. Unless otherwise stated, chemicals were obtained from Aldrich Chemical Co and were reagent grade purity.

12. The authors concluded from their studies that intercalation occurs only at GC base pair sites while complexes formed at AT sites are an external type.

13. However, the experimental results presented in this paper show that this is not the case.

14. The evidence suggests that for antibiotics including mitomycin, free radicals are the result of the reaction of peroxide with cellular iron complexed with protein.

15. There are two classes of light chains found in human, mouse, and rat, called R and l.

16. From the 5’-end a short duplex is formed, followed by an extensive loop.

17. These results are again consistent with an ordered addition of ATP and isoleucine followed by addition of tRNA.

18. Following overnight dialysis against buffer A, the enzyme was concentrated 15-fold by rechromatography on a DNA-agarose column.

19. Using various substrates that contain dIMP residues, we show that this activity is associated with DNA glycosilase II coded for by Alka gene.

20. All 12 possible base-mispairs can be detected, thus providing a detailed description of base substitution fidelity. 

21. Based on in vitro recombination tests, he characterized several mutants.

22. Based on arguments similar to those followed above, GnE1 was attributed to glutamine formed as a result of spontaneous deaminoacylation of glutaminyl-tRNA, approximately 26% of the total radioactivity being liberated in this manner.

23. During this process a water molecule, which occupies the area on the enzyme where the methyl group of isoleucine is usually located, is enzymically activated via the 3’- OH of the terminal adenosine of tRNA followed by nucleophilic attack on the biologically incorrect ester bond.

24. Thus, given a cloned DNA segment, the discovery of associated RFLP can be tedious.

25. Given the high affinity of the DNA polymerase III holoenzyme for template, the replacement of DNA polymerase III by DNA polymerase II may require the active participation of other replication proteins.

26. Even given a good antibody response there are still some complicating factors with regard to their selection and perhaps of relevance to their proposed practical and commercial use.

27. The efficiency of editing base substitution errors can vary over a wide range, depending on the enzyme, the mispair and the template-primer position.

28. Unless otherwise indicated, the substrate was poly(dt).

29. Unless otherwise stated, all subsequent operations were carried out at 4(C.

30. As already mentioned, functions x in the applications that motivated our study are sample parts of a stochastic process.

31. The dye is prepared as a stock solution in either phosphoric or perchloric acid, the latter reagent being more stable.

32. Lipases are enzymes that typically act at lipid/ water interfaces, the lipase being water-soluble.

33. The heavy chains have more domains, with the exact number depending upon the class of immunoglobulin.

34. The oligonucleotide has two different domains, one allowing double helix formation and the other one forming a triple helix.

35. These values are divided into three groups, the first one consisting only of two values, the second one of four, and the third one of six.

36. Also shown in Figure I is a proposed secondary structure.

37. Closely connected to this problem is the question of where and how individual proteins are folded to gain their functional shape and integrity.

38. Relevant to the work described here was a report on conjugation of nuclear signal peptide to an antisense oligodeoxinucleotide.

39. Complicating the picture is the fact that H1 and H1' are apparently nonrandomly distributed.

40. Associated with BCG-induced regression is an increased immune response against tumor-specific antigens.  

III
1. The best known numerical methods used to generate approximate solutions are based on the linear multistep operator L.

2. Here we have a mixed differential equation containing two unknown functions.

3. The subject being defended in this passage is in fact the calculus, which had been invented about a century and a half earlier.

4. Such a construction referred to as G supermanifold is described in this paper.

5. Looking at the development of computational complexity theory, one can observe very definite turning points.

6. Several methods are available but we shall describe the original methods using analytic approximation.

7. Having located the cusp points, we can analyze the behaviour of the machine when P is near them.

8. Having used the summation convention, we obtain four different products.

9. Given these conditions, what catastrophe theory tells us is the following.

10. Given these considerations about limit-cases, we can now say that stochastic independence presupposes logical independence.

11. When applied to scientific problems catastrophe theory deals with the properties of discontinuities directly.

12. The resulting family of state-variable diffeomorphisms must be smooth when considered as a function of the control variables.

13. The same conditions imply property 2, as already stated, and this in turn implies a weak form of property 3.

14. Unless otherwise stated the symbol f (x) will be used to denote a function, which is single-valued and bounded in this interval and defined outside this interval by the following equation.

15. We present here briefly the main statements for the Bolza problems for easy reference, those for Lagrange problems being the same.

16. In computability theory, without additional modification, both of these methods can be applied to relativized classes with the results being consistent with the case for the unrelativized classes.

17. It will be carried out for program specification formalism and hence also for program semantics – the latter being a special case of the former.

18. In this solution, the gas swirls around in the nonuniform gravitational field, experiencing accelerations and decelerations, with the latter events causing shock waves.

19. Fig. 64 becomes a drawing of the control space for the system, with the control trajectory indicated.

20. Equation 2 is simply a rearrangement of equation 1 with summation substituted for integration.

21. The subject is very complicated belonging as it does to pure mathematics.

22. Strictly speaking, this is not the case.

23. Roughly speaking, all humans have similar proportions.

24. Put another way, one intentional difference between the expression on the left of the equation and the expression on the right is that the latter lies within the scope of the variable-binding operator and is being computed in a different context than the former.

25. Associated with this series is the sequence of its partial sums.

26. Included in Sections 1.2 and 1.5 of this chapter are brief discussions in a general setting of the key problem of topological embeddings.

27. Related to this is the matter of probability.

28. Also related to the above is the following apparent paradox.

29. Closely related to the β-statements proved in this section are the so-called γ-statements.

30. These experiments have not been reported as carried out elsewhere.

ГЕРУНДИЙ


Герундий сочетает в себе свойства глагола и существительного. В русском языке соответствующей формы нет. По форме герундий совпадает с причастием 1.

Формы герундия

	
	Active
	Passive

	Indefinite
	asking
	being asked

	Perfect
	having asked
	having been asked


Функции герундия

1. Подлежащее.


Переводится существительным или инфинитивом.


Smoking is not allowed here.


Курение (курить) здесь запрещено.


Carrying out experiments is necessary.


Проведение экспериментов (проводить эксперименты) необходимо.

2. Определение.


В этой функции герундий вводится предлогом и определяет отвлеченные существительные. Переводится отглагольным существительным или инфинитивом.


I had the pleasure of knowing him personally.


Я имел удовольствие знать его лично.


He had no possibility of testing the results.


У него не было возможности проверить результаты.

3. Прямое дополнение.


Переводится инфинитивом или с помощью придаточного предложения.


The children like asking questions.


Дети любят задавать вопросы.


The teachers like being asked questions.


Учителя любят, когда им задают вопросы.


I remember having seen this film.


Я помню, что смотрел этот фильм.


I remember having been told about this film.


Я помню, что мне рассказывали об этом фильме.

Запомните глаголы и сочетания слов, после которых употребляется герундий в функции прямого дополнения:

	enjoy
	− получать удовольствие, нравиться

	suggest
	− предлагать

	stop
	− прекращать

	finish
	− заканчивать

	fancy
	− нравиться

	avoid
	− избегать

	admit
	− признавать

	deny
	− отрицать, отвергать

	delay
	− откладывать

	mind
	− возражать

	imagine
	− представлять, допускать 

	involve
	− включать, вызывать

	consider
	− рассматривать

	practice
	− практиковать, иметь привычку

	postpone
	− откладывать

	risk
	− рисковать

	give up (= stop)
	− прекращать, отказываться от

	put off (= postpone)
	− откладывать

	carry on / go on /keep/ keep on  (= continue)
	− продолжать

	(I) cannot help
	− не могу не

	it is worth (while)
	− стоит

	it is no good/use
	− не стоит, бесполезно


4. Предложное дополнение.


We insisted on sending him to the conference.


Мы настаивали на том, чтобы его послали на конференцию.


He insisted on being sent to the conference.


Он настаивал на том, чтобы его послали на конференцию.

He succeeded in obtaining reliable results.


Ему удалось получить надежные результаты.

В этой функции герундий употребляется после следующих глаголов с предлогами:

	account for 
	− объяснять

	aid in
	− способствовать

	aim at
	− ставить целью

	depend on
	− зависеть от

	differ in
	− отличаться

	be engaged in
	− заниматься

	be fond of
	− любить, нравиться, увлекаться

	insist on
	− настаивать

	be interested in
	− интересоваться

	object to
	− возражать

	prevent from
	− препятствовать

	rely on
	− полагаться на

	be responsible for
	− являться причиной, быть ответственным за

	result from
	− являться результатом

	result in
	− давать в результате, приводить к

	succeed in
	− удаваться


5. Обстоятельство.


В этой функции герундий всегда употребляется с предлогом. Переводится деепричастием или отглагольным существительным.


In copying the text he made a few mistakes.


При переписывании текста (переписывая текст) он сделал несколько ошибок.


The substance affects directly without causing side-effects.


Это вещество действует непосредственно, не вызывая побочных эффектов.

Герундиальный оборот

Перед герундием стоит существительное в притяжательном падеже или притяжательное местоимение. В начале предложения герундий переводится придаточным предложением, начинающимся с то, что или отглагольным существительным.


Dr. Smith’s appointing to this post was unexpected.


То, что доктора Смита назначили на эту должность, было неожиданным.


В конце предложения герундиальный оборот обычно переводится придаточным предложением с союзом что.


I remember my scientific supervisor’s telling me about it.


Я помню, что мой научный руководитель говорил мне об этом.


I remember his telling me about it.


Я помню, что он говорил мне об этом.

Упражнения
часть 1
Упр. 1. Переведите на русский язык.
1. Carrying out experiments is necessary.

2. Measuring resistance is necessary in many experiments.
3. Reading books in the original helped him to learn English.

4. I like reading books in the original.

5. She stopped answering his letters.

6. He continued carrying out the experiments.

7. He began interpreting the results obtained.

8. Stop talking!

9. Stop making faces!
10. It is worthwhile remembering this rule.

11. It is no good arguing.

12. It is no use asking him about it.

13. I cannot help going there.

14. He reports having observed a new phenomenon.

15. He doesn’t like being asked questions.

16. He insisted on taking part in the conference.

17. The child insisted on being taken to the concert.

18. He objected to applying the method.

19. They are responsible for applying the results obtained.

20. Catalysts aid in accelerating reactions.

21. He succeeded in obtaining reliable results.

22. The book aims at acquainting the reader with modern achievements in biochemistry.

23. In solving problems it is necessary to distinguish between facts and hypothesis.

24. We verified the data by analyzing experimental curves.

25. In freezing the expansive force of water is enormous.

26. Upon being heated to a high temperature many metallic compounds are decomposed.

27. There is no necessity of making any corrections.

28. The new method of treating steel has been worked out.

29. I have no possibility of testing the results.

30. Going on expeditions is his favourite occupation.

31. He likes going on expeditions.

32. He hates being asked about it.

33. I can’t find my book. I remember having put it on the table.

34. We all like listening to his lectures.

35. It is worth remembering these words.

36. I can’t help laughing when I think about it.

37. He hates being interrupted.

38. We regretted having missed these classes.

39. It was no good making such an experiment.

40. I insist on testing the results.

41. The discovery resulted in developing a new technique.

42. This change resulted from applying a new method.

43. This prevented from obtaining reliable results.

44. In proving this we use the following theory.

45. The substance affects directly without causing by-effects.

46. There is a way of doing it.

47. There is some reason for questioning this assumption.

Упр. 2. Переведите на английский язык.

1. Перевод с одного языка на другой – нелёгкая задача.

2. Никто не мог войти незамеченным (не будучи видимым).
3. Я не помню, что слышал эту легенду раньше.

4. Он не любит ни читать вслух,  ни когда ему читают.

5. Он прошёл, не заметив меня.

6. Я не люблю писать письма, но я люблю, когда мне пишут.

7. Она обожает читать стихи.

8. Несмотря на то, что он был занят, он не отказался помочь нам.

9. Он был рождён с даром завоёвывать сердца.

10. Есть много способов решить эту задачу.

11. Он не имеет права прийти без приглашения (не будучи приглашённым).
12. Она отрицает, что разговаривала с ним.

13. После подписания контракта партнёры пожали руки.

14. Я люблю приглашать своих друзей и быть приглашённым ими.

15. Ребёнок заслуживает похвалы.

16. Я не вижу возможности убедить его.

17. Все хотят быть приглашёнными на приём.

18. Я думаю сделать ей подарок.

            Упр. 3. Переведите на английский язык.

1. Спрашивать его об этом было бесполезно.

2. Понять это явление сложно.

3. Разработка этой проблемы не дала результатов.

4. Разработка этой проблемы заняла 2 года.

5. Мы начали обсуждать этот вопрос месяц назад.

6. Он продолжал проводить эксперименты.

7. Он начал обрабатывать научные данные.

8. Стоит прочитать эту книгу.

9. Стоит послушать этого лектора.

10. Стоит обсудить этот вопрос.

11. Бесполезно спрашивать его об этом.

12. Бесполезно спорить.

13. Я не могу не поехать туда.

14. Я не могу не поговорить с ним.

15. Они сообщают, что наблюдали новое явление.

16. Он сообщает, что решил эту задачу.

17. Ребёнку нравится, когда ему читают.

18. Ему удалось получить надёжные результаты.

19. Он настаивал на применении этого метода.

20. Это помешало воспроизвести результаты.

21. Это изменение явилось результатом применения новой методики.

22. Открытие привело к возникновению новых областей исследования.

23. Мы проверили данные анализом кривых.
24. Лекарство действует прямо, не вызывая побочных эффектов.

25. Нет необходимости делать поправки.
Упр. 4. Переведите на русский язык.
1. I remember seeing Dr. White at the last conference.

2. He suggested setting up a program committee for this symposium.

3. It is worth considering in this connection some other contributions to this field.

4. This technique is certainly worth trying.

5. The work is no doubt worth mentioning here.
6. I suggest exchanging the latest information on this subject.

7. Avoid giving too general definitions of these phenomena.

8. In evaluating the data avoid jumping to conclusions.

9. This group of workers succeeded in showing the invalidity of the previously existing theory of gene action.

10. These cells differ from the others in having a larger nucleus.

11. These measures prevent the particles from leaving the interaction zone.

12. Each research centre is interested in training a younger generation of efficient scientists.

13. Some people insist on including this question in the conference program.

14. We object to attributing to this substance the role of a catalyst in synthetic processes.

15. The first series of experiments was aimed at establishing a correlation between these two mechanisms.

16. We are now engaged in classifying a large body of data concerning these organisms.

17. These warnings will keep us from making the same mistake.

18. Scientific meetings aid in exchanging information.

19. Lack of active contacts among scientists results in duplicating some investigations.

20. Some of our failures result from underestimating the importance of theory in research.

21. We object to using a different technique.

22. Would you mind sending me a copy of your conference paper?

23. We’ll appreciate having a copy of your paper given at the conference.

24. He has no objection to receiving this group of scientists at the time indicated in the letter.

25. I look forward to seeing you at the conference next year.

Упр. 5. Переведите на английский язык.
1. Использование этого метода привело к получению обнадёживающих результатов.

2. Используя этот метод, мы воспроизводим данные.

3. Использовав этот метод, мы воспроизвели данные.

4. При проведении наблюдений избегайте ошибок.

5. Стоит обсудить эту проблему.

6. Цель этой статьи – проанализировать полученные данные.

7. Они занимаются изучением этого явления.

8. Они ответственны за применение результатов.

9. Тест ставил целью избежать ошибок в будущем.

10. Это изменение явилось результатом применения нового подхода.

11. Ему удалось доказать свою теорию.

12. Стоит упомянуть несколько точек зрения.

13. Такие образцы получают с помощью применения следующего метода.

14. Он занят подготовкой доклада.

15. Эту лекцию стоит послушать.

16. Проведение эксперимента требует определённых навыков.

17. Проводя эксперимент, будьте осторожны.

18. Цель этой статьи состоит в том, чтобы показать взаимосвязь между этими явлениями.

19. Бесполезно говорить об этом.

20. Есть ли какой-либо способ сделать это?
Упр. 6. Переведите на русский язык.
1. Dr. Brown’s being absent was very strange.

2. In spite of not having any university education, Faraday made his great discoveries.

3. So far only the quantum theory has succeeded in giving a satisfactory explanation.

4. We account for the incompleteness of a reaction by its being reversible.

5. They objected to the data being published before all the experiments were completed.

6. Substituting this value in our equation, we get the following formula.

7. Being in London he visited Westminster Abbey.

8. Everything depends upon the substance being used.

9. He insisted on his being examined by a physician.

10. There is little probability of atmosphere being on that planet.

11. The house stood on the cliff overlooking the bay.

12. He doesn’t like being disturbed.

13. George is a bit difficult. And at first she may not like you being here.

14. We hope she’ll enjoy playing with you.

15. George was there too, buttering a piece of toast.

16. Soon they heard George’s voice coming down from the cliff behind them.

17. In a few moments he was back again, carrying four fat chocolate ice-cream bars.

18. She was very strong and very fast, and she could swim under water, holding her breath for ages.

19. George said nothing, but went on eating her plum pie.

20. Timothy jumped into the boat, waving his big tail.

21. The others watched George and Julian swimming.

22. It is worth taking Timothy with us.

23. It is hardly worth while rowing all the way there.

24. They had all been so interested in exploring the exciting old castle that not one of them had noticed the sudden change in the weather.

25. I’ve never heard the sea making such an awful noise.


Упр. 7. Продолжите предложения.

1. I am engaged in
2. I look forward to

3. We insist on

4. I suggest

5. She succeeded in

6. I feel like

7. I avoid

8. He enjoys 

9. Do you regret not 

10. We should stop 

11. Do you admit 

12. You should give up

13. The paper aims at 

14. Mistakes resulted from 

15. Mistakes resulted in 

16. Go on 

17. Would you mind 

18. He denies 

19. Does having good working conditions involve

Упр. 8. Продолжите предложения.

1. I am interested in

2. I am fond of

3. My favourite occupation is

4. It is worth (while)

5. It’s no use

6. It’s no good

7. I can’t help but

8. I’m engaged in

9. I don’t like

10. I stopped

11. I suggest

12. I look forward to

Упр. 9. Продолжите предложения.

1. Our research resulted in 

2. The success of the first space research program resulted from

3. The scientists succeeded in

4. Pure science aims at

5. Traditionally physicists were engaged in

6. A nuclear physicist is interested in

7. Academician B. was the first to insist on

8. Adequate theories often prevented scientists from

9. This group of engineers is responsible for

10. The advent of computers aided in

11. I never think of

12. If you want to succeed in

13. A true scientist is interested in

14. Our group leader always insists on

15. Finding an adequate solution will aid in

16. Fundamental research aims at

17. These measures prevent the particles from

18. We object to

19. These experiments differ in

20. Some teachers object to

 Упр. 10. Переведите на английский язык.

1. Идея поиска компромиссного решения этой проблемы много обсуждалась в литературе.

2. Вопрос финансирования этого проекта вызвал бурную дискуссию.

3. Разработка этой проблемы не дала результатов.

4. Использование этого метода привело к получению надежных результатов.

5. Цель этой статьи заключается в том, чтобы проанализировать полученные данные.

6. Мы проверили данные анализом кривых.

7. Он возражал против применения новой методики.

8. Это несоответствие явилось результатом применения нового подхода.

9. У нас нет возможности воспроизвести результаты.

10. Отсутствие времени помешало получить надежные данные.

11. Это открытие привело к разработке новой методики.

12. При доказательстве этого положения мы будем использовать следующую теорию.

13. Открытие привело к возникновению новой области исследования.

14. Есть некоторые основания поставить под сомнение это утверждение.

15. Есть некоторая вероятность того, что это так.

16. Бесполезно обсуждать этот вопрос.

17. Я не могу не упомянуть следующий факт.

18. То, что гипотеза верна, было ясно с первого взгляда.

19. Он получил доказательство того, что его гипотеза верна.

20. Это заключение не зависит от того, верно ли  А.

Упр. 11. Переведите на английский язык, употребляя формы герундия или причастия.

1. Я чувствовал, как бьется моё сердце.

2. Вы жалеете, что приехали сюда?

3. Я помню, что уже читал эту книгу.

4. Компьютер сломался, не проработав и года.

5. Он извинился за то, что не встретил нас.

6. Не спав всю ночь, я чувствовал себя уставшим.

7. Истратив все деньги, мы пошли домой.

8. Ты жалеешь, что проигнорировал совет отца?

9. Куда ты пошел, уйдя с вечеринки?

10. Приехав из Африки, он привез львенка и обезьянку.

11. Он сидел в кресле, читая газету.

12. Несколько человек ждут вас там.

13. Он отрицает, что говорил это.

14. Я не возражаю против того, чтобы поехать туда.

15. Я не возражаю, чтобы ты поехал туда.

16. Я возражаю против того, чтобы ты здесь курил.

17. Нет причины приходить так рано.

18. Он ушел не попрощавшись.

19. Этот фильм стоит посмотреть.

20. Твое выздоровление зависит от того, следуешь ли ты советам врача.

21. Я удивлен тем, что он пропускает так много занятий.

22. Я удивлен тем, что он пропустил так много занятий.

23. Имеется доказательство того, что Полинг ошибся.

24. Это обусловлено тем, что реакция проходит при низкой температуре.

25. Кроме того, что эта методика сложная, она еще и дорогая.
Упр. 12. Переведите на английский язык.

1. Мы знаем, что эта работа выполняется в его лаборатории.

2. Мы знаем, что эта работа выполнена в его лаборатории.

3. Он избегает ввязываться в такие дела (to be involved).

4. Проблема заслуживает того, чтобы ее обсудили. 

5. Мы надеемся (полагаемся) на то, что эксперимент был проведен правильно.

6. Он ответственен за то, что программа не была скорректирована вовремя.

7. Кроме того, что книга интересная, она еще и полезна.

8. Несмотря на то, что эта проблема очень сложная, она все же была решена.

9. Ошибка явилась результатом того, что прибор не отремонтировали перед тестом.

10. Точность определения зависит от того, насколько тщательно сформулированы все составляющие.

Упр. 13. Переведите на английский язык, употребляя формы герундия или причастия.

1. Она покрасила волосы в парикмахерской.

2. Сказать – это одно, а сделать – это другое.

3. Я собираюсь поменять номер телефона.

4. Они настаивали на том, чтобы отложить обсуждение.

5. Стоит обсудить этот вопрос.

6. Завтра он идет на рентген (ему сделают рентген).

7. Мне нарисовали мой портрет.

8. Нет смысла рассматривать эти произведения.

9. Наша земля – прекрасное место, и за нее стоит побороться.

10. Мне надо прикрепить жалюзи на окна.

11. Вы не против, если я закрою окно? Очень холодно.

12. Этот фильм стоит посмотреть.

13. Она обожает слушать джаз.

14. Они продолжают экспериментировать.

15. Его имя заслуживает упоминания.

16. Я предлагаю пойти в театр.

17. Мы не могли не использовать эту информацию. 
18. Нельзя приготовить омлет не разбив яиц.

19. Нам удалось получить чистое вещество.

20. Вместо хлора они использовали бром.

21. Это является результатом того, что удельные веса этих веществ одинаковы.

22. Есть малая вероятность того, что у этой планеты есть атмосфера.

23. Нам удалось построить гибкую систему.

24. Осадок можно поджечь, не высушивая его. 

ТЕСТ

Выберите нужную форму глагола.

1. Each poem … by a short comment can be included into the book.
a) following       


с) having followed 

b) followed        


d) follows

2. The discovery of radioactivity … other important discoveries opened a new era in science.
a) following       


c) followed 

b) follows    

     

d) having followed

3. … the audience with the opening speech he left the conference.
a) addressing       


c) having addressed

b) addressed        


d) having been addressed

4. The house … now is designed by our architects. 
  

a) built                    


c) building

 
 
b) being built          


d) having built

5. The substance … a magnetic field was metallic. 
a) affected               


c) having been affected

b) affecting             


d) affects

6. I consider the work … . 
a) completed           


c) been completed

b) completing          


d) being completed

7. Popov is known … the radio.
a) have invented       
 

c) being invented

b) having invented     


d) invented

8. I watched her … the experiment. 

a) carrying out            

c) carried out

b) being carried out     

d) having carried out

9. I could hear it…
a) raining                  
 

c) rained

b) rain                        
 

d) to rain 
 10. I could hear the book… 
a) discussing     
       
    
c) discussed

b) discuss          

           
d) to discuss

11. He reports … a new star. 
a) discover                     

c) having discovered

b) discovering                

d) discovered

12. I remember …about it. 
a) having been told    

   
c) telling

b) been told                

  
d) told

13. We succeeded in … this problem.
a) solved               

          
c) being solved

b) solving              

          
d) having been solved

14. The film is worth … .
a) to see         

                 
c) seeing                       

b) see              

                
d) be seen

15. Teachers like … questions.

a) being asked           

       
c) having been asked

b) having asked         

       
d) ask

16. When I saw his coat, I couldn’t help … 
a) to laugh                      
   
c) being laughed

b) laughing                     
   
d) having laughed

17. It is worth while … this book. 
a) read                         
  
c) reading

b) having read                
   
d) be read

18. I object to … put a two. 
a) be                                
   
c) been

b) being                           
   
d) having being

19. They are fond of … jazz. 
a) listening             
    
       
c) listening to

b) to listen             
      
      
d) listen

20. Would you mind … the window? It’s rather cold in here.
a) to close          
            
 c) close

b) closing         
             
 d) to closing 

ЧАСТЬ 2

Переведите на русский язык.
1. Increasing the width decreases the capacitance.

2. Preparing evaluated cross-section sets has become a discipline in itself and has developed since the early 1960s.

3. Increasing the amplification in a microstrip gas chamber means increasing the operating voltage, but this cannot be continued indefinitely.

4. Adding sophistication to the detection strategy increases the computational burden on the CPU and can provide only a marginal increase in algorithm performance.

5. Disallowing the possibility to boot from floppy drives and being able to set a password to access the BIOS features will improve the security of our system.

6. It is worth briefly discussing here the assumptions that were used in modeling these modes.

7. It is worth noting that in the most cases of interest we deal with structures having particular symmetric shapes: rectangular, elliptic, circular.

8. It is worth noting that these standard definitions contain all nonperturbative effects, including for example the photon vacuum polarization.

9. It is worth mentioning that the oscillating multipole fields should have a negligible effect on the proton beam emittance since their wavelength is orders of magnitude smaller that the betatron wavelength.

10. This is a hint that CP violation from beyond Standard Model sources is worth looking for.

11. The detailed theory of the effects of non-linearities is beyond the scope of this paper, but the following facts are worth mentioning.

12. Before writing a technical specification, it is worthwhile carefully documenting the basic   information supplied by other groups of the project, as well as the design decisions and computations.

13. The steady-state theory also succeeds in accounting for the expansion and homogeneity of the universe.

14. Implementation examples aid in developing system-specific hardware and software.

15. We now aim at examining, using the largest possible data set, the consequences of the full mixing pattern within the framework of the HLS model at one-loop order.

16. The spin is defined by averaging over several turns.

17. The spin resonance compensation is achieved by generating opposite harmonics using a pattern of vertical orbit corrections.

18. This can be attained by distributing each coil over the whole length of windings.

19. Many experiments are therefore conducted by pulsing the original electron beam, and sorting out the neutron energies by their time-of-flight from the target following each electron pulse.

20. New efforts made in Japan resulted in further improving the HI-B qualities by affecting orientation and surface condition, by increasing the Si content, by reducing the thickness, and by refining domain wall-spacing.

21. Next we characterize these two parameters without referring to the fundamental symmetry T.

22. In order to polish and aluminize the fibers without damaging them, each group corresponding to a single module was bunched together and held fixed by mechanical clamps.

23. Upon entering any absorbing medium, the charged particle immediately interacts simultaneously with many electrons.

24. After having established close contacts with the academic world as well as industry, a programme of prototype evaluation was launched.

25. A method for reducing this noise is the following.

26. A proper error budget is an excellent tool for judging the overall stability of the equipment.

27. Their chance of being studied in detail by everyone involved in the contract will increase considerably.

28. This layout results in the current being zero during the pulse flat-top.

29. The same button is also used to prevent from the magnet being switched on.

30. A simple calculation of the simple ONEMAX function shows that the probability of the offspring being better than the midparent is equal to the probability of them being worse.

31. Systematic coarse-graining holds great promise for yielding truly predictive models with limited experimental information. 

32. It is still worth pointing out that a significant fraction of carbonates did not exchange.

33. Stochastic dynamics simulation is therefore capable of modeling systems over much longer time scales than MD.

34. It is worth stressing that the apparent activation energy for the formation of CO2 was equal to 40.0 kJ mol-1.

35. The conductivity of the samples was determined by plotting the data on the complex plane and subsequently performing a non-linear list squares fit to the bulk and grain boundary semicircle.

36. The present results indicate that adding GDC to LSM decreased Ri.

37. On the other hand, R1 can also be increased by increasing k, typically by changing the phase compositions, or decreasing the pore size r.

38. Introducing a thin layer of (Y2O3)0.85(CeO2)0.15(YDC) between the LSM cathode and YSZ electrolyte reduced cell resistance by a factor of ≈ 4 at 650ºC.

39. The aim of our work is to investigate the possibility of deoxygenate unsaturated renewables yielding diesel-like hydrocarbons over palladium catalysts.

40. This finding is supported by observing SEM cross sections of pure LSM cathodes sintered at 1150ºC.

41. The attraction of using the model is that it allows an estimation of the DC component of the resistance.

42. Extrapolating the mapping coordinates obtained from chromosomes length measurements suggested a localization in 16q22.

43. Substituting (-alanine for one of the pyrroles improves the binding affinity for nine base pairs by almost an order of magnitude.

44. At this point it is worth mentioning that only a few acidity constants (of protonated ligands) and stability constants (of the corresponding complexes) will be summarized.

45. It is worth citing their conclusion that the observed loss of RNAse activity in malignant tumor cells, and RNAse activation associated with tumor regression, may well be indicative of some role of the enzyme in neoplastic transformation.

46. In this respect, it is worth mentioning that the different substitutions or insertions did not modify the secondary structure or the post-transcriptional modifications which both might be peremptory for a functional RNA.

47. It is worth while mentioning here the importance of the order of adding lipase and substrate.

48. In 1973, Catlin and Cramer employed a similar strategy and succeeded in achieving the synthesis of a tetranucleotide.

49. Mg+ aids in removing this proton and thus in activating the G nucleophile.

50. We have succeeded in growing crystals of rat polymerase ( complexed with two pseudo substrates.

51. In trying to use antisense RNA to modify expression of sense RNA, a basic assumption is that the two complementary strands will form a duplexed RNA.

52. These antibodies have been very useful in identifying Z-DNA in many systems.                                                    

53. Cells should be evenly spotted on the filter by gently turning the applicator sticks on the filter.

54. By comparing the DNA fingerprints of a mother and her child, it is possible to identify DNA fragments in the child.

55. The thiol proteases are endopeptidases that differ from the serine proteases by having reactive cysteine residues.

56. A sharp depression of the interaction of netropsin with DNA by increasing ionic strength suggested markedly lower stability of this complex, whereas the duplex polymers are highly stable at extreme salt concentration.

57. On replacing the C6H5CH2- and CH3CONH-groups of acetylphenylalanine by hydrogen atoms to give the simple acetyl group, the deacylation rate drops by a factor of 104.

58. In the presence of a peracid, the N:(II) species induce oxidation of such unhindered guanines without altering the structure of the rest of molecule.         

59. The efficiency of editing base substitution errors can vary over a wide range, depending on the enzyme, the mispair and the template prime position.

60. The formation of the acylenzyme is the slow step in the reaction of saturating concentrations of amide substrates but the acylenzyme often accumulates in the hydrolysis of esters.

61. This response prevents axons from regenerating.

62. There are several complicating factors that have prevented zinc from being selected as the reagent of choice.

63. The low pKa of the histidine is presumably due to its being partly buried in a hydrophobic region.

64. Despite catalyzing the same reaction, the different classes utilize different mechanisms.

65. The difference is due to a greatly increased affinity of the ( subunit for the 3'-OH primer terminus, resulting from DNA binding by the polymerase subunit.

III

1. Finding universal unfoldings is seldom so straightforward.

2. Drawing a picture according to a derivation in a linear grammar can be done using two cursors.

3. The major concern in this paper is showing the relationship between matrix multiplication and some other problems in this class.

4. The purpose of this paper is analyzing the convergence properties to steady state both for the continuous problem and the corresponding discrete approximation.

5. There are two things worth noting here.

6. Indeed, it must somehow be true that the accuracy with which it is worthwhile solving the Riemann problem will be limited by the way we intend using the solution.

7. A recent review of this subject has developed criteria to judge whether a Monte Carlo integration is appropriate. Several points are worth emphasizing.

8. This fact cannot help influencing the nature of this phenomenon.

9. Among the very rich harvest of these new methods, lack of space prevents me from mentioning more than a few results taken from the most startling ones.

10. Feit and Thompson succeeded in proving the old conjecture of Burnside that all noncommutative simple groups have even order.

11. For instance, P.Novikov and his school have finally succeeded, by long combinatorial arguments, in constructing infinity groups G which satisfy the Burnside conditions.

12. We operate the machine by moving P slowly in the plane of the machine.

13. The examples we present are obtained by applying the Lowenheim-Skolem Theorem for week second-order languages.

14. In proving this we will have an occasion to use the lower closure theorem.

15. We can deal with the two remaining regions without performing any calculations.

16. The idea of considering differential operators on differential manifold goes back to Riemann and Beltrami.

17. One has now an explicit procedure for computing the solution of a boundary value problem (when it is unique).

18. Instead of dealing with numbers alone set theory deals with sets – well defined collection of things.

19. This conclusion does not depend on B being true.

20. The probability of this result being due to chance is 1 to 10000.
ИНФИНИТИВ

Формы инфинитива

	
	Active


	Passive

	Indefinite
	to ask


	to be asked

	Continuous
	to be asking


	-

	Perfect
	to have asked


	to have been asked

	Perfect 

Continuous
	to have been asking
	-



В русском языке имеется соответствие только для инфинитива в формах Indefinite Active и Passive, остальные перевести изолированно нельзя, употребляются редко.

Функции  инфинитива

1. Подлежащее.  Переводится неопределенной формой глагола.


 To study foreign languages is necessary.

Изучать иностранные языки необходимо.

Иногда в начале предложения имеется формальное подлежащее it, которое на русский язык не переводится.


It is difficult to answer the question.


Трудно ответить на этот вопрос.

 2. 2-ая часть сложного сказуемого. Переводится выражением "заключается в том, чтобы" или "состоит в том, чтобы" и глаголом в инфинитиве. Может передавать модальность.

His duty is to do the work in time.


Его обязанность заключается в том, чтобы выполнить работу вовремя.


Water is to be purified.


Воду следует очищать
3. Дополнение. Переводится неопределенной формой глагола или придаточным предложением.


They report to have solved the problem.


Они сообщают, что решили эту задачу.

4. Определение. Переводится инфинитивом, причастием, личной формой глагола, придаточным предложением.

He has no desire to be appointed to this post.


У него нет желания быть назначенным на эту должность.

Он не хочет, чтобы его назначили на эту должность.

The students to take part in the expedition have come.


Студенты, принимающие (которые будут принимать) участие в экспедиции, пришли.


He was always the first to answer at the exam.


Он всегда первым отвечал на экзамене.


This is the article to be referred to.


Вот статья, на которую будем ссылаться (надо ссылаться).

5. Обстоятельство. Переводится придаточным предложением, деепричастием.

a) обстоятельство цели (после союзов so as и in order).


We stopped there so as (in order) to have a rest.


Мы остановились там, чтобы отдохнуть.

б) обстоятельство следствия (после наречий too и enough).


It’s too cold to bathe in the river.


Слишком холодно, чтобы купаться в реке.


I don’t know him well enough to ask him about it.


Я знаю его недостаточно хорошо, чтобы спрашивать об этом.

в) обстоятельство сопутствующих условий  (после глаголов to form, to produce, to yield).


Hydrogen and oxygen unite to form water.


Водород и кислород соединяются, образуя воду.

Оборот

"Объектный падеж с инфинитивом"

Оборот состоит из существительного или местоимения в объектном падеже и инфинитива и переводится придаточным предложением с союзами что, чтобы,  как.

Употребляется:
1) после глаголов чувственного восприятия: to see, to hear, to feel, to watch etc. (без частицы to):

I never heard him speak English.


Я никогда не слышал, чтобы он говорил по-английски;

2) после глаголов, выражающих желание, намерение, эмоции:

I want you to help me.


Я хочу, чтобы ты помог мне.


I would like him to speak at the conference.


Я хотел бы, чтобы он выступил на конференции;

3) после глаголов, выражающих умственную активность: to know, to consider, to believe, to suppose, to expect:


We expect him to come tomorrow.


Мы полагаем, что он приедет завтра.


We consider him to be the best student in the group.


Мы считаем, что он самый лучший студент в группе.


I didn’t know them to have taken part in the expedition.


Я не знал, что они принимали участие в экспедиции.

Оборот

"Именительный  падеж с инфинитивом"
Этот оборот состоит из существительного или местоимения и сложного сказуемого, второй частью которого является инфинитив.

The delegation is reported to have arrived in Moscow.

Может переводиться двумя способами.

1-ый способ: Сообщают, что делегация прибыла в Москву.

2-ой способ: Делегация, как сообщают, прибыла в Москву.


Употребляется:

1) в основном, после глаголов в страдательном залоге:

The article is expected to be published next month.


Полагают, что эта статья будет опубликована в следующем месяце.

2) после глаголов в действительном залоге:
	to seem, to appear
	− по-видимому, казаться

	to happen, to chance
	− случаться, случайно 

	to prove, to turn out
	− оказываться 



He seemed to have forgotten about it.


Он, по-видимому, забыл об этом.


I happened to see him yesterday.


Я случайно встретил его вчера.


The experiment proved to be a failure.


Эксперимент оказался неудачным.

3) после словосочетаний:

	be likely
	− вероятно

	be unlikely
	− маловероятно

	be sure
	− обязательно, конечно

	be certain
	− обязательно, конечно



He is sure to come.


Он обязательно придет.


He is likely to know the news.


Он, вероятно, знает об этой новости.

Оборот

"Инфинитив после причастия II и слов likely, sure, certain"

Переводится аналогично предыдущему обороту (2-й способ), только со словом который.


The substance known to dissolve in water was tested.


Вещество, которое, как известно, растворяется в воде, было исследовано.


The results likely to be obtained in this experiment will be of great value.


Результаты, которые, вероятно, получат в этом эксперименте, будут иметь большую ценность.

Оборот «for + существительное (местоимение) + инфинитив»

Этот оборот  выполняет различные функции. Предлог for при переводе опускается, а весь оборот переводится придаточным предложением соответственно выполняемой  функции.

Функции
1. Подлежащее.

It is necessary for him to carry out the experiment.


Ему необходимо провести эксперимент.

2. Дополнение.


We waited for the director to sign the documents.


Мы ждали, когда директор подпишет документы.

3. Определение.

This is the article for you to translate.


Вот статья, которую вам надо перевести.

4. Обстоятельство.

He spoke distinctly for everybody to hear.


Он говорил отчетливо, чтобы все слышали.

УПРАЖНЕНИЯ

ЧАСТЬ 1

Упр. 1. Переведите на русский язык.

1. To explain this simple fact is not easy.

2. To give a true picture of the surrounding matter is the task of natural science.

3. To see the dependence, look at the graph.

4. To understand the phenomenon the laws of motion should be considered.

5. The air was rarified so as to diminish pressure.

6. The waves are too short to affect the eye.

7. This method is not accurate enough to give reliable results.

8. Molecules are too small to be seen even with the most powerful microscope.

9. Phosphorus is too active an element to be found free in nature.

10. Elements combine to produce a compound.

11. SO2 decomposes to yield sulphur and oxygen.

12. Our aim is to master English.

13. The difficulty is to solve the problem.

14. Our task is to carry out the experiment carefully.

15. These books are easy to read.

16. This element is to be found free in nature.

17. We are to study the main laws of physics.

18. Steps are to be taken to purify the substance.

19. Water is to be purified.

20. The problem to consider next is concerned with the infinitive.

21. The method to be chosen depends on many factors.

22. He is always the first to come.

23. She was the last to join the group.

24. The solution to be filtered was poured into a vessel.

25. Which method is to be chosen in this case?

26. The purpose of his paper is to discuss the data obtained.

27. The question is difficult to answer.

28. The idea was to develop a special apparatus.

29. The conference was to take place in London.

30. The author failed to show the difference.

Упр. 2. Переведите на русский язык.

1. To accomplish this work requires great skill.

2. To define the varieties of English prose style is the purpose of the chapters to follow.

3. He has gone to England in order to perfect his knowledge of English.

4. To understand this author better you should read all his earlier books.

5. The finds are too few to be spoken about.

6. The rule has been so formulated as to be easily observed by everybody.

7. All these conditions combine to make the problem very complicated.

8. Most of the population of these islands are farmers, but they do not grow enough to feed themselves.

9. Too little is as yet known of the origin of the Far Eastern peoples to enable us to determine accurately all the racial connections of the Japanese.

10. This is the main difficulty to be taken into consideration.

11. This is the rule not to be forgotten.

12. Here is the text to be read by us next time.

13. He was the first to pay attention to this peculiarity.

14. It was the first theatre to be opened in England.

15. At that period of time he was the only scientist to support this theory.

16. Our task was to prove this hypothesis.

17. Nobody was to be seen at the station.

18. The conference is to be held in summer.

19. He managed to overcome this difficulty.

20. These facts, however, fail to explain the cause of this process.

Упр. 3. Переведите на английский язык.

1. Трудно объяснить это явление.

2. Нелегко объяснить этот факт.

3. Следующий шаг состоит в том, чтобы изучить данные.

4. Цель моей статьи состоит в том, чтобы выдвинуть проблемы, которые надо решить.

5. Идея состояла в том, чтобы разработать специальный прибор для нашего эксперимента.

6. Нам необходимо проанализировать данные.

7. Метод, который будем выбирать,  должен отвечать нашим требованиям.

8. Следует заметить, что там нет кислорода.

9. Следует подчеркнуть, что использование этого вещества опасно.

10. Есть некоторые факторы, которые необходимо принять во внимание.

11. Мы провели ряд экспериментов, которые позволили подтвердить нашу теорию.

12. Наш подход позволяет преодолеть эти трудности.

13. Отсутствие реагентов не позволило провести эксперимент.

14. Для начала, скажем, что мы проводим этот эксперимент, чтобы понять исследуемый механизм.

15. Чтобы понять это явление, рассмотрим следующее правило.

16. Это метод недостаточно точен, чтобы дать надежные результаты.

17. Мы повторили эксперимент, чтобы воспроизвести результаты.

18. Томас был первым,  кто обратил внимание на этот тип реакции.

19. Они были первыми, кто предложил данный механизм на основе современных концепций.

20. Ожидаемый результат важен для наших исследований. Результат, который следует ожидать, важен для наших исследований.

Упр. 4. Переведите на английский язык.

1. Сделать выбор  трудно. Трудно сделать выбор.

2. Чтобы сделать выбор, рассмотрим следующую диаграмму.

3. Трудность состоит в том, чтобы решить эту проблему. Эту проблему следует решить.

4. Следующий шаг − проверка данных. Данные следует проверить.

5. Наша цель заключается в том, чтобы обсудить полученные результаты. Данные, которые будут получены, следует обсудить.

6. Вот список статей, на которые мы ссылались. Вот список статей, на которые будем (надо) ссылаться.

7. Элементы взаимодействуют друг с другом, давая соединение.

8. Полученные данные слишком немногочисленны, чтобы принимать их во внимание.
9. Мы сделали график, чтобы увидеть зависимость.

10. Конференция пройдет летом (должна).
Упр. 5. Переведите на русский язык.

1. The temperature was too low for the substance to decompose.

2. The tendency was for the gas to become ionized.

3. It is for you to decide.

4. It is possible for the reaction to occur.

5. The only conclusion for him to make was the following.

6. For an observation to be of service two facts must be known.

7. Here is one more important point for the speaker to explain.

8. In order for two molecules to react they must be in contact.

9. A slow molecule is a nearly stationary target for other molecules to hit.

10. What do you have to take into account for the method to be practicable?

Упр. 6. Переведите на английский язык.

1. Мне трудно об этом спорить.

2. Вам важно подкрепить теорию дополнительными экспериментальными данными.

3. Вам важно поддерживать контакт с биологами.

4. Необходимо, чтобы реакция была ускорена.

5. Естественно, что на такой анализ затрачивается около года.

6. Иногда трудно предвидеть результаты исследования.

7. Иногда вам трудно предвидеть результаты исследования.

8. Тенденция такова, что частицы движутся все быстрее.
Упр. 7. Переведите на русский язык.

1. I want my father to help me.

2. We expect this book to appear on sale very soon.

3. I saw him get off the bus.

4. Historians suppose the name "London" to come from two Celtic words.

5. In Middle Ages people believed the earth to be the center of the Universe.

6. First we thought the small island to be uninhabited.

7. We saw him cross the street and disappear into the building.

8. During the experiment we saw the temperature fall rapidly.

9. He expects his colleagues to complete the experiment in time.

10. They believe the substance to have dissolved.

11. He considers the conductivity to be due to foreign impurities.
12. We believe our joint investigation to be fruitful.

13. We expect our “round table talk” to be useful and mutually advantageous.
14.  Experiments have shown the pressure of a gas at fixed temperature to depend on its concentration.

15. We thought this law to hold for gases which are under normal conditions.

16. One may safely expect this prediction to be quite reliable.

17. I'd like you to make a careful analysis of the available data.

18. I want you to prepare tables and diagrams.

19. Some physicists assumed the planets to have been formed from a dust cloud.

20. They showed these phenomena to be related to solar activity.

Упр. 8. Переведите на английский язык.

1. Мы считаем, что вопрос решен.

2. Я полагаю, что эксперимент завершен.
3. Мы нашли, что температура является определяющим фактором в этом процессе.

4. Мы считаем, что этот процесс обратим.

5. Мы полагаем, что этот вывод неверный.

6. Мы обнаружили, что концентрация частиц изменяется.

7. Мы считаем, что эти процессы имеют много общего.

8. Мы полагаем, что анализ данных даст ответ на этот вопрос.
9. Мы показали, что согласованность результатов − это всего лишь случайное совпадение.
10. Мы ожидаем, что статьи будут интересными и информативными.
Упр. 9. Продолжите предложения.

1. Recent investigations have shown

2. He proved the hypothesis

3. We assume these changes

4. He has found the temperature

5. We consider this process

6. Most people believe

7. He reported this factor

8. We believe this conclusion

9. Recent experiments have shown

10. I expect you

Упр. 10. Переведите на русский язык.

1. The new method is believed to have given good results.

2. The new method is believed to give good results.

3. The result is expected to agree with theoretical predictions.

4. The process is shown to occur regularly.

5. This hypothesis has been found to disagree with experimental evidence.

6. There seems to be some confusion of terms in literature.

7. There appear to exist other sources of energy.

8. The method is sure to be reliable.

9. He doesn’t seem to be concerned with this problem.

10. The reaction is unlikely to take place.

Упр. 11. Переведите на английский язык.

1. Известно, что климат влияет на характер людей.

2. Найдено, что результаты этих экспериментов перекрываются.

3. Данные, как найдено, коррелируют с настоящей теорией.

4. Случайно оказалось, что он работает над той же самой проблемой.

5. Эта работа, вероятно, будет способствовать решению проблемы.

6. Он, по-видимому, упомянет об этой проблеме в своей книге.

7. Известно, что он основал свою собственную школу.

8. Он, по-видимому, не занимается этой проблемой.

9. Этот метод, который, как известно, был разработан профессором Блэком, 
успешно применяется.

10. По-видимому, существует много возможностей практического применения этого метода.
Упр. 12. Переведите на русский язык.

1. He proved to be right.

2. He was proved to be right.

3. He is said to go to Moscow.

4. He is said to have gone to Moscow.

5. Historians appear to know but little of his life.

6. The religion of the English is stated to be the same as that of the whole German family.

7. The Island of Britain is known to have been revealed to the Roman world by Julius Caesar in the year 55 B.C.

8. The peoples of all ancient civilizations are known to have made maps.

9. Latin was supposed to be the only language worthy of study, and it was studied for a practical end.

10. The interpretation seemed to be convincing.

11. The results obtained were found to be in perfect agreement with earlier findings.

12. The new method is believed to have given good results.

13. Your advice proved to be helpful.

14. Gold was proved to be unattacked by moisture.

15. They are likely to come here.

16. This phenomenon does not appear to have been studied.

17. This reaction, however, is not expected to continue indefinitely.

18. The experiment proved to be a failure.

19. He is said to be writing a new play. 

20. He is considered to be a most talented chess player.

21. Tim didn't seem to like the storm.

22. The storm seemed to be passing over a little now.

23. One of the fishermen is sure to see the ship when it goes out of the bay.

24. It seemed to be a kind of map.

25. To be on the safe side, let's take a copy of the map.

26. These dungeons seem to run all along under the castle.

27. The first entrance to the dungeons seems to begin somewhere near the little room and the other seems to start under the tower there.

28. Tim bared his teeth, but the man didn't seem at all frightened of him.

29. It's worth while buying the island.

30. Dick heard one of the men say something about the gold.

31. Dick heard them pass.

32. Anne sat on her aunt's knee and listened to George and Julian telling the whole story.

33. The thing to do is to get the gold away as quickly as possible.

34. They want to get us all together down in the dungeons.

35. Many factors are to be taken into consideration to account for this phenomenon.

36. The Siberian Branch of the Academy of Sciences was established to make better use of the vast natural resources of this part of the country.

37. The Moon is thought to have about 30.000 craters.

38. Our galaxy is thought to have originated about ten thousand million years ago.

39. There appears to be some correlation between these data.
Упр. 13. Переведите на английский язык.

1. Мы полагаем, что наше сотрудничество будет плодотворным.

2. Мы ожидаем, что наш круглый стол будет полезным и взаимовыгодным.

3. Полагают, что новый метод даст хорошие результаты.

4. Ожидают, что этот результат будет согласовываться с теоретическими предсказаниями.

5. Показано, что этот процесс происходит регулярно.

6. Найдено, что гипотеза не согласуется с экспериментальными результатами.

7. В литературе, по-видимому, имеется некоторая путаница в терминах.

8. Он, по-видимому, не занимается этой проблемой.

9. По-видимому, имеются сотни элементарных частиц.

10. По-видимому, имеются другие источники энергии, более мощные, чем термоядерные реакции.

11. Раньше считали, что атом − это твердый шарик.

12. В 19 веке полагали, что электрон − это единственная частица, меньшая, чем атом.

13. Считают, что Вселенная расширяется.

14. Этот подход позволяет преодолеть некоторые трудности.

Упр. 14. Продолжите предложения. 
1. We expect the government

2. We believe the President

3. The USA President is known

4. The Sultan of Brunei is considered

5. Robin Hood was known

6. We know Shakespeare

7. The Queen of Great Britain is assumed

8. Charlie Chaplin is regarded

9. We consider

10. The Loch Ness monster seems (doesn't seem)

11. The concept is shown

12. The process was found

13. This approach was demonstrated 

14. The situation proved

15. The effect is thought

16. The problem seems

17. The method is considered

18. The events are known

19. The idea turned out

20. He is certain 

21. The experiment is likely

22. This fact is unlikely

23. The new technique does not seem

24. This planet is likely

25. This conclusion does not appear

Упр. 15. Переведите на русский язык.

1. The purpose of my paper is to analyze the data obtained.

2. We are to analyze the data.

3. The method to be chosen depends on many factors.

4. The idea is to develop a special apparatus for the experiment to be carried out in our lab.

5. There seem to be thousands of such compounds.

6. He is said to have discovered this phenomenon.

7. Their efforts have not been reported to give any definite results.

8. We know him to have established a school of his own.

9. We know him to have objected to this style of research.

10. We do not expect him to throw the opportunity like this.

11. The results of these experiments are found to overlap.

12. He does not appear to be concerned with the problem.

13. The results turned out to be not what he had expected.

14. By that time the young man thought to be a brilliant physicist had left the laboratory.

15. For scientific development to be of benefit for man, scientists must occupy themselves with problems that have direct bearing on our lives.

16. For an idea to be transformed into a product, many people's effort is required.
17. Some scientists occupy themselves primarily with problems likely to have direct bearing on the lives of people. 
18. The scientist reported to have spent five years on the problem finally gave it up.

19. The data are assumed to correlate with the present theory.

20. He happened to work at the same problem.

21. The model is unlikely to fit well.

22. The advantages of such an approach are evident enough to be taken for granted.

ТЕСТ
Выберите нужную форму глагола.

1. Young people often fail … a well-paid job.

a) finding
 


c) to find
b) find 




d) in finding
2. The English colony, Plymouth in Massachusetts, is known  …  by the Pilgrims

who arrived on the Mayflower in 1620.
a) to be established 


c) to have been establishing

b) to have established 

d) to have been established

3. Look, they are likely … to the news. 
a) to be listening 


c) to have been listening 

b) to listen 



d) to have listened

4. Everybody heard him … that in so many words.
a) to say 



c) to have said
 

b) say 




d) to be said
5. When I came in, the discussion seemed … to an end.
a) to have been coming

c) to come

b) to be coming 


d) to have come
6. While I was going home I heard the bomb …. .
a) exploding 



c) explode
b) exploded



d) to explode
7. The doctors don’t allow ….  .
a) him to smoke 


c) for him to smoke
b) to smoke 



d) him smoke

8. They expected the meeting …   in a conference hall.
a) to hold 



c) holding
b) to be held



d) to be holding
9. What makes him  …  so jealous of his friends’ success?
a) to be 



c) be
b) being



d) to have been
10. Her parents never let her  …  a flat.

a) renting 



c) to renting
b) to rent



d) rent

11. I want my cousin …  the work as soon as possible.
a) finishing 



c) finishes
b) to finish



d) finish
12. When he entered the lab he watched the assistant   …   measurements of the sample.

a) in making



c) make
b) to make


 
d) made
13. Water was considered  …  an element.

a) being 



c) to be    
b) be 




d) is
14. The Greeks seem  …  the first lens.

a) to manufacture 


c) manufacture
b) to have manufactured

d) to be manufacturing

15. They appear    …   strong ionization.

a) to have applied 


c) to  have been applied

b) apply 



d) to be applied

16. Only a limited number of reactions are known    …    by light.

a) to influence 


c) to be influencing
b) have influenced 


d) to be influenced

17. They can hardly be said    …    this phenomenon.
a) discover 



c) discovering
b) to have discovered


d) to be discovered
ЧАСТЬ 2
Переведите на русский язык.

1. To solve this problem is to make the bash shell automatically logout after not being used for a period of time.

2. The aim of this paper is to perform spectral analysis of the Lockman Hole sources.

3. The purpose of this paper is not to describe in detail the converters which are used for the necessary conversions, but to demonstrate how it is possible to synthesize different converter structures.

4. Another approach is to measure the betatron frequency as the beam intensity is varied.

5. The goal is to calculate the electric and magnetic fields of the radiation received by an observer.

6. Mixing matter with antimatter may enable materials to be examined in unprecedented detail.

7. This allowed certain of the high-level reconstruction results to be stored after computation.

8. The discovery of the Lyman alpha break in the spectrum of high-redshift objects enables more and more high-redshift galaxies to be recognized.

9. The spin rotator can be considered as a very large defect which causes the spin –orbit coupling integrals to become large.

10. Alternatively, the excitation energy of the atom may be transferred directly to one of the outer electrons, causing it to be ejected from the atom.

11. The sample of material to be studied is vaporized and ionizes.

12. The transitions to be discussed do not change the quantum number n and we may therefore limit ourselves to functions of the form.

13. Another effect to be taken into account is bremstrahlung, causing heavy energy losses of electrically charged particles of smaller mass.

14. This unit is called for reasons, to be discussed later, radiation length.

15. This was the first accelerator to have the entire magnet evacuated.

16. The operation of any radiation detector basically depends on the manner in which the radiation to be detected interacts with the material of the detector itself.

17. In order to get a large enough kick to cause depolarization the beam must go through many revolutions.

18. To understand it a minimum knowledge of the terminology of graph theory is necessary.

19. We also use the facility in a vacuum vessel to avoid the effects of air turbulence.

20. We have checked that the fit windows are small enough so as not to introduce a systematic bias from this procedure.

21. In the meantime, several textile machinery manufacturers have joined together to form the “CAN Textile Users Group”.

22. Now restart your network for the change to take effect.

23. However, for the system to function properly, the power supply must be synchronized to the system clock.

24. An alternative approach to protecting privacy is to make it difficult, if not impossible, for anyone to collect the information.

25. The cluster seller expects AMD chips to be used increasingly often in the future.

26. In general, for typical storage rings, we expect depolarizing effects to be at their smallest when the orbit of the particles in the ring is flat and goes through the centre of all quadruple magnets.

27. Since this effect is the result of a short detector, one would expect these angular effects to be absent in the longer 155-module detector, on which a particle is unlikely to channel for the entire length.

28. This finding was found to be independent of substrate temperature.

29. For calculation of the pseudo masses all tracks are assumed to originate from charged pions.

30. The method was reported to be used to monitor on-line industrial processes.

31. The pulsed mode of gun operation was expected to improve the situation.

32. The quasi-stellar objects are thought to be associated with the growth of big black holes in the inner parts of the first galaxies.

33. Details of the beam pulse shape are not found to be important in predicting the electron density at the end of the ion beam pulse.

34. The assertion of homogeneity seems to be so important that it was called “the cosmological principle”.

35. The rest of the grains appeared to be much smaller than 100 nm.

36. In addition, there appears to be some disagreement between the measurement and the calculation.

37. Similar conclusion proves to be correct for all other models discussed above.

38. Kaon decays may still prove to be a valuable source of new information on some of the remaining fundamental questions in particle physics.

39. The Breit-Wigner formulation turns out to approximate locally this real part by a constant which corresponds to the mass given in the Review of Particle Properties.

40. To our knowledge, only those ions which happen to be present in the scattering volume have a certain chance to enter the analyzer.

41. Sources that are physically thicker are subject to “self-absorption”, which is likely to affect both the number and the energy spectrum of the radiations that emerge from its surface.

42. This is, at the moment, only a hypothetical particle and is unlikely to be detected experimentally for many years to come.

43. Analytic calculations of the scaling of the free-mode energy in this context do not appear to have been undertaken.

44. In practice however a wiggler is likely to contain multipole field errors that can give rise to further beam dynamics effects.

45. At this year’s International Astronomical Union conference in Manchester, attention was focused on new high-resolution studies of some of the most energetic objects known to exist.

46. The physics of hadrons was a topic of intense study long before the gauge field theory of quantumchromodynamics (QCD) now believed to describe it completely was invented.

47. To summarize, the spin-orbital vector becomes large on resonance, causing a significant reduction of polarization.

48. To be on the safe side, the latter is used as the final systematic error.

49. Many general reference works are available concerning this broad topic, the classic text by Evans, to mention only one, has served as a standard reference over several decades.

1. Both catalysts have been shown to be effective in producing syngas.

2. Doping with traces of sulphur or with small amounts of metals that concentrate on the nickel surface is found to reduce significantly the formation of coke.

3. Industrial operating conditions are adjusted to avoid coking on the basis of such calculations.

4. The benefit to be obtained makes such control more than worthwhile.

5. Carbides are known to be formed on cobalt and iron under similar conditions.

6. To minimize the amount of dopant needed, attention was focused on metals of the correct electronic structure.

7. The Chinese were the first to recognize the advantages of adding heavier rare earth oxides to the catalyst.

8. For renewable fuels to be successful in the market, they must have similar properties to conventional fuels.

9. The first theory to explain the chemical effects of plasma was “cluster theory” proposed by Lind in 1928.

10. A transition that is forbidden by the selection rules is expected to have no absorption intensity, and it will therefore be unlikely to cause photochemical conversions which involve the excitation of such a transition.

11. These methoxide ions could either react with water to form methanol or they could decompose to form formaldehyde.

12. One of the objectives of this study was to demonstrate that the active state of molybdenum was Mo2C.

13. Variation of the original purging conditions allows a distinction to be drawn between sites on which hydrogen atoms are strongly absorbed and those on which they are weakly held.

14. A full analysis of the large SSITKA data is too complex to yield any unambiguous conclusions and thus was not attempted.

15. IA mixed conducting oxide provides multiple pathways for the oxygen ions to migrate to the electrode/electrolyte interface.

16. It is possible to solve the crystal structures of the co-crystallized complexes of trypsin.

17. Our goal is to achieve binding to 12 base pairs at subnanomolar concentrations. 

18. The main aim of this work is to investigate the effect of the micellar environment upon the structure of three related enzymes.

19. Such specific deletions and insertions are not always easy to obtain.

20. Protein-DNA binding is terribly important, but chemically extremely complicated to predict.

21. The decrease in dehydrogenation selectivity as the conversation increases is to be expected due to secondary reactions.

22. Such a detailed view of the active site in the ternary complex allows us to propose a two-metal ion mechanism for the nucleotiolyl transfer reaction.

23. The affinity cleaving method allows the effect of reaction conditions, probe length, and single base mismatches on triple helix formation to be analyzed on high-resolution gel electrophoresis.

24. In addition, the chemical reactions allow one to assign interactions to specific atoms and to distinguish secondary interactions from tertiary ones.

25. The techniques of cloning enable single recombinant molecules of DNA to be selected and amplified and hence relatively rare events can be identified almost as easily as more common events.

26. The high mischarging capacity of the tRNAVal preparation enabled us to carry out the first initial rate kinetic studies in a misacylation reaction.

27. Removal of a nylon adherent T cell population from the poly-treated cell population will permit an immune response to take place.

28. To probe how long a stretch of DNA the polyamides can recognize, the chemists constructed a series of dimers of varying length. 

29. A similar approach was used to control synthesis of various proteins.

30. She and her collaborators are using nickel and cobalt complexes to probe the conformation of guanine residues in DNA and RNA structures.

31. In order to test the importance of sequence similarity for triple helix formation and cleavage, we synthesized two probes.

32. To determine the partitioning of enzyme between these two template-primers, activity on the homopolymeric substrates was followed.

33. DNA fingerprints can also be used to study chromosome and DNA changes in cancer.

34. It has been maintained that, in general, these hydrolysis rates are too low to account for the observed specificities, and that the hydrolysis is nonspecific.

35. It was determined that the reaction of both axially and nonaxially liganded porphyrines was too rapid to be measured by either method.

36. Neither fragment contains enough of the anticodon helix to form internal hydrogen bonds.

37. The kinetic and structural data may be combined to give the following qualitative description of the mechanism.

38.  Sulfur dioxide reacted slowly upon a water suspension of p-benzoquinone-dibenzenesulfonimide to reduce it gradually to the diamide.

39. 2,3-Diphenylmercapto-p-benzoquinonedibenzimide added hydrogen chloride to give the 2,3-diphenylmercapto-5-chloro diamide.  

40. More significant for the work to follow, however, were Miescher’s subsequent investigations.

41. Ura-DNA glycosylase was the first of many DNA glycosylases to be discovered in extracts of E coli.

42. In this catalytic pathway ATP is the first substrate to be added to the enzyme, isoleucine the second and tRNAIle the third one, pyrophosphate is the first product to be released, isoleucyl-tRNA the second and AMP the last one.

43. Gordon et al. were the first to systematically examine the behaviour of nucleosomes in a very dilute salt   solution.

44. Here the olygonucleotide is designed to pair with sequences on both sides of the sequence to be deleted and again acts as a primer for synthesis of the second DNA strand.

45. It now seems clear that base-pair sequence not only codes for the proteins to be expressed but also contains vital control information.

46. Some side reactions are known to occur under these coupling conditions.

47. The HMG proteins are generally considered to be minor but not insignificant components of chromatin.

48. Two different excision-repair mechanisms are known to exist for the removal of nonconventional residues from DNA.

49. The porhyrin was found to crystallize in the space group and to have a precise center of symmetry.

50. The rate of transcription is thought to be about 60 nucleotides per second.

51. This period of time before all division is believed to ensure complete repair of DNA.

52. Pyroglutamate is known to be formed from both glutamate and glumatine by enzymatic as well as nonenzymatic cyclization of these amino acids.

53. FSBI is expected to bind only to the catalytic site of F1, as ITP does, which brings additional evidence that Tyr 345 is at catalytic site.

54.  Since benzoate is not expected to quench the tryplet of benzophenon, this result indicates that the triplet state is not directly involved in cleavage.

55. Thus, the complex seems to be reversible.

56. In this regard, clusters of charged residues seem to be a frequent   feature of the epitopes bound by autoantibodies.

57. However, the exact structures attached to the antibody seem to vary with both the particular cell line and the growth condition. 

58. The high molecular RNAse seems to be distinct from the low molecular mass RNAse present in milk plasma.

59. At first glance it seems to be unusual that a structural analogue of ATP and an analogue of isoleucine cause the same affects.

60. The second possibility seems to be unlikely since preincubation of the enzyme at 37(C in the reaction buffer prior to the assay did not eliminate the lag.

61. For isoleucyl-tRNA-synthetase, a proofreading process seems to be necessary because tRNAVal and tRNAIle are perhaps very similar in their recognition sites.

62. The model differs from most of the former models by the fact, that the binding site does not exactly seem to be adjusted to the length of the threonine side chain.

63. On the other hand, there seem to be cases where IFTA assumption works well, even if cycles appear.

64. Core-containing minisatellites appear to be recombination hotspots.  

65. In the absence of a resistance gene, however, compatibility appears to be basic.

66. More recently, Nielsen et al. have reported on a highly modified oligonucleotide structure that appears to bind to DNA with very high affinity.

67. Demeclocicline appears to be the most phototoxic according to clinical studies.

68. There appeared to be present very small amounts of isomers which were not isolated or identified.

69. T cells do not appear to be required for the nitrogenic effect.

70. Of these eukaryotic cellular polymerases, DNA polymerase(, which has been suggested to be involved in DNA repair, appears to be the most useful in elucidating the structure-function relationships.

71. For Zn2( a more even distribution between the N-1 and N-7 sites of adenosine appears to occur, while Mn2( possibly prefers the N-1 site.

72. 58. For a more detailed investigation of the DNA folding   process, electro-optical techniques proved to be useful.

73. The use of modified tRNAs which have proved to be a valuable tool in other areas was the basis for these investigations. 

74. Sometimes a chloroform solution of hydrozoic acid proved to be advantageous.

75. One evening in February 1973, we happened to look closely at some negatively stained nuclei.

76. The core sequence is most unlikely to be the sole mediator of recombination.

77. Mutation is more likely to impair the expression of genetic information than to restore it.

78. Weber and Salemme observed only right-handed cylinders in the study of proteins known to form fourfold L-helical bundles.

79. By contrast, the holoenzyme was discovered as a biochemical manifestation of factors known to play important roles in the regulation of transcription in vivo.

80. It seems hardly coincidental that viral reverse transcriptase is the only DNA polymerase of mammalian origin known to possess an associated exonuclease activity.

81. Lindberg’s results, together with the present data, show the protein to be a single chain of about 270 residues with leucine at the NH2-terminal position and two disulfide bonds.

82. For such investigations to be informative, the experimental dependence of the fraction of nucleosomes packed in the higher-order structure on the amount of bound H1 must be determined.

83. For reaction to occur the carbonyl oxygen must swing into the hydrogen bonding site between Ser-195 and Gly-193 and the bound water molecule must attack the carbonyl carbon.

84. For nucleophilic catalysis to be efficient, the nucleophil must be more nucleophilic than the one it replaces, and the intermediate must be more reactive than the parent compound.  
III
1. To acquire an income necessitates certain activities resulting in certain costs.

2. One possibility is to use operators at the boundaries, another to perform some sort of extrapolation.

3. The same thing holds in the example we are about to consider now, where X, Y, Z are the sides of a random prism.

4. Our second strategy employed the notion of a stencil to decompose the addressing scheme of the data graph, so as to obtain a natural partition of the cell set into finite pages.

5. To have a finite-variance Monte Carlo calculation, we must change the method of sampling.

6. We know the question to be settled in the following sections is the extent of this dependence.
7. If the matrices to be multiplied are Boolean rather than numerical matrices, same results hold for the lower bounds if  bit operations rather then four basic arithmetics are counted.

8. To begin, we put  f  (false) on the stop list.

9. To be precise,   C  is the set of partial functions from  Z1  to  Z2.

10. This example offers the opportunity to address a problem that is known to arise in the equational logic.

11. The eigenvalues are found to be the roots of the equation.

12. Such a system is said to have two different time scales.

13. Here  A  is the Jacobian matrix, which is assumed to have only real eigenvalues and a complete set of linearly independent eigenvectors.

14. A numerical scheme that can be proved to accept only stable discontinuities is said to be an “entropy scheme”.

15. Outgoing waves are found simply to disappear without reflection.

16. In such cases the result is very rewarding; we obtain a simple expansion which is likely to be very helpful.

17. On the other hand, as we will see very soon, for time-bounded computations the question of  nondeterminism versus determinism leads to the key open problems of complexity theory, which also turn out to be profound questions about the quantitative nature of mathematics.

18. The exact definition of  R  does not seem to be critical.

19. The collapse of the polynomial hierarchy has been used as an indicator of what is not likely to be true.

20. Yet, a unifying approach, where all of these phenomena can be dealt with, does not seem to have emerged.

21. It is therefore not surprising that they turn out to be a powerful tool in the study of analytic functions.

22. Resources already known to exist will be supplemented to an unknown extent by new discoveries in the future, as they were in the past.

23. We define our computing scheme to be conservative, if the mass increment, having been subdivided in any arbitrary way, is distributed over the various nodes of the grid without any residue remaining unaccounted for.

24. For a dense linear ordering to be suitable, it must have a sufficiently large group of automorphisms.

25. Every subgoal in a query must be solved for the query to be solved or proven.
УСЛОВНЫЕ ПРЕДЛОЖЕНИЯ

Условные придаточные содержат указание на условие, от которого зависит осуществление того, о чем говорится в главной части. Присоединяются к главной части посредством союза if. Вместо if могут использоваться другие союзные средства:

	providing (provided)
	 - при условии, что

	in case
	 - в случае, если

	suppose (supposing)
	 - предположим, что

	but for
	 - если бы не



Условные предложения бывают трех типов.

1. Реальное условие
Предложения, выражающие реальное условие, относятся к будущему времени и могут выражаться тремя способами. 
1. If he comes, I will tell him about it.


    Если он придет, я ему скажу об этом.

2. If he should come, I will tell him about it. (меньшая вероятность)

3. If he come, I will tell him about it. (употребляется в письменной речи)

2. Малореальное условие

Предложения, выражающие малореальное условие, относятся к настоящему и будущему времени. 
В переводе появляется частица бы.

If I saw him tomorrow, I would tell him about it.


Если бы я увидел его завтра, я бы сказал ему об этом. (Подразумевается, что это маловероятно).


If he were here, he would help us.


Если бы он был здесь, он бы нам помог.


If I were you, I would do it immediately.


Если бы я был на вашем месте, я бы сделал это немедленно.

3. Нереальное условие

Предложения, выражающие нереальное условие, относятся к прошедшему времени. 


If I had seen him at the conference yesterday, I would have told him about it.


Если бы я увидел его вчера на конференции, я бы сказал ему об этом.

But for him, I would not have finished my experiment.

Если бы не он, я бы не закончил свой эксперимент.
4. Смешанные случаи

Одним из смешанных случаев является выражение формальной просьбы.


I would be grateful to you if you would send me your  paper.


Я был бы вам очень благодарен, если бы вы прислали мне свою статью.

5. Бессоюзное соединение
Иногда придаточное условия вводится без союза. Тогда на первое место выносится глагол. Переводится также условным предложением.


Should he come, I will tell him about it.
            Если он придет, я ему скажу об этом. 


Had I seen him, I would have told him about it.

Если бы я его увидел, я бы ему сказал об этом.

УПРАЖНЕНИЯ

ЧАСТЬ 1

Упр. 1. Переведите на русский язык.

1. If it rains, the roads get slippery and dangerous.

2. If we work hard, we’ll finish the project on time.

3. If I met Brad Pitt, I would ask him about his next film.

4. If I had been more careful, I wouldn’t have made such a big mistake.

5. If he should turn up, tell him to wait for me.

6. If I were you, I wouldn’t travel on my own.

7. If you lend me some money, I will buy that book.

8. Should he fail to be re-elected, it would be a great disappointment for him.

9. Were he more careful, he would make fewer mistakes.

10. Had she been asked, she would have given her permission.

11. If we go for a walk, we will take the dog with us.

12. But for your advice, I wouldn’t have been able to solve my problems.

13. Providing we are paid overtime, we will agree to work Saturdays.

14. Suppose you were fired, what would you do?

15. Unless you help me, I won’t cope with my task.

16. The experiments show agreement with the theory provided the conditions are met. 

17. The system will fail to perform, unless the requirements are satisfied.

18. If I were you, I would recheck the results.

19. Had we had the time, we would have tested the sample twice.

20. If my aunt had been a man, she would have been my uncle.

Упр. 2. Продолжите предложения.
1. I would be surprised if
2. I would be angry if
3. If I were him,
4. If I were you,
5. What would happen if
6. I wouldn't mind living in London if
7. We would live happily if
8. This soup would taste better if
9. I would buy that book if
10. If I hadn't been so tired,
11. The accident wouldn't have happened if
12. I wouldn't have become a researcher if
13. If I had brought my camera,
14. If I had a million dollars, 
15. If I had a million roses, 
16. If I didn't go to work tomorrow, 
17. If you listen carefully, 
18. If I were the President of our country, 
19. If I had a chance of traveling around the world 
20. If I had taken my mother's advice, 
21. If I were not so lazy, 
22. If I had worked harder, 
23. If I pass my exams successfully, 
24. If I go to London, 
Упр. 3. Продолжите предложения.

1. If you had come yesterday, 
2. If I had accepted that job, 
3. If the USA had been a poor country, 
4. If I hadn’t forgotten to say “Happy Valentine!” to her, 
5. If I had bought a diamond ring to her, 
6. If I had kissed him, 
7. If I hadn’t got married, 
8. If I hadn’t had an argument with him, 
9. I would study English better if 
10. I’ll be famous if 
11. I would answer your question if 
12. If I knew grammar better, 
13. If you sent me a message, 
14. All your problems would be solved if 
15. If the theory were correct, 
16. If I lived nearer, 
17. If you correct your mistake today, 
18. I will translate the text if 
19. I would be glad if 
20. I’ll go to the party if 
21. If you help me, 
22. If we finish the project on time, 
23. If I were you, 
24. But for you
25. I would be furious if 
26. I would be astonished if 
27. I would be grateful to you if 
28. Would it be convenient if 
29. Would you mind if 
30. I would go to the conference if 
Упр. 4. Закончите предложения.
1. I would have regretted it if 

2. If things were different, 

3. If I had met her earlier, 

4. You won’t find a job if 

5. I’ll love you forever if 

6. If you do that again, 

7. I would have changed my life if 

8. I would not have had any problems if 

9. If I had found a better job, 

10. If I need your help, 

11. You would have got a 5% discount if 

12. I would be able to help you if 

13. I wouldn’t be upset if 

14. If your work had met these conditions, 

15. If conditions are favourable, 

16. We would start the work earlier if

17. We would have started assembling much earlier if

18. We would have finished this project earlier if

19. We would have obtained better results if

20. All our problems would be solved if

21. If the installation had worked properly,

22. If I had known about it earlier,

23. If it were possible to measure such a pressure,

24. If it were possible to measure the weight,

25. If I miss the bus,

26. If you had given me a message,

27. If I see him,

28. I would have met you if
Упр. 5. Переведите на английский язык.

1. Если бы я был на твоём месте, я бы сделал это немедленно.

2. Если бы он был здесь, он бы нам помог.

3. Если бы у меня было время вчера, я бы пошёл с тобой на вечеринку.

4. Если бы я знал её электронный адрес, я бы пригласил её на наш семинар.

5. Если он переедет в Оксфорд, он будет поступать в Оксфордский университет.

6. Если ты придёшь пораньше, мы успеем на концерт.

7. Если бы эти факты были нам известны в то время, это значительно изменило бы направление нашей работы.

8. Если бы мы работали совместно с биохимиками, наши результаты были бы более интересными.

9. Если бы мы подошли к этому вопросу с другой точки зрения, то не потратили бы столько времени зря.

10. Если бы это объяснение было правильным, оно не противоречило бы полученным результатам.
11. Если бы было изменено хоть одно условие, нам не удалось бы воспроизвести результат с такой точностью.

12. Если мы попытаемся систематизировать всё, что известно по этому вопросу, то данные будут немногочисленны.

ТЕСТ
Выберите нужную форму глагола.

1. They  …  their plane if they had not woken up late.
a) would not miss 


b) would not have missed

c) did not miss 


d) will not miss

2. If he were careful, he  …  things.
a) would not break 


b) would not have broken

c) did not break 


d) will not break
3. If the scientists  had arranged   the experiment properly, they  …  better results.
a) have got



c) would have got
b) got 




d) would get
4. What would you have done if you  …  the exam?

a) will fail 



c) had failed
b) fail 




d) would fail
5. Provided you  …   you   will succeed.
a) don’t worry



c) are not worry
b) didn’t worry


d) will not worry
6. Nick would continue his education abroad if he  …    money to pay for it.

a) had 




c) had had
b) have had 



d) has
7. It would have been a nice thing if you   …  our meeting yesterday.
a) attended 



c) would attend


b) had attended 


d) could attend
8. If a passer-by hadn’t helped us, we   …   the way.
a) will not find 


c) would not have found
b) would have 


d) did not find
9. If the soil   …   dry, practically very little, if any, water absorption takes place.
a) is 




c) was
b) will be



d) were
10. If he were better educated, he  …  the job.
a) will get 



c) got
b) would get



d) had got

11. If we   …  then what to do, we would have acted decisively.
a) knew 



c) know

b) had known 



d) would know
12. Were he here now, he   …   us.
a) will defend 



c) defended

b) had defended 


d) would defend
13. Students  …  a lot if they didn’t have to take exams from time to time.
a) would forget 


c) forgot

b) are forgetting 


d) will forget
14. If he had all the necessary materials, he   ….. his model in time.
a) would accomplish 


c) will accomplish

b) would accomplished 

d) accomplished

15. The plan would not have been fulfilled in time if the people  …. with such

energy.
a) did not work 


c) had not worked

b) would not work 


d) were not working
16. If I had known the truth, I  …. it.
a) wouldn’t do 


c) wouldn’t have done

b) haven’t done 


d) wouldn’t had done
ЧАСТЬ 2

Переведите на русский язык
1. If we examine a large number of such pulses, their amplitudes will not all be the same.

2. Should lightning-impulse stress occur, layer windings will ensure an optimal voltage distribution with few oscillations.

3. Should the cover be removed, its interlock contacts will cause the power converter to be switched off.

4. If water is substituted for the air, its absorption properties per unit mass do not differ greatly because the average atomic number of water is much the same as that of air.

5. If the interaction does not occur within the detector, these uncharged radiations (e.g., neutron or gamma rays) can pass completely through the detector volume without revealing the slightest hint that they were ever there.

6. For example, if an energy calibration is to be carried out for   electron detectors, it is much more convenient to use a source of monoenergetic electrons.

7. In absence of the external force, this work corresponds to the energy loss (or gain) of the charges, provided that the velocity of the charge does not change significantly.

8. It can be shown that the range of a charged particle in a compound material can also be estimated provided its range is known in all the constituent elements.

9. We find that, of the models considered, only that proposed by Bando et al. is able to consistently account for all information, provided one allows its parameter A to vary from the usual value of 2 to 2.4.

10. If neutrinos (or antineutrinos) were present after the decay to cancel the additive separate lepton numbers of the electron and muon, the decay would not violate anything.

11. If all the default conditions were satisfactory for the problem, only the mnemonic SDFF would be required.

12. W and D would be diagonal if there were no isospin-violating effects.

13. If such analyses were used in dynamic translation, high performance degradation would be experienced during the translation.

14. Calibration would be extraordinary difficult were it not that Nature herself supplies the means through the phenomenon known as aberration of starlight.

15. If the full Lagrangian statistics of the flow were known, then the particle dispersion could be calculated.

16. If the sum of these three angles were known, the mass of the lepton could be reconstructed.

17. Were the same wire to be annealed at 700 - 800˚C for a few hours, the J may drop by an order of magnitude, leaving T and B basically unchanged.

18. Had those first authors given their results more thought, they too might reverse their conclusion.

II

1. If catalysts occupy these sites, the rate of sintering will be affected.

2. If catalysts react with the support to form a new chemical compound, then the reorganization of the new compound will be involved.

3. It is clear that if we wanted to consider higher average loadings, we would need to increase the upper limit on the loading of a given cage.

4. If these variables were unrelated, the probability would be 0.01.

5. If such aberrant coding were due to the differential modification of tRNAs, this modification would be expected to be most noticeable in these tRNAs.

6. If this simplification were the only reason for the deviation, however, the difference of these binding constants would be surprisingly large.

7. If this were the case for the dicarboxylic amino acids, one would expect that RNAse hydrolysis of the aminoacyl-tRNAs would produce two isomeric amino-acyladenosines for each of these aminoacids.

8. Even this low level would not be required in the cytoplasm if the oligonucleotide could gain access to the nucleus.

9. Thus, the observation that mutation or chemical modification of residues at many different locations within the polymerase cleft has an effect on DNA binding is as expected; indeed, it would be surprising if this were not so.

10. Extension from a misaligned DNA molecule could occur if the template were to "collapse" around the lesion site, placing the primer terminus opposite the template base to the 5'- side of the lesion.

11. Evidently, tRNAs with certain combinations of mutations could be isolated only if they exhibited a very low tRNA level, or could be maintained only under conditions of reduced efficiency.

12. If KBL were of similar magnitude as KAL, a plot of 1/Kp against (L( would not be linear, but would show a deviation resulting from the quadratic term in Eq.(7).

13. The complex activity profiles shown by lipoxygenase in reverse micelles would be easier to interpret if the changes in the phase where the enzyme is active could be followed. 

14. If free hydroxyl radicals were generated in solution by the S, 10-phenanthroline-copper system, DNA cleavage would be observed as is the case for ferrous-EDTA.

15. The existence of the z-DNA structure, first observed at high salt or alcohol concentrations, would be of little interest to the molecular biologist, but for two observations.

III

1. If this is the case, the value of the quotient will be determined by continuity.

2. Provided that the integral can be differentiated under the sign of integration we find the following.

3. Lagrange problems are said to be autonomous provided the functions f are independent of time.

4. If such a neighbourhood were free from points of  γ, n (γ, z) would be defined and constant in the neighbourhood.

5. Thus, any coefficient would be topologically allowed if T and l were chosen appropriately.

6. Were x=0 conjugate to x=τ  there would exist a nonnull solution such that η(0) = η(τ)=0.

7. Obviously, greater coherence would be achieved if we defined normal families of meromorphic functions with the help of uniform convergence on the Riemann sphere.

8. This graph is acyclic, for if there were a cycle, all nodes on the cycle would be in the same strongly connected component.

9. Had we used the stronger stop criterion 2 (non-strict instantiation), the partial evaluator would have produced the same code as in Figure 3.

10. Conclusion: everything can be represented linearly provided one takes a sufficient number of dimensions.
СОСЛАГАТЕЛЬНОЕ НАКЛОНЕНИЕ


Сослагательное наклонение обозначает предполагаемое, желательное, возможное действие.

Формы сослагательного наклонения
I. Subjunctive I (Subj.) имеет 3 формы;

1. Present Subj.  совпадает с инфинитивом глагола без частицы  to, в 3-м  л. ед. ч. 

     не имеет окончания -s:  I be, I have, he be, he have.

2. Past Subj.  совпадает с Past Indef. глаголов, глагол to be в основном имеет только форму were: I were, I had. 

3. Past Perfect Subj. совпадает с Past Perfect глаголов:  I had had, I had been.

II. Subjunctive II имеет формы:
1. should (would) + Indef. Inf. (без to).


(should come)

2. should (would) + Perf. Inf. (без to).


(should have come)


Передается на русский язык глаголом в прошедшем времени с частицей бы, или без частицы бы, если эта частица уже имеется в составе союза если бы, чтобы.
Употребление Subjunctive Mood

I. Формы Pres. Subj. и should + Inf. (взаимозаменяемы, но Pres. Subj. чаще употребляется в письменной речи)

1) в придаточных подлежащих, начинающихся с союза that после оборотов с формальным подлежащим it:

It is necessary that he take (should take) measures at once.


Необходимо, чтобы он принял меры немедленно.

2) в придаточных дополнения, с глаголами to order, to demand, to suggest:

I suggest that we carry out (should carry out) this experiment.


Я предлагаю, что бы мы провели этот эксперимент.

Я предлагаю провести этот эксперимент.

3) в придаточных условия I типа: 


If he come (should come), he will do it.            
    Переводить следует изъявительным наклонением


Если он придет, он это сделает.

4) в придаточных цели, после союза lest  "чтобы не": 


Write down my address lest you forget (should forget) it.


Запиши мой адрес, чтобы ты не забыл его.

После других союзов Pres. Subj. не употребляется.


Give me you address so that I should send you my paper.


Дай мне свой адрес, чтобы я послал тебе свою статью.

II. Формы Past Subj. и Past Perf. Subj.

1) в придаточных условия II и III типа: 


If I saw him, I would tell him about it.

Если бы я увидел его, я бы сказал ему об этом.


If I had seen him yesterday, I would have told him about it.

Если бы я увидел его вчера, я бы сказал ему об этом.

2) в придаточных сравнения с союзами as if, as though:


It was so cold as if it were winter.


Было так холодно, как если бы была зима.


I remember the story so well as though I had just read it.


Я помню этот рассказ так хорошо, как если бы я только что прочитал его.

Если оба действия в предложении одновременны, употребляется Past Subj. Если второе действие предшествует первому, употребляется Past Perf. Subj.

3) в придаточных предложениях после глагола wish для выражения желания или сожаления. Перевод:  Я хотел бы ...    Жаль, что ...


I wish I knew how to do it.


Я хотел бы знать, как это делать.


I wish I had done it.


Жаль, что я не сделал этого.


I wish I had not done it.


Жаль, что я сделал это.

III. Формы Subj. II. 

                 Would   употребляется:
1) в простых предложениях:


It would be difficult to carry out this experiment.


Было бы трудно провести такой эксперимент.

2) в главной части условных предложений: 


I would ask him about it if I met him.


I would have asked him about it if I had met him.


Я бы спросил его об этом, если бы встретил.

3) в предложениях, выражающих вежливую просьбу:
I would like to talk to you.

Я хотел бы с вами поговорить.

4) со словами, выражающими некоторую степень нереальности (possibly, probably, perhaps):
Possibly, the salt would decompose even more easily.

Возможно, что эта соль будет разлагаться еще более легко.

5) часто употребляется в именительном падеже с инфинитивом после глаголов в    действительном залоге:
The reaction would appear to involve a rearrangement.

Реакция, по-видимому, включает перегруппировку

Should  употребляется:

1) в уступительных предложениях:


However difficult the problem should be we'll  try to solve it.


Какой бы трудной ни была эта задача, мы попытаемся ее решить.

2) в вопросах, выражающих недоумение:

Why should I do it?

Почему же я должен это делать?

IV. Subj. II с вспомогательными глаголами may/might

      Вместо формы should + Inf. может стоять форма may/might + Inf. В этих случаях глаголы may/might не переводятся. 

Strange as it may seem 

However strange it may seem

 the explosion doesn’t take place.
No matter how strange it may seem  
Как бы странно это ни казалось, взрыв не происходит.


Whenever you may come I'll be glad.


Когда бы вы ни пришли, я буду рад.

УПРАЖНЕНИЯ

ЧАСТЬ 1

Упр. 1. Переведите на русский язык.

1. It would be timely to renew our contacts with this laboratory.

2. It would be very useful to stimulate researchers’ interest in this problem.

3. It would be natural to put the question of data validity.

4. It would be interesting to see whether our principle will work in other cases.

5. It is desirable that cooperation among research centers be encouraged.

6. It is essential that fundamental research should receive adequate attention.

7. It is desirable that the program be re-examined.

8. He suggests that representatives of all branches of science be invited to work in this committee.

9. He also suggests that a national committee be set up to consider the ways of improving organization of research.

10. Modern research requires that more sophisticated installations should be introduced.

11. Modern research demands that more precise instruments should replace out-of-date equipment.

12. Describe the aim of your experiments so that we should have an idea of what you are working at.

13. What must be done so that the experimental errors should be minimal?

14. However tempting such an idea may seem, it cannot be taken seriously.

15. However sophisticated the task may seem, it is worth solving.

16. Whichever of these methods we may use, the result will be the same.

17. Whatever the outcome may be, this is worth trying.

18. I wish we had everything necessary for our work.

19. I wish the results had not been so controversial.

20. I wish we had had more information about this phenomenon.

Упр. 2. Переведите на английский язык.

1. Я хотел бы жить на юге Франции.

2. Я хотел бы быть здоровым и богатым.

3. Я хотел бы иметь двухэтажный дом с бассейном.

4. Я хотел бы иметь четырехместный самолет.

5. Я хотел бы иметь замок в Лондоне.
6. Я бы сходил в театр.

7. Я бы купил места в партере.

8. Я бы купил места в ложе.

9. Это устроило бы всех.

10. Я бы принял его приглашение.

11. Я не стал бы ждать.

12. Я бы попробовал починить эти часы.

13. Что бы ты съел на ужин?
14. Я бы выпил чашечку кофе.

15. Я бы не стал это смотреть.

16. Я бы не удивился.

17. Что бы мне приготовить на обед?

18. Что бы ты ей сказал после всего этого?

19. Я бы не поехал туда на поезде.

20. Это было бы странно.
21. Жаль, что я съел столько шоколада вчера.

22. Жаль, что ты покрасил комнату в зеленый цвет.

23. Жаль, что я с ней поссорился.

24. Жаль, что он женился.

25. Жаль, что я не женился.

26. Жаль, что мы не встретились раньше.

27. Жаль, что он перестал ходить на английский.

28. Жаль, что ты меня не послушал.

29. Жаль, что я сказал ему об этом.

30. Жаль, что я не поехал с тобой.

Упр. 3. Продолжите предложения.

1. It is desirable that
2. It is important that
3. It is impossible that

4. It is essential that

5. It is necessary that

6. I suggest that

7. He recommended that

8. We insist that

9. They demand that

10. Handle the device carefully lest

11. Write down my address lest

12. Give me your address so that

13. It was so cold as if

14. It would be useful

15. It would be natural

16. It would be timely

17. It would be better

18. It would be much simpler

19. It would be impossible
20. It would be desirable

21. It would be interesting

22. It would be helpful

23. It would be difficult

24. It would be complicated

25. It would be lovely
26. I wish I had

27. I wish I hadn't
Упр. 4. Переведите на английский язык.
1. Важно, чтобы вы знали грамматику.

2. Мы настаиваем на том, чтобы встреча состоялась как можно быстрее.

3. Он ведет себя так, как если бы был очень важной персоной.

4. Я предлагаю, чтобы вы поехали со мной.

5. Запишите ваше домашнее задание, чтобы вы не забыли его сделать.

6. Жаль, что реакция не пошла.

7. Жаль, что появились побочные эффекты.

8. Каким бы важным ни был этот вопрос, давайте перейдем к следующему.
9. Было бы легко это выучить.

10. Откуда же мне это знать?

Упр. 5. Переведите на русский язык.
1. It would necessitate restoration of the building.

2. He suggested that these parts should be tested under very severe conditions.

3. It was of great importance that we should obtain fresh data for the confirmation of our results.

4. It would be worthwhile taking a critical look at the concept itself.

5. It would be risky to answer this question directly.

6. Otherwise, the treaty would have been signed.

7. It is important that your translation be good.

8. It is necessary that the system have reliable performance.

9. I would like to give my considerations on this subject.

10. It is desirable that the method be tested in practice.

11. It is essential that the substance be chemically pure.

12. It is essential that the substance is chemically pure.

13. You should revise the material lest you forget it.

14. It would be more convenient if a special machine were available.

15. Were it not for safety considerations, this model would have been ideal.

16. It would be strange if it were not the case.

17. By about 1880 it seemed as if the world of science were fairly well explained.

18. Make exact calculations lest you should fail with your experiment.

19. But for you, I would have solved the problem differently.

20. He asked that he be permitted to reproduce the experiment.

Упр. 6. Переведите на английский язык.
1. Важно, чтобы закон соблюдался.

2. Необходимо, чтобы вода была чистой.

3. Желательно, чтобы этот метод рекомендовали.

4. Предлагают, чтобы были сделаны графики и таблицы.

5. Необходимо, чтобы был определён тип реакции.

6. Я хотел бы закончить экспериментальную часть своей работы к концу года.

7. Каким бы точным ни был этот метод, было бы трудно определить данную величину.

8. Запишите мой адрес, чтобы вы не забыли его.

9. Было бы неправильно настаивать на этом.

10. Мы хотели, чтобы этот факт был проверен другими исследователями.

11. Жаль, что этот факт не был проверен другими исследователями.

12. Такая обработка была бы невозможной в других условиях.

13. Какими бы ни были результаты, мы обязаны их проверить.

14. Что бы вы предложили? Я бы предложил следующее.

15. Для того, чтобы такое преобразование было возможным, нам нужно изменить параметры.
16. Важно, чтобы вы были здесь вовремя.

17. Я предложил, чтобы он поискал новую работу.

18. Я потребовал, чтобы он извинился.

19. Что ты предлагаешь мне сделать? (чтобы я сделал?)
20. Я предлагаю, чтобы ты поехал в отпуск.

21. Куда, ты предлагаешь, мне поехать в отпуск?

22. Он порекомендовал мне посоветоваться с руководителем (чтобы я посоветовался).

23. Она порекомендовала мне  проконсультироваться у врача.

24. Она настаивала, чтобы он остался подольше.

25. Удивительно, что  он мог такое сказать.

26. Что ты думаешь о моем предложении возглавить отдел? ( чтобы ты возглавил).
27. Возьми с собой карту, чтобы не заблудиться.

28. Возьми с собой лосьон от загара, чтобы не сгореть.

ТЕСТ
Выберите нужную форму глагола
1. I wish I  …  your advice that day.
a) would not taken 


c) took

b) would not have taken

d) had not taken
2. It would be worth while investigating the substance mentioned, provided we  …. it in sufficient quantity.
a) can got



c) would can get
b) could get



d) got
3. The Earth behaves as though the attractive force   …  at its centre.
a) is act 



c) were acting

b) would act 



d) will act

4. I wish we  …  longer in Antwerpen instead of going to Brussels, which I’ve seen

many times.
a) have stayed 


c) shall stay

b) had stayed 



d) stayed
5. It’s desirable that you  …  off the documents today.
a) should have sent 


c) would send

b) should send 


d) had sent
6. He asked that they   …   to return to their homes.
a) were permitted 


c) be permitted

b) will permit 



d) had permit
7. If ice  …   heavier than water it would fall to the bottom of ponds and of the sea.
a) will be 



c) had been

b) were 



d) is
8. It is urgent that we  …  the importance of such gatherings.
a) debated 



c) had debate

b) debate 



d) will debate
9. Make exact calculations lest you  …  with your experiment.
a) should fail 



c) would failed

b) failed 



d) were failed
10. I wish, for just a day, I  …  President of the United States.
a) will be



c) would been

b) had be 



d) were
11. Copernicus suggested that the Sun and not the Earth   …  at the centre of everything.
a) was 




c) were

b) would been 


d) should be
12. It was natural for the ancient Greeks to suppose that the stars, planets, the sun and

the moon   …   round the Earth in space.
a) move 



c) moved

b) will move



d) had  moved
13. John wishes he   …  a mechanical engineer.
a) was/were                                        c) is

b) will be 



d) would been
14. Many people wish life  …  so busy.
a) were not 



c) is not

b) had not be 



d) won’t be
15. We began talking as though we were old friends, as if we   …  each other for many years.

a) know 



c) had known

b) were knowing 


d) would know

16. Many students wish they  …   to attend the lectures.
a) don’t have 



c) hasn’t had
b) didn’t have 



d) hadn’t have
17. Unless they improve their attitude towards the work, they  …   the exam.
a) would fail 



c) fail
b) will fail 



d) failing
18. Very often people behave as though they  …  alone in the universe.
a) are 




c) have been
b) are being 



d) were
19. The manager wishes he  …  more enthusiastic with the project.
a) has been 



c) were being
b) had been 



d) were
20. He talked to me as if nothing   …  .
a) has 
happened


c) didn’t happen
b) happens



d) had happened

ЧАСТЬ 2

Переведите на русский язык.
1. Although cells 1 and 2 do not touch cell 4, to omit them would be incorrect.
2. This is a very appreciable loss, indicating that it would be impractical to design a 50 Hz magnet with solid copper coils of such large cross section.

3. To compensate fully for the focusing effects in both planes would require adjustment of six independent parameters, requiring therefore six independent quadruples.

4. This evident similarity suggests that the application of these derivatives should be explored.

5. It would be naïve to assume that the startling new developments may not soon appear.

6. Certainly, performing a simultaneous infrared measurement would assist in better identification of these states.

7. Whichever of the existing methods we may use, we cannot yet isolate two colliding particles and study them fundamentally.

8. It was suggested that certain changes be introduced into the design of this installation so that it might better meet the necessary specifications.

9. Wherever the primary defect be formed, it will later give rise to a visible crack.
1. It is expected that this type of reaction be used in 21st century.

2. In agreement with these observations, Wärnå suggested that in the process of catalytic nitrate reduction the key intermediate on a noble metal be NO.

3. These results suggested that cracking of unsaturated lipids could follow two distinct paths by which olefins and paraffins could oligomerize followed by cyclization and aromatization.

4. In theory, the destinations could be extended to include cages beyond the nearest neighbors, which would be accessible via multistate jumping events. 

5. It is necessary that the statistical noise be reduced.

6. It is possible that the most stable adsorbate would be that absorbed onOs1 sites.
7. The development of strategies for the Watson-Crick recognition of sequence within duplex DNA would allow greater control over transcription.

8. It would be naive to assume that the pace of chromatin research has finally slowed, or that startling new developments may not soon appear.

9. At present there is no answer to these questions, considerably more results would be needed for such a statement. 

10. Certainly, performing a simultaneous infrared measurement would assist in better identification of these states.

11. It would be interesting to investigate long cycles in these graphs for general n and k.

12. To understand the function of gene, it would be advantageous to delete that gene function at the desired time.

13. Finally, lest we be lured into considering the chromatosome to be a static unit of chromatine structure, we should heed experiments which indicate that H1 molecules may be surprisingly mobile, even at ionic strength below the physiological range. 
14. The evident similarity to the activity of bleomycin suggests that the application of these derivatives as chemotherapeutic agents should be explored.
15. To simplify the chromatography it is highly desirable that the desired product be the single largest component in the product mixture.
16. Although these tests are sensitive and specific for HIV, direct detection of the virus would be desirable for a number of reasons.
III
1. It would be wrong to ignore morphogenesis altogether.

2. It would not be correct to say that we have proved that the process takes place in the way we have described.

3. It would be interesting to know whether the existence of a particular v=v0 implies the existence of other such values.

4. Now I should like to refer to two short definitions of   “management”.

5. As usual substitution may require that bound variables be renamed.

6. That is, after any number of moves, if player I has not yet won, he can insist that more moves be played.

7. We suggest that the bounds of this sequence should be defined.

8. This problem would be difficult to analyse by any other method.

9. However many steps the creature may take, it will never get to the boundary of this universe.

10. It is important that the “area under the graphs” should be defined.

МОДАЛЬНЫЕ ГЛАГОЛЫ


Модальность ─ это отношение автора к сообщаемой информации.


Каждый модальный глагол имеет свое единое значение, которое он может реализовать в двух ситуациях:

1 ситуация ─ побуждение к действию извне или изнутри;


2 ситуация ─ оценка вероятности события.

Так, предложение He must come может иметь двоякое значение. В первой ситуации ─ Он должен (обязан) прийти. Во второй ─ Он, должно быть, (вероятно) придет. В первой ситуации глагол must означает требование, побуждение извне, во второй ─ оценку вероятности события.

Значение и перевод модальных глаголов
	Глагол
	Значение
	Перевод

	
	
	1 ситуация
	2 ситуация

	must
	отсутствие альтернативы, обязанность
	должно, 

необходимо
	должно быть, наверняка, 

несомненно,

обязательно

	have to
	наличие вынужденных обстоятельств, закон, правило
	вынужден,

должен, приходится, обязан
	обязательно,

должно быть,

наверное

	be to
	договоренность;

запрограммированность
	должно,

предстоит,

намечено,

планируется, 

суждено
	следует,

можно (ожидать)

	shall
	зависимость от посторонней воли
	должно,

надлежит, 

обязан
	-

	ought to
	наличие веских доводов в пользу чего-либо
	следует,

полагается,

рекомендуется
	по всей видимости,

очевидно (только с перфектными глаголами)

	should
	наличие у автора субъективного отношения в пользу чего-либо, совет, рекомендация
	следует,

хорошо бы,

желательно,

надо бы
	следует ожидать,

вполне вероятно,

должно быть

	may/ might
	наличие альтернативы
	можно,

разрешено,

допустимо
	может быть,

возможно,

вероятно,

не исключено

	can/ could
	наличие благоприятных обстоятельств
	может,

способен
	вероятно,

возможно

	will/ would
	наличие тенденции,

уверенность
	охотно,

обязательно,

во что бы то ни стало,

хотелось бы
	естественно,

обычно,

свойственно,

как правило,

бывало


Примеры:
1. All children must go to school.

    Все дети должны ходить в школу.

2. His son must go to school. He is seven.

    Его сын, несомненно, пойдет в школу. Ему семь лет.

3. He has to go there. His mother is ill.

    Он вынужден поехать туда. Его мать больна. 

4. Pilots have to wear a uniform.

    Летчики обязаны носить форму.

5. There has to be a way out of this situation.

    Из этой ситуации обязательно есть выход.

6. The conference is to be held next year.

    Конференцию планируется провести в следующем году.

7. The metal is to be found in nature.

    Этот металл можно найти в природе.

8. He was to part with her.

    Ему суждено было расстаться с ней.
9. They shall not pass!

    Они не пройдут! (не сумеют, не должны).

    (Shall часто не переводится вообще, а передается интонацией.)

10. Many Americans believe that young people ought to leave home after graduation from high school or college.


      Многие американцы считают, что молодым людям следует жить отдельно после    

      окончания школы или колледжа.

11. We believe he ought to be right in the long run.

      Мы верим, что он обязательно окажется прав в конечном счете.

12. You should write down new words.

      Вам следует выписывать новые слова.

13. He should come.
      Он, должно быть, придет.

14. You may choose your line of work.

      Вы можете выбирать свой стиль работы.

15. He may (might) be ill.

      Он, вероятно, болен.

16. He can learn better.

      Он может учиться лучше.
17. There can be more than one solution here.

      Здесь может быть более чем одно решение.

18. We will enjoy creative work. 

      Творческая деятельность всегда приносит радость.

19. Children will ask questions.

      Детям свойственно задавать вопросы.

20. That will be him. He promised to arrive.
       Это, несомненно, (определенно, безусловно) он. Он обещал приехать.
21. He would stay in the laboratory for weeks.

      Он, бывало, неделями не выходил из лаборатории.

Will (would) + отрицание not – означает упорное нежелание что-либо делать, отказ действовать, функционировать.

22. He wouldn’t listen to us.

      Он и слушать нас не хотел.

23. The data wouldn’t agree with the theory.

      Данные никак не согласуются с теорией.

Модальные глаголы с перфектным инфинитивом

Модальные глаголы в сочетании с перфектным инфинитивом означают отношение автора к действию в прошлом.

Примеры:

1. He must have finished his experiment.

    Он, должно быть, закончил эксперимент.

2. I should have thanked him for his advice.

   Мне следовало бы поблагодарить его за совет.

3. Such phenomena should have occurred long ago.

    Такие явления, по всей вероятности, происходили давно.

4. You ought to have foreseen it.

    Вам следовало бы предвидеть это.

5. They ought to have arrived at different conclusions.

    Они, по всей видимости, пришли к разным заключениям.

6. He may have realized the complexity of this task.

    Он, вероятно, осознал всю сложность этой задачи.

7. You might have done it without my permission.

    Можно было это сделать без моего разрешения.

8. You might have overlooked an error.

    Вы, возможно, просмотрели ошибку.

9. I could have heard the lecture but I came too late.

   Я мог бы послушать эту лекцию, но пришел слишком поздно.

10. They could have made an attempt to return but it turned out to be a failure.

      Они, возможно, сделали попытку вернуться, но она оказалась неудачной.

11. This will have been noticed by the reader.

      Читатель это, естественно, заметил.

12. They would have done it but did not want to risk.

      Они были готовы сделать это, но не хотели рисковать.

УПРАЖНЕНИЯ

ЧАСТЬ 1

Упр. 1. Переведите на русский язык.

1. He has to get up at 6 a.m., he lives too far.

2. We agreed that he was to come and see our friend in hospital.

3. They are to marry in June.

4. You ought to warn me if you miss a class.

5. We are to take our exams in June.

6. I will have to take a taxi in order not to be late.

7. It may snow in the afternoon.

8. There can be more than one solution here.

9. Accidents will happen.

10. I should thank him for his useful advice.

11. The process can be accelerated.

12. We are to finish the work by next year.

13. He may be having lunch.

14. He must be British.

15. You should go to bed earlier.

16. You ought not to drive. You are too tired.

17. We are pressed for time. We must hurry.

18. You needn’t hurry.

19. When he was angry, he would walk out of the room banging the door.

20. When he is told about it, he won’t listen to.

Упр. 2. Переведите на русский язык.

1. Is that the phone? It will be John. He said he would ring around now.

2. Don’t take the meat out of the oven. It won’t be ready yet.

3. Look over there. That must be John’s car.

4. Our guests should be here soon.

5. This homework shouldn’t take you too long.

6. We may go to Greece for our holidays. We haven’t decided yet.

7. We may not have enough money to go abroad.

8. It might rain. Take your umbrella.

9. I might not be back in time for supper, so don’t wait for me.

10. He can’t be here. He was to leave yesterday.

11. What’s wrong with him? He will just sit for hours staring into space.

12. Something was wrong. He would sit for hours staring into space.

13. He was angry because she wouldn’t lend him any money.

14. She would always bring me presents when I was a child.

15. The car won’t start.

16. He wouldn’t talk to me.

17. The printer wouldn’t stop printing, so I turned it off at the mains.

18. He will always take my things.

19. He would take my things. It annoyed me.

20. You can borrow my bike, but you can’t have the car. I need it.
Упр. 3. Переведите на русский язык.

1. That might/could be him.

2. That may be him.

3. That should be him.

4. That must be him.

5. That will be him.

6. You wouldn’t know her.

7. May I see you home?

8. Can I see you home?

9. Could I see you home?

10. Could you give me a lift?

11. Can it be true? It can’t be true.

12. You can always have a quick snack at McDonald’s.

13. You could be more polite.

14. She could have called us.

15. The director was to sign the contract.

16. The director was to have signed the contract.

17. You are not to come here.

18. It was to happen.

19. They were to part soon.

20. You ought to take up some sport.

21. You must be joking. She can’t have a ten-year-old daughter.

22. You should have told me that you can’t swim. You might have drowned. 

23. She must have been crazy to marry him.

24. Our guests should be here soon. 
25. We should be moving into a new flat soon.

26. I met a tall attractive girl at your party. –That will have been my sister.

27. It must have been a good party. Everyone stayed till dawn.

28. The music can’t have been any good. Nobody danced.

29. Where’s he? He should have been here ages ago.

30. He may have got lost.

31. He might have decided not to come.

32. He could have had an accident.

33. You could have done something to help me instead of just sitting there.

Упр. 4. Переведите на русский язык.

1. We could have taken modal verbs earlier this year.

2. I should have thanked him for his kind letter.

3. He may have realized his mistake.

4. You must have underestimated the importance of this work.

5. You might have taken the wrong decision.

6. We may have overestimated this method.

7. His data could have been used in our work but they are not accurate enough.

8. They should have extended the conception to include this case.

9. The figures ought to have been corrected earlier.

10. According to the experimental plan the growth medium is to be minimal.

11. They might have neglected smaller errors.

12. You should have included other contributions in this review.

13. Observation of the sun and the planets must have been made long before our civilization.

14. These assumptions ought to have been discarded from the very beginning but they seemed to be very important.

15. You will have noticed that we come back to this problem once more.

Упр. 5. Переведите на русский язык.
1. On Sundays he would get up early and go fishing. 

2. He will be expecting us now.

3. Possibly, the salt would decompose even more easily.

4. The conductor would probably have a very large temperature coefficient.

5. The reaction would appear to involve a rearrangement.

6. She won’t have returned from the trip.

7. Ring his work number. He will be at work now.

8. The door won’t open.

9. An Englishman will always show you the way in the street. 

10. The reader will have noticed the mistake.

Упр. 6. Переведите на английский язык.

1. Нам пришлось сделать много подготовительной работы.

2. Мы должны закончить эту работу к следующему году.

3. В соответствии с планом эксперимента этот параметр должен быть минимальным.

4. Этот процесс можно ускорить.

5. Разница может быть и небольшой.

6. Я не могу описать все эксперименты, которые мы провели. Они слишком многочисленны.

7. Я хотел бы поблагодарить доктора Синклера за его полезные советы.

8. Мне следует поблагодарить доктора Синклера за его советы.

9. Мне следовало бы поблагодарить доктора Синклера за его советы.

10. Я мог бы посетить последнюю конференцию по полупроводникам, но я был слишком занят.

11. Вам следовало бы показать статью переводчику, тогда бы вам ее не вернули.

12. Мы, вероятно, переоценили этот метод.

13. Вероятно, они приняли неправильное решение.

14. Вы, должно быть, недооценили важность этой работы.

15. Они, по всей видимости, расширили эту концепцию, чтобы включить и данный случай тоже.

Упр. 7. Переведите на английский язык.

1. Ему приходится вставать в 6 утра.

2. Мы договорились, что он приедет (ему следует) сегодня.

3. Они должны пожениться в июне.

4. Вам следует предупреждать меня, если вы пропускаете занятия.

5. Мы должны сдать экзамены в июне.

6. Мне придется взять такси, чтобы не опоздать.

7. После обеда может пойти снег.

8. Здесь может быть более чем одно решение.

9. Такие случаи бывают, это естественно.

10. Мне следует поблагодарить его за полезный совет.

11. Он, возможно, сейчас на обеде.

12. Он, должно быть, англичанин.

13. Тебе следует раньше ложиться спать.

14. Тебе не следует вести машину. Ты слишком устал.

15. У нас мало времени. Нам надо спешить.

16. Вам нет необходимости спешить.

17. Когда он злился, он обычно выходил из комнаты, громко хлопнув дверью.

18. Когда ему говоришь об этом, он и слушать не хочет.

Упр. 8. Переведите на русский язык.
1. A good experimenter has to be a jack of all trades.

2. There has to be a way out of any situation.

3. How is this to be explained?

4. Not a single scientist shall work on problems whose solution may be a threat to mankind.

5. An individual scientist may or may not be highly moral. Scientific community as a whole ought to be. 

6. Good ideas should be written down before they are forgotten. 

7. Such ideas should be exciting for most students. 

8. A true scientist will enjoy his work more than anything else. 

9. There can be more than one answer to this question. 

10. Nature would never be exhausted to challenge man with more riddles. 

11. Most primitive tools and devices must have been invented independently by different civilizations.

12. Such phenomena should have been known as early as the VIII century.

13. These stars might have evolved under absolutely different conditions.

14. They cannot have reached the same level of development.

15. The reader will have noticed the author’s failure to fill up the gap. 

Упр. 9. Переведите на русский язык.

1. He had to come.

2. He must have come.

3. She will have to retake her exam.

4. It doesn’t sound convincing. It must/has to/has got to/ be just your assumption.

5. This medicine is to be taken three times a day after meals.

6. The Brazilian president is to visit England next month.

7. That song was to become a visiting card of the group.

8. They were to have answered our letter even last week but they never did.

9. I should study more English this term.

10. I should have studied more English last term.

11. They may be working now.

12. He may have forgotten to call yesterday.

13. May I leave you the keys so that you should hand them to my roommate?

14. You may not take my car without asking me.

15. He may not know anything about it.

16. He may call tomorrow.

17. He might call tomorrow.

18. We shall fight for the last!

19. They shall regret this!

20. He can call at any moment.

21. She can’t be still sleeping. It’s 12 o’clock.

22. When she was a kid, she could walk under the table.

23. What’s he doing? He could be speaking with the customer.

24. They couldn’t know each other.

25. He couldn’t have been translating that tiny letter for two hours.

26. When I was 16 I was not allowed to come late.

27. We were not allowed to get out of jeep without asking the instructor for it.

28. As he doesn’t have a permanent work, he has got to do odd job to support his family.

29. You ought to know each other better lest you get divorced the next day after the wedding.

30. When either of us called the other, we would always talk for at least half an hour.

31. When either of us calls each other, we will always talk for at least half an hour.

32. I am not going to believe you. You’ve got to be kidding/You must be kidding. 

33. There could be another rise in the price of petrol.

ТЕСТ

Выберите нужную форму глагола.

1. I wonder if you … lend me your book.
	a) could
	c) must

	b) may
	d) can


2. I’m afraid you … do everything once again tomorrow.
	a) must
	c) should

	b) will have to
	d) have to


3. I enjoyed the performance. You … go and see it.
	a) must
	c) ought to

	b) should
	d) have to


4. According to the schedule we … attend our English classes twice a week.
	a) are
	c) are to

	b) should
	d) have to


5. She lives far from school, so she … get up early.
	a) must
	c) is to

	b) have to
	d) has to


6. They … to marry in June.
	a) ought
	c) be

	b) have
	d) are


7. The weather forecast is not very good. It … rain.
	a) should
	c) may

	b) can
	d) must


8. We … take our exams twice a year.
	a) be to
	c) ought to

	b) have to
	d) are to


9. I think you … go to bed earlier.
	a) ought
	c) must

	b) should
	d) need


10. We’ve got plenty of time. You … not hurry.
	a) must
	c) need

	b) should
	d) may


ЧАСТЬ 2

Переведите на русский язык.

1. The corrections must also be as independent as possible with respect to the cut parameters (robust correction).

2. The coefficients A and B must be linear functions if the bobbin is assumed to be perfectly cylindrical.

3. The following precautions must be observed when working with this equipment.

4. A polarized source must be used to inject polarized protons.

5. Care must be taken to properly clean and install all o-rings, which provide the vacuum seal.

6. Humans have to determine what diagnostics will give useful information: this usually requires insight into what physical processes are likely to be important.

7. The general precautions that have to be taken when working with electrical equipment are as follows.

8. The purpose is to provide information that has to be known throughout the network to all the machines on the network.

9. However, this is not the case for the meson, so one has to make the appropriate modification.

10. If the magnet does not have to be fixed to earth potential at one end, then the best solution is to have a differential medium-point earthing on the supply, as shown in Fig.7.

11. To be of real use, this definition has to be complemented by a measure of purity of the sample of found tracks.
12. By construction, significance level distribution should be flat, independent of track momentum and direction, as was found to be the case.

13. One should also notice that the phase shift is not expected to be as accurate in this invariant mass region as it should be below the P mass peak.

14. It should be noted that although all nuclear data tables in Appendix G are available to users at Los Alamos, users at other installations will generally have only a subset of the tables available.

15. Care should be taken not to incorporate too many correlated variables.

16. It should be emphasized that activity measures the source disintegration rate, which is not synonymous with the emission rate of radiation produced in its decay.

17. Feature extraction followed by parameterization should normally always be considered when detector has to be studied.

18. At this point, the different factors, by which the two loss components of grain-oriented material are affected, should be mentioned.

19. One should point out that another feature of cool gases is that the drift velocity has a linear dependence on the electric field E and the gas density N.

20. It should be clear that the smaller the figure for the energy resolution, the better the detector will be able to distinguish between two radiations whose energy lie near each other.

21. It is interesting that Penzias and Wilson were led to this idea by the news that Dicke had suggested that one ought to use a radiometer to search for the cosmic background.

22. Also collaborating with the Varian brothers were two graduate students, Woodyard and Ginzton, both of whom were to take leading roles in Stanford’s postwar programs.

23. It is to be hoped that similar publications will eventually become available describing other major accelerator installations.

24. If alpha particles are to be accelerated, double ionized helium atoms must first be created in an ion source by an electrical discharge, intense RF field, or other means.

25. If the sources are to be used to carry out accurate efficiency calibration as well, their absolute activity must also be known.

26. The discussion here will be limited to a few methods that can be used in track finding.

27. It is worth mentioning here a distinction that can be made between OLAP database and SDB relative to Step2.

28. One could ask a question whether we can somehow improve the isochrony of this chamber.

29. As soon as Maxwell made it clear which electromagnetic fields were theoretically possible it must have occurred to many physicists that particles could be accelerated by RF-fields.

30. Such movements are dangerous as they generate heat and may lead to a premature breakdown of superconductivity, i.e. a quench.

31. In electron rings, however, this may not be sufficient.

32. Additional conditions on the coefficients might lead to more symmetries to appear.

33. Tracks with as few as three space points may have to be accepted.

34. The condition for spin resonances defines a dense web and one might think that one cannot avoid depolarization resonances.

35. Although the Fano factor is substantially less than unity for semiconductor diode detectors and proportional counters, other type such as scintillation detectors appear to show a limiting resolution consistent with Poisson statistics and the Fano factor would, in these cases, be unity.

36. The conclusion will have been made that the “ideal” software would have the following features.

1. Such evidence has to be disregarded, even if it cannot be accounted for, in the hope that it will eventually turn out to be false or irrelevant.

2. One further complication arises from the fact that, in the catalytic combustion of methane, both heterogeneous and homogeneous reactions have to be recognized.

3. Acute exposure can result in hepatic injury that can in more extreme cases prove fatal.

4. The nitrate concentration in water treated by the ion-exchange step should not exceed 50mg 1-1.

5. The result is that much larger systems may be simulated over much longer time scales.

6. A novel fabrication route reported here should provide researchers with another tool toward practical synthesis of the epsilon phase. 

7. However the oxidation temperature must be below the PdO decomposition temperature.

8. Both reflections may be interpreted as first-ordered satellites of different basic reflections.

9. The LSM-GDC cathodes would (will) be ideally suited for ceria-electrolyte SOFCs. 

10. Above 400ºC, the grain boundary and bulk processes could not be measured, as they became indistinguishable.

11. Hence, purification of DNA must be carried out in primarily aqueous solution where its polyionic character can be exploited by use of ion exchange chromatography or electrophoresis.

12. Whether these two phenomena are related has yet to be discovered.

13. These finding effects, however, have to be considered cautiously because single-stranded DNA contains folded regions and hence they give rise to the interaction with distamycin.

14. Otherwise, another synthetic oligonucleotide or a restriction fragment has to be used as a primer.

15. The possibility that this heterogeneous distribution was due to the photolabeling of catalytic and/or noncatalytic sites has to be considered.

16. Consequently, fresh enzyme had to be added during every cycle.

17. Therefore chromatographic techniques that could accomplish this result had to be developed.

18. So what is the concentration of the acid or base that is to be used in the calculation?

19. Therefore, it is the obligation of the experimenter to provide proof of sequence difference, if the existence of true variants is to be claimed. 

20. If the direction of that asymmetry were to reverse, interruptions could be generated.

21. The postulated reaction scheme indicates that there are two aspects which must be addressed if we are to understand the chemical nuclease activity of S,10-phenantroline-copper.

22. The wide scope of the subject is demonstrated by the fact that biochemists and their methods are to be found in almost any institution where biological work is conducted.

23. The development of the full panoply of DNA cloning techniques in the early 1970s made it clear that the prime target for work with synthetic deoxyribooligonucleotides should be a method for monitoring gene isolation.

24. If a large excess of competitor DNA fragment identical to the probe is added to the binding reaction, formation of the protein-DNA complex should be abolished.

25. Alternatively, if a competitor DNA fragment that does not contain a high-affinity binding site for the protein is added to the binding reaction, the amount of protein-DNA   complex formed should be unaffected.

26. The four dNTPs should be used at equivalent concentrations to minimize misincorporation errors.

27. In addition the coverage at this point should certainly exceed 0.25.

28. This should be reflected by the TD spectra.

29. Therefore, one may expect repulsive interactions between adsorbed NO molecules.

30. It has been proposed that incorporation of other unusual nucleotide residues into nascent DNA may also result in subsequent excision-repair processes.

31. Consequently drugs which are specifically activated by protonation may exhibit a slight preferential effect.

32. This might be because a single acridine intercalations event provides the same stabilization effect.

33. Such modifications might lead to incorporation of a wrong nucleotide by route 1c.

34. Thus the tertiary structure of the growing polynucleotide may have limited the access of the incoming nucleotide to the 3'-OH terminus of the polynucleotide.

35. In the first place we may have to understand much better then we do now the interaction between chromatin, its associated proteins, and the nuclear matrix.

36. Specific steps may have to be introduced to remove these contaminants.

37. It is potentially mutagenic since it can pair not only with thymine but also with cytosine.

38. Most DNA-damaging agents produce two or more types of lesions in their principal target that can pose severe analytical problems.

39. Unfortunately, the same cannot be said of chromatin structure, in particular with respect to the problems of transcription.

40. We could find no indication that aggregation of the labeled oligomer was occurring.

41. The low level of processive synthesis found here could not have been detected by kinetic methods.

42. It seems clear from the data that this reaction is more strongly dependent on the reaction time than it would be expected for simple second order kinetics.

43. A C 1S peak broadened to higher binding energies would be expected for an oxygen-containing surface intermediate because of the electron withdrawing nature of oxygen.

44. In the absence of inhibition effects, one would expect the formation of regular polyhedrons with low-index planes in their facets.

45. This was the task for organic chemists, and it would seem that the tetranucleotide model provided a convenient framework.

46. The "ideal" software would have the following features.

47. The difference in the interfacial area would indicate that the seryl-tRNA synthetase dimer is more stable than the seryl-tRNA synthetase monomer.

48. Each time before he could bring it to the summit, it would roll back down, and he had to begin anew.

49. Different results would not have been obtained even at much slower heating rates.

50. This will have been noticed by the reader.
III

1. But such a success is exceptional, in general, one must be content with much less.

2. Indirectly, we have to guarantee the existence of these functions.

3. The emptiness problem of HF is simple since we only have to check the set of axioms for emptiness.

4. The objects of computation have to be created by finitistic means.

5. The exercises in the book are to be taken as samples.

6. If an inductive procedure is to be used to determine this expression, then we will have to consider not only statements but also formulas.

7. This point may, of course, differ from one solution to another.

8. Structures may allow so much “pathology” that their classification looks completely hopeless.

9. Instead of functionals (1) we may have to deal with integrals depending on derivatives of higher order.

10. Finally, one should not minimize the impact of the theory of categories on many mathematical theories.

11. Depending on these values the random walk need not be infinite.

12. In turn the mathematical problem was to be modeled by an arithmetical problem and it was rather casually taken for granted that the arithmetical solution would converge to the analytic solution.

13. The data obtained would not agree with the theoretical predictions.

14. The popularization of the idea that a set theoretic mapping should be considered as a particular kind of morphism has helped to clarify intricate notions such as those of algebraic group or formal group by inserting them within the general concept of algebraic structures on categories.

15. After H.Weyl and E.Cartan had developed in 1925-1930 the global theory of semisimple Lie groups, of their finite-dimensional representations and symmetric spaces, one might have thought that this chapter of Lie theory was thus brought to a close.
ЭМФАЗА


Эмфатические конструкции служат для выделения того или иного члена предложения.

1. Усилительное do

Для усиления сказуемого в Present и Past Simple употребляется глагол do в соответствующем времени, который стоит перед смысловым глаголом. При переводе используются слова действительно, на самом деле, фактически.

She does know the subject well.

Она действительно знает этот предмет хорошо.

Если в предложении имеются слова actually, really, indeed, то do не переводится.


Если предложение вводится союзами although, though, то do переводится словами все же, хотя, однако.

Although such compounds are practically unknown, the substances 1 and 2 do yield such complexes.
Хотя такие соединения практически неизвестны, вещества 1 и 2 все же дают такие комплексы.

2. Обратный порядок слов

Обратный порядок слов используется для выделения второстепенных членов предложения. Выделяемый член предложения выносится на первое место.

Nowhere could he be found.

Его нигде нельзя было найти.


Если сказуемое стоит в Present и Past Simple, то при обратном порядке слов перед подлежащим стоит вспомогательный глагол do.

Only in this paper did we find the necessary data.

Только в этой статье мы нашли необходимые данные.


Иногда на первое место выносятся причастие I, причастие II или прилагательное. Перевод таких предложений нужно начинать с дополнения или обстоятельства, стоящих после вынесенного на первое место слова.

Related to this are many factors.

С этим связаны многие факторы.


Обратный порядок слов употребляется в эмфатических предложениях, вводимых союзами so, neither, nor. Переводятся с помощью слов тоже, а также и, а также не.

He swims very well. So do I.

Он очень хорошо плавает. И я тоже.

He can’t drive. Neither can I.

Он не умеет водить машину. И я тоже.

Nor should we forget the importance of this factor.

А также мы не должны забывать о важности этого фактора.

3. Эмфатические уступительные предложения
Important as this work is (may be), it does not cover the problem on the whole.

Какой бы важной ни была эта работа, она не охватывает данную проблему в целом.

However complicated the problem is, we are to solve it.

Какой бы сложной ни была эта проблема, мы должны решить ее.

4. Двойное отрицание


Отрицание not в сочетании с отрицательными приставками прилагательных или наречий un-, in-, il-, im-, ir-, dis- усиливает любые члены предложения, кроме подлежащего и дополнения. Такое сочетание переводится словами довольно, весьма, вполне.

This is not impossible.

Это вполне возможно.

This is not uncommon.

Это довольно обычно.


Вместо отрицания not может стоять выражение by no means.

This is by no means unreasonable.

Это вполне разумно.

5. Эмфатическое сочетание

it is...that (which, who)


Выделяет любой член предложения, кроме сказуемого. Акцент передается словом именно.
It is he who helped me.

Именно он помог мне.

It is language that enables us to communicate with each other.

Именно язык помогает нам общаться друг с другом.

6. Эмфатическое сочетание
it was not until...that


Служит для выделения обстоятельства времени. Переводится словами только; только тогда, когда; только после.

It was not until 1992 that the book was published.

Книга была опубликована только в 1992 году.

It was not until his book was published for the second time, that it became widely known.

Только после того, как его книга была опубликована во второй раз, она стала хорошо известной.

Вариантом этой конструкции является сочетание not... until after.
His book was not published until after the war.

Его книга была опубликована только после войны.

УПРАЖНЕНИЯ

ЧАСТЬ 1

Упр. 1. Переведите на русский язык.
1. We did apply mathematical methods. 

2. A theorist does need to know experimental techniques.

3. Not only does science explain natural phenomena but it also finds ways for their practical application.

4. Not only does scientific information grow quantitatively but it also changes qualitatively.

5. Not only was the relativity theory an achievement in itself, but it also paved the way for later discoveries.

6. Not only did he collect new data but he also interpreted them.

7. Not only did he describe the mechanism but he also explained it.

8. Of special interest is his recent theory.

9. Of great value are our recent results.

10. Of prime importance is efficient organization of research.

11. This rate of the reaction is not impossible.

12. This effect is not improbable.

13. It is he who is interested in speeding up the work.

14. It is he who insists on revising the program.

15. It was Rutherford who discovered the atomic nucleus.

16. It is Smith who objects to including this question in the program.

17. It is these experiments that provided the basis for further research.

18. It is these data that deserve special attention.

19. It was not until World War II that antibiotics were first used.

20. It was not until 17th century that the law of gravitation was formulated.

21. It was not until 13th century that the first clock was made.

22. It was not until 1930 that the first nuclear reaction was observed.

23. It was not until 1957 that the first satellite was launched.

24. It was not until 18th century that the first classification of animals and plants was made.

25. It was not until 19th century that the nature of electricity became known.

26. It was not until recently that computers have become widely used.

27. It was not until recently that lasers have found wide application.

28. It was not until recently that the structure of viruses has become known.

29. The theoretical aspects of this phenomenon will not be treated until later.

30. The reaction did not start until the next morning.

Упр. 2. Переведите на русский язык.
1. He said he would come and he did come.

2. We do not know much of the author. But we do know that all three poems were written by him.

3. Humour is not missing in his work.

4. The total number of German words in English is not inconsiderable.

5. To find a poet who is also a literary critic is not unusual nowadays.

6. Not infrequently the primary meaning of a word dies away and the derivative meaning remains.

7. To group these artists into schools is a little pedantic. Yet it is not unreasonable to group together the painters who worked chiefly in Florence.

8. The changes of sound here are not irregular.

9. Not dissimilar effects are found in painting.

10. It is Greek that she wants to study.

11. Actually, however, it is not until the other person begins to speak that you can form a very definite idea of his personality and his character.

12. The first part of his work did not come out until 1940.

13. Cotton was not introduced to Japan from China until later and wool was unknown.

14. Only in one case do we find a slight difference between the two forms.

15. News about Japan reached Russia relatively late. Not until the 17th century do we find mention of Japan in Russian sources.

16. Connected with this phenomenon are also some other types of changes.

17. Lying inside the box was a small ring.

18. The following translations, inadequate as they are, may help to give some idea of the character of this poetry.

19. The two words are not enough alike in sound to cause their confusion, nor do their written symbols look alike enough.

20. Nor can the author resist the temptation of displaying his erudition and introducing                     foreign words.

21. The compound was prepared in 1865, although it was not recognized as a thiasole
until 1879.

22. The theoretical aspects of the phenomenon will not be treated until later.

23. It is not improbable that an inversion of configuration took place.

24. It has not been until recently that the basic assumptions of this theory have been seriously called in question.

25. However, what actually does occur remains obscure.

26. Experiments showed that the starting products did indeed contain impurities.

27. Not only did Osborne isolate many new proteins of vegetable origin, but described them in detail.

Упр. 3. Переведите на русский язык.
1. In practice, there do exist sources of thermal neutrons, namely media interfaces in nuclear reactors.

2. Notable are relatively low sensitivities of that substance.

3. Nevertheless, we do have quite a few pieces of the puzzle.

4. Important as the decisions were, they did not solve the problem confronting them.

5. Of particular interest in solid state detectors is the p-n junction.

6. Low as the forces on the spacecraft are, they are not zero.

7. Only recently have we appreciated the potentialities in this field.

8. It was, however, not until the end of the Second World War that the development of linear accelerators really started. 

9. Plotted on the diagram are the curves of production growth versus automation.

10. The figure of merit, useful criterion as it is, must be used with reserve.

11. It is the geometry of the iron in the pole regions that chiefly determines the field distribution in the gap.

12. We failed to estimate the variables, nor do we know how to evaluate the performance of the system.

13. Closely relating to the problem of memory capacity is the problem of miniaturization.

14. This is not a problem which has been solved entirely, nor is it likely ever to be.

15. Hardly had this result been ignored. 

ЧАСТЬ 2

Переведите на русский язык.
1. This system does perform well.

2. Electrical Tokamak does not have the typically high magnetic field capacity of other tokamaks, but it does have a relatively large major radius of 5m.

3. In practice, there do exist sources of thermal neutrons, namely media interfaces in nuclear reactors.

4. Experience with these systems in high-energy physics is limited. Introductory literature does exist.

5. The above amplitudes do indeed form the triangle of Eq.6.

6. To demonstrate that instability does indeed occur, and to estimate how strong it is, we must compute the eigenvalues of the matrix M.

7. Nevertheless, we do have quite a few pieces of the puzzle.

8. Instead, not only does the generator produce the correct code automatically, but it also allows hacks such as the propagation of the minus sign to be implemented with just a couple of lines of code.

9. Not always, however, can this limit be used.

10. Not only is there a shift in the diamond line, but it is also split.

11. Not only are well-ordered note-books useful when you write a paper, but the prompt recording of summaries compels you to give critical thought to each experiment at the best time.

12. Also shown is the mass spectrum when the detector material is included in front.

13. Arriving at CERN from Novosibirsk’s Budker Institute are magnets for the two transfer lines.

14. Commonly used in this application would be a common-collection amplifier or a transformer with a high primary-to-secondary turns ratio.

15. Of particular interest in solid state detectors is the p-n junction.

16. There is no turning back here, if the called programme terminates, so does this process.

17. Use this device sparingly, however: otherwise you will be in trouble, and so shall I.

18. As it happened, this stacking programme was never used, and neither was the slow extraction.

19. This essay is not a complete text-book on “How to write...”.  Neither is it designed to replace existing works on literary style or the editorial directives issued by many journals.

20. However the initial and final hadrons wave-functions, the quantities  that  describe these hadrons in terms of their quark content, are not perturbatively known, nor do they contain only hard quarks.

21. This is not a problem which has been solved entirely, nor is it likely ever to be.

22. Such theories do not in general require any new low-energy CP-violation mechanism, neither do they forbid it.

23. The problem of dealing with soft hadronic physics effects is not unique for calculations of two body decays, nor are the general statements made below about methods and symmetry limits special to those days.

24. Different as Einstein’s and Newton’s theories are, within the solar system their results are almost identical.

25. Low as the forces on the spacecraft are, they are not zero.

26. Important as this area is, it is not where I want to spend my time in this paper.

27. Slight departures from these expectations are not unlikely.

28. It is the bunched beam that radiates.

29. It is the geometry of the iron in the pole regions that chiefly determines the field distribution in the gap.

30. It is this slow superimposed motion which contains “all the FEL physics”.

31. It is this simple renormalizable structure of the Standard Model that has let us derive specific quantitative predictions for experimental results.

32. It is this regenerative function that allows a trigger pulse to push the flip-flop from one stable state to the other.

33. It was Rutherford who realized the need for an accelerator and who encouraged his colleagues Cockroft and Walton to build the first machine for nuclear physics research.

34. It was for this reason that Bosch developed the “Controller Area Network.”

35. It was, however, not until the end of the Second World War that the development of linear accelerators really started.

II
1. It is the subsequent deexcitation processes that lead to chemical reactions in  heterogeneous photocatalysis process.

2. The use of copper dopant, not expected to block the formation of nickel carbide, does result in a strong decrease in cooking and in the formation of “octopus” type carbon at higher dopant levels.

3. It is the growing intensity of this species that accounts for much of the increased center-of-mass of the NMR lineshape with increased alkali content.

4. Conspicuous by its absence in the spectra of all of these catalysts is a sharp peak at 124 ppm corresponding to gaseous CO2.

5. Evaluating this possibility, an XPS study on supported ruthenium catalysts showed that the Ru core-level binding energies do shift upon the addition of alkali salts, and the shifts are similar regardless of the choice of counterion.

6. These results agree well with the earlier work and so do the values reported by Kramer et al.

7. It were researchers in radiation chemistry who first started to look at the mechanism of chemical reactions involving the plasma state.

8. The enhanced oxygen ion diffusion in SCFC does provide superior cathodic performance compared to LSCF at 700ºC.

9. As predicted from model ii, the thio effect for rS does approach 1 at high pH.

10. During exposure to this cycled environment, gradual sintering does occur, but is less rapid than for treatment in a single gas at the same temperature.

11. It does seem, however, that we have reached a point where the picture of chromatin structure, at least in its more elementary aspects, has clarified to the point where a coherent presentation is possible.

12. There does seem to be general agreement concerning the timing of changes in ADP-ribozylation histones during the cell cycle.

13. Proofreading does indeed operate during DNA synthesis.

14. This may be an indication that the possible allosteric effect of pyrophosphate does only occur if the enzyme is acting in a dimer complex.

15. Although some scattering does exist, these data can be reasonably correlated by the following equation.

16. Only for zirconium did they obtain comparable distinctions.

17. It seems, therefore, that in only one of the cases tested does O-methylthreonine take part in an aminoacylation / deacylation cycle.

18. Only subsequently did the viral DNA migrate to the nucleus, where it underwent integration.

19. Also noted in both small and large intestine was the presence of high molecular weight bands.

20. Compared in Fig.9 are the maximum yields in furan and crotonaldehyde from butadiene on these samples as a function of the number of added V atoms.

21. As the surface coverage increases, so does the vapour pressure.

22. There are no reports, to my knowledge, of cytoplasmic methylation of histones. However, neither is there proof, that even type II enzymes are excluded from nuclei in vivo.

23. The sites and extent of this modification are unknown. Nor is it clear whether glycozylation of histones is a general phenomenon or merely a peculiarity of T.

24. I heard Max Delbruck lecture, but I don’t think I understand the significance of who he was, nor was I influenced by him to go into molecular biology.

25. Although the DNA structure is clearly of the B type, present resolution does not allow an exact determination of the number of residues per turn. Nor can the exact number of turns be determined, for the ends of the DNA are not distinct.

26. It is not impossible that one or more substances might have general application.

27. DNA regions with these sequence characteristics are not uncommon in the cellular genome.

28. It is not uncommon for labeling to be spread over a large number of components.

29. It seems not unreasonable that the DNA-EDTA-Fe(II) probes do not bind Watson-Crick DNA in slightly basic solutions and consequently do not produce cleavage under these conditions.

30. It is not unreasonable to assume therefore that below ~ 250K the lifting of the reconstruction results in a surface with a very high step density.

31. It is not unreasonable to take the position that chromatin structure, and indeed the eukaryotic nucleus itself, exists because of the peculiar requirements of eukaryotic DNA.

32. It is therefore not unreasonable to speculate that organisms, particularly those existing at high temperatures and low pH may have been under selective pressure to evolve mechanisms for the repair of such potentially mutagenic lesions. 

33. It is this hydration feature in particular that stabilizes B-DNA (as opposed to A-DNA) under conditions of high humidity.

34. It is to these questions that we now return.

35. While the calculation involves a number of assumptions and is acknowledged by authors to be quantitatively imprecise, it is the order of magnitude of the answer that is surprising.

36. In the view of Richmond et al., it is this distortion, rather than steric protection by histones, that may account for this pattern.

37. It is from two series of investigations that the most detailed and complete information has been gleaned.

38. It is apparent from the previous paragraph that it is the dissociated form of methane which is the most energetically favorable mode of adsorption.

39. As the Table 4-16 shows, it is precisely those variants labeled "replication-independent" that accumulates as the tissue matures.

40. It is for this reason that fined-grained Y-TZP is readily obtainable under nearly all processing conditions.

41. On the contrary, at higher ionic strength electrostatic repulsion are largely shielded, and it is the electrostatic interaction between unlike charges (DNA-histone) that is weakened.

42. It is this feature which is exploited in the second round of internally primed amplification by the selection of an empirically identified Td which only permits full denaturation of the smaller amplicon, thus effectively preventing further amplification with the external primer set.

43. It was not until the late 1930s that the application of such techniques as viscometry and the ultracentrifuge began to convince some biochemists that nucleic acids were indeed macromolecular substances.

44. Indeed, it was not until the 1960s, when chromatographic and gel electrophoretic methods became widely available, that real progress in the study of individual histones became possible.

45. However, it was not until 1969, when the new era in neuroendocrinology was started, that the authenticity of the Harris' portal-vessel chemotransmitter hypothesis gained firm experimental evidence.

46. However, the nature of this structure was unclear, and it was not until Leammli examined histone-depleted chromosomes that a more detailed picture could be presented.

47. It was not until the two separate techniques of DNA sequence determination and the chemical synthesis of short oligomers of DNA were combined that any quantitative data on the effect of base pair mismatches on duplex stability could be obtained.

48. It was not until recently that the tetranucleotide hypothesis became a straightjacket.

49. Although the presence of phosphorylated proteins in the nucleus had been recognized for many years, it was not until 1966 that two groups succeeded in demonstrating that these phosphoproteins included histones.

50. It was not until lately that an explanation for this phenomenon was offered.                        

III
1. When comparing two behaviour structures the special nature of BEH does have some effect.

2. The functional  F,  which we now introduce, do have critical extremals for certain values of 
3. If we to make this replacement, we create an algorithm in which each wave system is handled in a manner which is second-order accurate.

4. The function U, used by Ritz as an approximation for u, is not generally a solution of the differential equation, but it does satisfy the boundary conditions for all values of the arbitrary constants which it contains.

5. In our example A does indeed satisfy the theory T.

6. Unfortunately, the method does have major drawbacks of which the user must be aware.

7. It is clear that this statement does indeed express the property of well-ordering, thus we may say that well-ordering is a second-order property.

8. Although Conery’s approach does retain the original Prolog syntax and semantics, it does so at fairly considerable expense.

9. But by hypothesis, if  m  possesses that property, so does  n.

10. Even the existence of arbitrarily dense Picard sets is not unlikely.

11. Not only does algebra become almost impossible to carry through without error, but the whole object of creating a neat and efficient solution is being defeated.

12. In no way do we expect that the minimum of the functional is attained at only one element of   ,  though this happens in many cases.

13. In fact, it was the Atiyah-Singer theorem which was the chief impulse for introducing the pseudodifferential operators.

14. It was O.Martio who suggested that he should start writing this book.

15. It is precisely this latter course however, which must be recommended.

16. It is here that the analysis developed in the preceding section is used.

17. On the other hand, it is the algebraic character of the theory of distributions which makes it such a useful extension of measure theory.

18. Simple proofs of Theorem 7 were obtained by Balcazar, Book, and Schoning, and it is their technique that is described here.

19. It is within that frame that one now expresses the results of Abelian class field theory, where in addition the formulation of the main theorems now uses the cohomology of groups.

20. And it was only in 1973 that Deligne obtained a complete proof of all the conjectures.
Приложение 1

Список некоторых заимствованных выражений и сокращений,

принятых в научной литературе
	ab initio
	– с начала

	a.m. (ante meridiem)
	– до полудня

	ad hoc
	– к этому случаю, для данной цели

	a posteriori
	– на основании опыта

	a priori
	– заранее, независимо от опыта

	c., ca (circa)
	– приблизительно

	cf. (confer)
	– сравни

	e.g. (exempli gratia)
	– например

	et al. (et alii)
	– и другие

	etc. (et cetera)
	– и так далее

	f.v. (folio verso)
	– на обороте листа

	ib, ibid. (ibidem)
	– там же, в том же месте

	i.e. (id est)
	– то есть

	in situ
	– на месте

	in vitro
	– в лабораторном сосуде

	in vivo
	– в естественных условиях, в живом организме

	int. al. (inter alia)
	– между прочим

	lb. (libra)
	– фунт

	modus operandi
	– способ действия

	N.B. (nota bene)
	– примечание, отметка

	per se
	– по существу, сам по себе

	p.m. (post meridiem)
	– после полудня

	pro et con. (pro et contra)
	– за и против

	pro forma
	– формально, для вида

	q.v. (quod vide)
	– смотри (там-то)

	tabula rasa
	– букв. «чистая доска», нечто чистое, нетронутое

	terra incognita
	– незнакомая область

	u.i. (ut infra)
	– как указано ниже

	ut sup. (ut supra)
	– как указано выше

	vs. (versus)
	– против; в сравнении с

	v.v. (vice versa)
	– наоборот

	vide infra
	– см. ниже

	vide supra
	– см. выше

	viz. (videlicet)
	– а именно


Приложение 2

 Множественное число наиболее употребительных слов

латинского и греческого происхождения

	analysis
	analyses
	 – анализ

	apparatus
	1) apparatus

2) apparatuses
	 – прибор, аппаратура

	axis
	axes
	 – ось

	basis
	bases
	 – основание

	calculus
	calculi
	 – вычисление

	campus
	campi
	–  университетский городок

	catalysis
	catalyses
	–  катализ

	crisis
	crises
	– кризис

	criterion
	criteria
	–  критерий

	curriculum
	curricula
	 – учебный план, программа

	datum
	data
	 – данная величина, характеристика

	diagnosis
	diagnoses
	 – диагноз

	equilibrium
	equilibria
	 – равновесие

	focus
	foci [sai]
	 – фокус

	formula
	formulae
	 – формула

	genesis
	geneses
	 – происхождение

	helix
	helices [si:z]
	 – спираль

	hypothesis
	hypotheses
	 – гипотеза

	index
	indices [(indisi:z]
	 – индекс, указатель

	lacuna
	lacunae
	 – 1) пробел, пропуск

    2) пустота, впадина 

	locus
	loci [sai]
	 – местоположение

	matrix
	1) matrices

2) matrixes
	 – матрица

	maximum
	maxima
	 – максимум, максимальное значение

	medium
	media
	 – 1) середина

    2) среда (физ.)

	millennium
	millennia
	 – тысячелетие

	minimum
	minima
	 – минимум, минимальное значение

	nebula
	nebulae
	 – туманность (астр.)

	nova
	novae
	 – новооткрытая звезда или туманность

	nucleus
	nuclei
	 – ядро

	phenomenon
	phenomena
	 – явление

	polyhedron
	polyhedra
	 – многогранник

	prognosis
	prognoses
	 – прогноз

	radius
	radii
	 – радиус

	residuum
	residua
	 – 1) остаток (мат.)

    2) осадок (хим.)

	series
	series
	 – 1) ряд, серия

    2) прогрессия (мат.)

	species
	species
	 – вид (биол.)

	spectrum
	spectra
	 – спектр

	stimulus
	stimuli
	 – стимул

	synthesis
	syntheses
	 – синтез

	thesis
	theses
	 – 1) тезис

    2) диссертация

	vertex
	vertices
	 – вершина


Приложение 3
Некоторые слова, вызывающие затруднения при переводе
	about
	– приблизительно, около

	      to be about + inf
	– быть готовым, собираться

	actual - actually
	– фактический - фактически

	to affect
	– влиять на

	      to effect
	– осуществлять

	to arise
	– возникать

	      to rise
	– подниматься

	band
	– полоса

	      bond
	– связь

	before long
	– вскоре

	      long before
	– задолго до

	case
	– случай, обстоятельство, дело

	      this is the case
      this is not the case
	– это так

– это не так

	to confirm
	– подтверждать

	     to conform 
	– соответствовать

	considerable
	– значительный

	      considered
	– рассматриваемый

	continuous
	– непрерывный

	      continued
	– дальнейший

	data
	– данные

	      date
	– число

	different
	– различный

	     a different
	– другой, отличный от

	end
	– конец

	      to this end
	– с этой целью

	few
	– мало, почти не

	      a few
	– несколько

	      quite a few
	– довольно много

	followed by
	– с последующим, за которым следует

	     following
	– вслед за

	former
	– прежний, бывший

	     the former
	– первый (из перечисленных)

	      the former...the latter
	– первый...последний

	hard
	– твердый

	      hardly
	– едва, вряд ли, почти не

	if any

if at all
	– если вообще (имеется и т.п.)

	ingenious
	– изобретательный

	     ingenuous
	– простой

	to involve
	– включать

	     involved
	– рассматриваемый

	     to be involved
	– быть сложным

	knowledge
	– знание

	      to the best of our knowledge
	– насколько нам известно

	least
	– наименьший

	      at least
	– по крайней мере

	little
	– мало, почти не

	      a little
	– немного

	large
	– большой

	      at large
	– подробно

	matter
	– 1. вещество; 2. материя; 3. предмет

	       it is a matter of common       

       observation 
	– общеизвестно

	may
	– возможно

	       it may be well
	– было бы хорошо

	       it may well be
	– вполне возможно, что

	the most (interesting)
	– наиболее (интересный)

	     a most (interesting)
	– очень (интересный), один из наиболее (интересных)

	     at most
	– самое большое; в лучшем случае

	to note
	– отмечать

	     to notice
	– замечать

	the number
	– число

	     a number
	– ряд

	object
	– цель, предмет

	     to object
	– возражать

	only
	– только

	     the only
	– единственный

	original - originally
	– первоначальный - первоначально

	principal
	– главный

	      principle
	– принцип

	to precede
	– предшествовать

	      to proceed
	– протекать

	procedure
	– методика, метод

	progressive - progressively
	– постепенный - постепенно

	provide
	– обеспечивать

	     provided (providing)
	– при условии, что

	question
	– вопрос

	      in question
	– рассматриваемый, обсуждаемый

	rather than
	– а не; вместо того, чтобы

	refer to
	– ссылаться, относиться к

	     refer to as
	– называться

	rest
	– покой, отдых

	     the rest
	– остаток, остальное

	     for the rest
	– в  остальном, что касается остального

	to repeat
	– повторять

	     repeated - repeatedly
	– многократный - многократно

	to resume
	– возобновлять

	     resume
	– резюме; заключение

	safe
	– безопасный

	     to be on the safe side
	– на всякий случай

	say
	– говорить, сказать

	     (let us) say
	– скажем

	     it goes without saying
	– само собой разумеется

	state
	– состояние (n); устанавливать, формулировать (v)

	     state of (the) art
	– современный уровень развития науки
 (техники и т.п.)

	     as stated above
	– как сказано выше

	     unless otherwise stated
	– если не указано особо

	substitute by
	– заменить первое вторым

	      substitute for
	– заменить второе первым

	successful
	– успешный

	      successive
	– последовательный

	technique
	– методика, метод

	term
	– термин

	     in terms of
	– 1) на основе; исходя из

 2) в виде, через, в функции

	the two (three, four)
	– эти два, оба (все три, четыре)

	variable
	– переменный, переменная величина

	     varied
	– различный

	     various
	– разнообразный

	very
	– очень

	     the very
	– тот самый

	     to vary
	– изменяться, различаться

	
	

	
	


Приложение 4

Формы неправильных глаголов

	Все формы одинаковы:

	cost
	cost
	cost
	стоить

	cut
	cut
	cut
	резать, стричь

	hit
	hit
	hit
	ударять, поражать

	hurt
	hurt
	hurt
	ранить; причинять вред

	let
	let
	let
	допускать, давать возможность

	put
	put
	put
	помещать, класть

	set
	set
	set
	размещать, класть; устанавливать

	shut
	shut
	shut
	закрывать(ся); складывать

	
	
	
	

	2-ая и 3-я формы одинаковы:

	bend
	bent
	bent
	сгибаться, подчиняться

	bring
	brought
	brought
	приносить

	build
	built
	built
	строить

	burn
	burnt
	burnt
	гореть

	buy
	bought
	bought
	покупать, выкупать

	catch
	caught
	caught
	ловить

	dig
	dug
	dug
	копать, рыть

	dream
	dreamt
	dreamt
	видеть сны

	feed
	fed
	fed
	кормить; обеспечивать

	feel
	felt
	felt
	чувствовать

	find
	found
	found
	находить

	get
	got
	got
	получать

	have
	had
	had
	иметь

	hear
	heard
	heard
	слышать

	hold
	held
	held
	держать, удерживать; хранить

	keep
	kept
	kept
	держать, хранить

	lay
	laid
	laid
	класть, положить

	learn
	learnt
	learnt
	учить

	leave
	left
	left
	оставлять, покидать

	lead
	led
	led
	вести; руководить

	lend
	lent
	lent
	давать взаймы

	lose
	lost
	lost
	приспосабливаться

	make
	made
	made
	совершать, делать; заставлять

	mean
	meant
	meant
	значить, подразумевать;
иметь в виду

	meet
	met
	met
	встречать

	read
	read
	read
	читать

	say
	said
	said
	говорить, сказать

	sell
	sold
	sold
	продавать

	send
	sent
	sent
	посылать, отправлять

	shine
	shone
	shone
	светить(ся), освещать; блестеть

	shoot
	shot
	shot
	стрелять; внезапно проявиться

	sit
	sat
	sat
	сидеть; усаживать, рассаживать

	sleep
	slept
	slept
	спать

	slide
	slid
	slid
	скользить, поскользнуться

	smell
	smelt
	smelt
	чувствовать запах; пахнуть

	spend
	spent
	spent
	тратить; проводить время

	stand
	stood
	stood
	стоять, быть расположенным

	teach
	taught
	taught
	учить

	tell
	told
	told
	говорить, рассказывать

	think
	thought
	thought
	думать

	understand
	understood
	understood
	понимать

	win
	won
	won
	победить, добиться

	1-ая и 3-я формы совпадают

	become
	became
	become
	становиться

	come
	came
	come
	приходить, приезжать

	run
	ran
	run
	бежать

	1-ая и 2-ая формы совпадают

	beat
	beat
	beaten
	бить, колотить

	Все формы разные

	be
	was, were
	been
	быть, иметь место

	begin
	began
	begun
	начинаться

	bite
	bit
	bitten
	кусать(ся)

	blow
	blew
	blown
	дуть

	break
	broke
	broken
	ломать, разрушать

	choose
	chose
	chosen
	выбирать

	do
	did
	done
	делать

	draw
	drew
	drawn
	рисовать

	drink
	drank
	drunk
	пить

	drive
	drove
	driven
	везти; управлять автомобилем

	eat
	ate
	eaten
	есть; разъедать, разрушать

	fall
	fell
	fallen
	падать

	fly
	flew
	flown
	летать, разлетаться (перен.)

	forget
	forgot
	forgotten
	забывать, пренебрегать, игнорировать

	freeze
	froze
	frozen
	замерзать, застывать

	give
	gave
	given
	давать; дарить; предлагать

	go
	went
	gone
	идти, ходить

	hide
	hid
	hidden
	прятать(ся), скрывать(ся)

	know
	knew
	known
	знать

	lie
	lay
	lain
	лежать; быть расположенным, простираться

	ride
	rode
	ridden
	ехать (на транспорте, верхом)

	ring
	rang
	rung
	звенеть, звонить; слышаться

	see
	saw
	seen
	видеть, наблюдать

	shake
	shook
	shaken
	трясти(сь), качаться, колебаться

	sing
	sang
	sung
	петь

	speak
	spoke
	spoken
	говорить, выражать свою мысль

	steal
	stole
	stolen
	красть

	swim
	swam
	swum
	плавать

	take
	took
	taken
	брать, хватать, захватывать

	tear
	tore
	torn
	рвать(ся), разрывать(ся)

	throw
	threw
	thrown
	бросать, кидать

	wear
	wore
	worn
	носить

	write
	wrote
	written
	писать
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